. @ coaching center Download the App now & get: Download our app

< e,
= The Best Paid courses in affordable price with QRPs (Only courses with QRPs) .@r}ﬂﬁ"ﬂ@
=  FREE structure PYQs (All previous year papers at one place in structure way) "h !‘-‘3
~ = FREE VOCAB quizzes (Vocab BOOSTER to boost your vocab) tﬁ.:: (=LY
By Bhutesh Sir: = FREE MOCK TESTs (Free full mock tests & sectional mock tests) = Suh e S
CAT Topper (98.74%ile) . f E i -d
3 times CGL selected = FREE MONTHLY CURRENT AFFAIRS PDFs with QUIZZES (Quiz is the best format to remember any thing) Ll Dl
Plane Geometry
Exercise 1 A
1. Find x. c
C
2 4x
A 0 B
2. Find x.
C
(5x +12°)
3x°
A D B
3.Findy
C
A B

4. Find £COD

P A Q

6. AB|CD. Find x
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11. In the figure given above, AB is parallel to CD.
If .DCE = x and 2ABE =y, then what is A

£CEB equal to?

e & 71§ 3Ty & AB, CDF FATK v

IR /DCE = x 3 LABE =y & @ /CEB X

=?

a)y—x b) =2 B c
c)x+y—(§) dx+y—-m

14. Two parallel lines AB and CD are intersected by
a transversal EF at M and N respectively. The
lines MP and NP are the bisectors of interior
angles ZBMN and 2DNM on the same side of
the transversal. Then ZMPN is equal to :

AB 3X D, & WHEAIGY Y@V UF EF ATHF
yfaddt @/t MR N FE A ome

12. Three straight lines X, Y and Z are parallel and

the angles are as shown in the figure above. 3R NP Y@ FIOT BMN 3 FOT DNM HY
What is ZAFB equal to: glamfora &t & @Y For MPN FT AT
e A @ x, ¥R zEATR § ek e |

woft For e # Re aw F @R § a)60°  b)90°  c)45° d)120°
¢AFB =?

a)20°  b)15° ¢) 25° dy10°  15-Findx

16. AB || CD, Find x

A B
13. In a AABC, a line XY parallel to BC intersects AB 100°

at X and AC at Y. If BY bisects angle XYC, then
m 2CBY : m £CYB is:

vw fisr AABC #, X@T xv Y@ BC ¥ ‘ 0 °
AW § U7 I@T BY HT XYC H
gfasnfaa @t & af m £CBY : m zCvB

T3
a)5: 4 b)4:5 «¢)J1:1 d)6:5

(x +10)°
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In the figure above, AB is parallel to LM. What
is the angle a equal to:

& 1§ WS A AB, LM &F FATA §| For

a FuF AT §?
A > B

a
L < M
aJm+b+c b)2m — b+ c
cJ)2mr—b—c d2m+b—c

AB || DE.Finda+b —c.

In the adjoining figure ~BAD=a, £ABC=b and
£BCD=c and £ADC=d, find the value of ZABCin
terms of a,c and d:

& 7§ smpfa & LBAD = a, LABC = b 3R
(BCD =c3R2ADC=d® a,c3R d&F &
# LABCHT AT ddIT|

a)c—(a+d)
cJa—(c+d)

b)a—(c+d)
d) None of these

21.

22.

23.

A

B D

If in the given figure, LACB + £BAC = 80°,
.BDE = 35°, 2/BCE = 45°, then the marked
angle 2CEDis:

afe & % 3rFHfa A LACB + 2BAC = 80°,
/BDE = 35°, ~BCE = 45° a Rfgaa +or
LCED ¢

A B D

a)150°  b) 120° c) 160° d) 135°

The angles x°, a°, ¢ and (1t — b)° are indicated
in the figure given below. Which one of the
following is correct?

$T0Tx°,a°,c°3ﬁT(n—b)°Fﬁﬁ'a31é'3iﬁjﬁ
IR 2. e & @ wlaar wd 82

B C

a)x°=a’+c°—-b°
c)x°=a°+b°+c°

b)x°=b°—a®°—c°
d)x°=a°—-b°+c°

How many degrees are there in an angle which
equals one-fifth of its supplement?

ST T IS WEF PIT F A BEE F
e § at fras Bt @ &

a)15°  b)30° c)75° d) 150°
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24. An angle is 30° more than one half of its
complement. Find the angle in degrees:

T FHI0T el [XF HI0T & AT 30°F SATET

g| 98 FoT TaTHT|

a) 60° b) 50° c) 45° d) 80°
25. If two angles are complementary of each other,
then each angle is:
a) Aright angle b) A supplementary angle

c) An obtuse angle d) An acute angle
IR A FT TF gAY F [TE A § @
UA® Fior e A ¥ F1 @

a) §H HIT b) HYI&H 0T
) #f8F T d) FYA FT

26. LAOE = £BOD, Find x.

A c
P .E.-------"‘G x :
o0 H

/ 120°
T

==
o

29. AE || CD and BC || ED, thenfind y.

B C
.
Re &S
/E /D
30. Find x.
A F
62 66
76 x

31. AB || CD, find 2CDO.

A B

118° o

152°

C D
Answer Key
1.20° 2.21° [3.40° [4.90° |5.40°
6.50° | 7.68°> |8.105°(9.125° | 10.120°
11.D 12.B 13.C 14. B 15. 90°
16. 100° | 17. 105° | 18. C 19. 180° | 20. A
21.C 22.C 23.B 24. B 25.D
26.118° | 27. 155° | 28. 20° | 29. 80° | 30. 34°
31. 90°
Exercise 2

1. InAABC,BD 1 AC,E is a point on BC such that
2BEA =x°.If tZEAC =38° and ZEBD =
40°, then the value of x is :

AABC#, BD 1 AC,E, BC W & fig #
@ 2BEA=x° %13RLEAC =38° 3R

2EBD = 40°, @Y x T AT AT FL:

a) 88° b) 68° c) 78° d) 72°

2.In AABC, AB = AC and £B = 30°. Find ZA.
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et ABC & AB=AC3R sB=30°F @

A 9T Y|

a) 120 b) 60 c) 150 d) 30

3. In an isosceles triangle, if the unequal angle is
twice the sum of equal angles, then each equal
angle is
forelt woefaaTg Meger # 3R @A Hror
arhY Al WA FON F AT F AP F
WX § A I AS AT T = gem
a) 120 b) 60 c) 30 d) 45

4.In the given figure, PQ = PS = SR and
£QPS = 40°, then what is the value of
2QPR (indegrees )?

& a$ gl F Pa= PS=SRAAT 2QPS =
40°gY, dY QPR &T AT F4T &2

P
Q 3 R
a) 45 b) 60 c)75 d) 50

5. ABC is an isosceles triangle with AB = AC. The
side BA is produced to D such that AB = AD. If
2ABC = 30°, then 2BCD =?

ABC T WHefaeTg Tefer & fSr@# 4B =
ACE| gTBAF gD aF 0 YHR orT
ST & 6 AB = AD @] 39 2ABC = 30°§

a 2BCD =?
a) 30 b) 60 c) 90 d) 120
6. ABCD is square and CDE is an equilateral

triangle outside the square. What is the value
(in degrees) of ~BEC?

ABCD U& T § dUT CDE TN & ¥ET TH
W@'ﬁ{ﬁ'%l ¢BEC &1 AW (B3t &)
F1 2
a) 15 b) 30

c) 25 d) 10

7. In the following figure, ABCD is a square and
AOD is an equilateral triangle. Find angle BOC.

%7 3@ A ABCD U+ g7 ¢ 3T AOD T&
HAaTg F3er §| FIT BOCHFT AT FcTa |

B C
o
A D
a) 75° b) 120° c) 150° d) can’t say

8.In the given figure. If AD = CD = BC and
2BCE =96°,then DBC is

& o smepfa A, I AD = (D = BC IR
/BCE =96° € @ «DBC =

F
A
a) 32° b) 84°
c) 64° d) Cannot be determined

9. In the figure given below, AB is parallel to CD.
£2ABC = 65°, £CDE =15° and AB = AE.
What is the value of LAEF?

faer & o€ o A, AB, D F WA B
¢ABC = 65°, .CDE = 15° 31X AB = AE §|
¢AEF =?
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a) 30° b) 35° c) 40° d) 45°
A, B and C are three points on a circle such that
the angles subtended by the chords AB and AC
at the center are 90° and 110° respectively.
2BAC =?

freft g7 o g ABT c3w IR 2
Sflar ABT ACEERT &g T X A FHI0T

FAGR 90° 31X 110° §| 2BAC =7

a)70 b) 80 c) 90 d)100

In the given figure, P is the centre of the circle.
If QS= PR, then what is the ratio of RSP to
the 4TPR?

& 7§ angpfy A, paw &1 Fg ¥ IR Qs =
PREY, @ ZRSP &T LTPR & FT 37ITd 82

a)1:4 b) 2:5 c)1:3 d)2:7
AB is a chord of a circle with center O and DOC
is a line segment originating from point D on
the circle and intersecting AB produced at C
such that BC=0D. If 2 BCD = 20°, then

2AOD =?

¥ Rg oara wa ga #r Sfar AB® IR
POCTH @ § St i o W fua o fig
DE 3cUe el § U 7t g§ Y@ ABHI

13.

14,

15.

g ¢ Fredt ¥ 3PR 2 BCD = 20°, § @
£AOD =?
a) 60 b) 80 c)90 d) 70

In a triangle ABC, 2A is equal to 120°. There is
a point D inside the triangle such that ZDBC =
2/ABD and £DCB = 2£ACD. What is the

measure of 2BDC?
fasrsr ABCH, 24 =120° B| Boer & 3eex
F g DSH WFR ¢ fF 2DBC = 2£ABD
3R 2DcB =224cD &| «BDC 9aT F|

A

B C

a) 140° b)150° c)90° d)138°

In triangle DEF shown below, points A, B and
C are taken on DE, DF and EF respectively
suchthat EC = ACand CF = BC.AngleD =

4.0°, then what is angle ACB in degrees?

d Ru ww B DEF A, sansit
DE, DF 3R EF 9T g 4, B 3R ¢ 30 9o
T s & ™ EC = Ac3R cF = Bc#)
HIUTD = 40° §, HUT ACB IaT F|

E # C F

a)140 b)70 c)100 d)none of these
In aA ABC, point P, Q and R are taken on AB,
BC and CA, respectively, such that BQ =
PQand QC = QR.If LBAC = 75°, what s the

measure of ZPQR (in degrees) ?
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AABC % &g P,Q 3R R ®#: AB, BC 3R
CA W 59 &K fav v § &% BQ = PQ 3k
QC = QR¥| I .BAC=75°%, & ~PQR
&1 719 (B &) F=r &2

a) 40 b) 30 c) 50 d) 75

In AABC, D is a point on BC such that ZLBAD =
%LADC, ZBAC = 87° and 2C = 42°, what is
the measure of ZADB?

AABC &, D, BC W & fig & o f&

/BAD = %mpc, /BAC = 87° auT /+C =
42°, /ADB &T AT F4T §?
a)94°  b)68° c) 102° d) 78°

In a AABD, BC is a angle bisector such that
AB = BC = CD and AD = BD. Find£ADB.

AABD ¥ BC U&F FIIGQANF 6 TR §

f AB = BC = D3R AD = BD §| «ADB =
2.

a) 18° b) 72° c) 36° d) 24°
The angles of a triangle are in Arithmetic
Progression. The ratio of the least angle in
degrees to the number of radians in the
greatest angle is 60 : pi. The angles in degrees

are

frelt Beer & AT AR A 7 T 7R
o dor(f3alt #) R ged a2 FoRET
H) T AU 60:pi ¢| Al HIoT TaqT FY|

a) 40°,50°,90° b) 40°,55°,85°
c) 30°,60°,90° d) 35°,55°,90°

If a, b and c are the sides of a triangle and

a’+ b*+ ¢*= bc + ca + ab, then the
triangle is

It a, b AR cvF Pger #r gene 3R
a’*+ b*+ ¢*=bc + ca + ab, @ dE

Prorer et § 2

a) equilateral b) isosceles

20.

21.

22.

c) right angled d) obtuse angled

In the figure, a star is shown. What is the sum
of the angles A, B, C, D and E?

HfT # UF AR 8, T A,B,C,DIRE F
AT FT JNT F4T om?

A

VAN

D C
a) 120° b) 180°
c) 240° d) Can’t be determined

ABCD is a quadrilateral such that BC = BA
and CD > AD. Which one of the following is
correct?

ABCD & I 59 YHR § % BC = BA

3R cD > Ap | T # @ Frwar @@ 2

a) 2BAD = £BCD b) zBAD < £BCD
c) 2BAD > £BCD d) 224BAD = «£BCD

In right triangle ABC, £ABC =90°, AX =
AD and CY = CD, as shown in the figure
below. What is the measure of LXDY?

BT ABC _# 2ABC =90°, AX = AD 3R
cy=cp ¢ B9 wor e sl #
fe@m™T AT | 2XDY =2

A
D
X
B Y C
a) 30° b)45°  ¢)60° d)50°
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In the figure, PQR is a non-isosceles right P
angled triangle right angled at Q. If LM and QT
are parallel and QT=PT then what is ZRLM
equal to?
Jpfa #, PaR TF IR-FAAEg TAFIOT
Prsger &, 0T q@FEST §. 3R M3k ar
AR AR QT = PT & @Y 2RLM &1 A Q 3 R
CGIELS
o a)10° b) 15° c) 20° d) 18°
26. In APQR, S is a point on the side QR such that
£QPS =3 /PSR, 2QPR = 78° and 2PRS =
T
M 44°. What is the measure of 2PSQ ?
PQR #, st &g 8, ST a1 QR T 39
Q L R 2

a) 2PQT b)«ZLRM <c)«RML d)<QPT

In the triangle ABC, BC=CD and (ZABC —
£BAC) = 40°. The measure of ZABD is:

AABC & BC = CD3R (£ABC — +BAC) =
40° g @Y 2ABD =?

B
A o C
a) 30° b) 20°
c) 15° d) Can’t be determined

In the figure shown, PQR is an isosceles
triangle with PQ = PR, Sis a point on QR such
that PS = PT, Also, £QPS = 30°. Find £RST

& a§ i H PQR wF WHAGNEN
39 YR ¢ % PQ =PR 3| WNgs T QR
W 39 YR ¥fa & & PS = PT & 3R
£QPS =30° & @ £RST=?

27.

28.

v#R fura ¥ 5 2QPS = /PSR, 2QPR =

78°GPRS = 44° §| +PSQ H AT FT §?
a)68°  b)56° c) 58° d) 64°

In APQR,PQ = PR and S is a point on QR
such that ZPSQ = 96° + 2QPS and QPR =
132°. What is the measure of ZPSR?

APQRH, PQ =PR 3R S @I QR 39
vR fua & g & FPse =96+
2QPS 3R QPR =132° &| @ PSR

AT dd1sV|
a) 45° b) 56° c) 54° d) 52°
In AABC, BD 1 AC at D. E is a point on BC

such that ZzBFA = x°. If £EAC = 46° and
/EBD = 60°, then the value of x is:

AABC ®, D 9T BD 1L AC®| BCWR & fig
ESH UYhR & & «BEA = x°% A 2LEAC =
46° 3 LEBD = 60°%, @Y x &1 A AT

|
a) 72° b) 78° c) 68° d)76°
Answer Key

1. A 2.A 3.C 4. C 5.C
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6. A 7.C 8.C 9.B 10. B AQ? + AR? = 3b% + 17na?, then n is equal
11. C 12. A 13. A 14. C 15. B to:

T AP AT ABC (2ABC = 90°) & BC
N FAA: P, QAR RHA IR wAT HEY A
Rnfoa e smar 81 Iy Ap? + 4Q2% +
AR? = 3b% + 17na®> &, d n & A A

16.D 17.C 18.C 19.A | 20.B
21.C 22.B 23.B 24.B | 25.B
26.D 27.D 28.D

Exercise - 3 N
1. ABC is a triangle AB = 5¢cm, AC=vV41cm and a) %1 b)% c)% (;|)‘T3
BC = 8cm. AD is perpendicular to BC. What
is the length of AD? 5. In right angled AABC, «B = 90, if P and Q are
ABC TUH ﬁgla- 2l AB = 5cm, :::ints on the sides AB and BC respectively,
en:

AC = V41cm d491 BC = 8cm| AD, BC OX¥

TH HAFS g| AD Y oFars FaT 82
a) 12 b)6 c)4 d)5

FaaoT e AABC #, 2B =90 § 3R P 3R
QFHAR st AB A BC WX &Y g & ar:

A

2. A point D is taken from the side BC of a right-
angled triangle ABC, where AB is hypotenuse.
Then

foelt waeRIor st ABC #r ST BCW TH
fiig b forar S 81 3R A #ot B At :

a) AB%? + AC? = 2 AD? a) AQ% + CP% = 2 (AC% + PQ?)
b) CD? + BD? = 2 AD? b) AQ? + CP? = AC? + PQ?
2 2 _ 2 2

d) AB%? = AD? + BD? 1
d) AQ + CP =3 (AC + PQ)

3.InAABC, 4B = 90°. If point D and E are on side
BC such that BD = DE = EC. then which of 6. Points P and Q are on the sides AB and BC

the following is true ? respectively of a triangle ABC, right angled at B.
ABC :ﬁ', /B = 90°] Tfr ﬁ'g D3 E SFIT IfAQ = 11 cm, PC = 8cmand AC = 13 cm,
then find the length (in cm) of PQ?

BCW 8 av F¥a ¥ % BD = DE=EC, fig p3iiv a@earer: Megs AsC #r ssmAB 3k
o Ferar RweT w8 ¥ 2 BC W f*ua § Beer B W g#@=r g I
a) 5AE? = 2AC? + 3AD? N

b) BAE? = 5AC? + 3AD? AQ =11cm, PC=8cm 3R AC=13cm
c) 84E% = 3AC? + 5AD? g, ar pQ Y FFEE (cm #H) AT R

d) 54E* = 3AC* + 2AD? a)Vi5  b)4.5 c) 4 d) 4V7

4. The side BC of a right - angled triangle 7 point M and N are on the sides PQ and QR

ABC(£ABC = 90°) is divided into four equal respectively of a triangle PQR, right angled at
parts at P,Q and R respectively. If AP? +
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Q If PN=9cm, MR=7cm and MN =
3 cm, then find the length of PR (in cm).

fsger PR #T o[aT PQ AR QR I A g
M 3N R, @ur 78 Bsfer T aHEeIoT
g3 PN=9cm, MR=7cm 3R MN =

3cm & a PR T dFTE (cm &) AT |
a) 12 b) 11 c) V41 d) 13

8.In AABC, £C = 90°, Points P and Q are on the

side AC and BC, respectively, such that

2 2
AP:PC =BQ: QC=1:2Then “T— i
equal to:
ABCH, 2€ = 90°,74g P 3R Q% AC

IR BCc gamat W AN F AP PC=

AQ%+BP?

BQ:QC = 1: 274, —— &1 A F1
e
4 4 13 8

9. A ladder leans against a vertical wall. The top of

10.

the ladder is 8 m above the ground. When the
bottom of the ladder is moved 2 m farther
away from the wall, the top of the ladder rests
against the foot of the wall. What is the length
of the ladder?

T " e dieft @ AR F gEr @9
g @ &1 3T AT FTHT & 8m IW B
ST @i & Pad REY # AR ¥ 2m 3k
I s smar § & @ &1 398 [
R & Ira(fAEd ) aF srar ¥ @

$ qFEIS Id1T W

a) 10m b) 15m c) 20m d)17m
A ladder 6.5m long is standing against a wall
and the distance between the base of the
ladder and wall is 5.2m. If the top of the ladder
now slips by 1.4m, then by how much will the

foot of the ladder slip?

11.

12.

13.

TF 6.5m wFdl HF AR F weR @I §
g 3 RER & 3R & fiT 5.2 mAY
gl ¢ PR @1 71 AU 1.4 m raar

ar #1S &1 YR fGar & fhaa gy gem
a)1.2m b) 0.8m
c)0.75 d) Can’t be determined

A ladder is resting against a vertical wall and its
bottom is 2. 5 m away from the wall. If it slips
0.8 m down the wall, then its bottom will move
away from the wall by 1.4 m. What is the
length of the ladder?

tF @ wh @ @ far F wEn @
¢ 3t @ @1 Ager REwm IR F 2.5m
# gt W 7] 3R 77 W far § 0.8m
MY @ue st § O s g fea
AR & 1.4mgT & o §| Hf i dwarg

frast &2

a)6.2m b)6.5m c)6.8m d)7.5m
In a right-angled triangle, the product of two
sides is equal to half of the square of the third
side, i.e. hypotenuse. One of the acute angles

must be

el wawlor B & @ et @
UrThe Al sen(Fo) F T F T F
A §| & ARl 7 F TF Firdr gEm?

a) 60° b) 30° c) 45° d) 15°
In the quadrilateral ABCD, 4B = 90° and
AD? = AB? + BC? + CD? then find the

measure of ZACD.
TJIST ABCD H 2B = 90° 3 AD? = AB? +
BC? + CD? & a 2ACD =
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D
A
B C
a) 45° b) 60° c) 90° d) 30°

Twelve sticks, each of length 1 unit are used to
form a right-angled triangle. The area of
triangle is:

IRE B3l 9 A% &9E 1 SHS HT 3YANT
gARIT e aae & v fRar smar 2
RFIT F1 FBd F4AT &2

a) 4 sq units
c) 8 sq units

b) 6 sq units
d) 10sq units

In a quadrilateral ABCD, with unequal sides, if
the diagonals AC and BD intersect at right
angles, then

AT 31T IS TF T ABCDH 39X
Aot Ac 3T BD TF WY F WHHIT W
Fead & ar:

a) AB? + BC? = CD? + DA?
b) AB? + CD? = BC? + DA?
c) AB? + AD? = BC? + CD?

d) AB? + BC? = 2(CD? + DA?)

In ALMN, LM = 5vY2 cm, LN = 13 ¢m and
£LMN = 135°. What is the length (in cm) of
MN?

ALMN &, LM =5v2 cm, LN = 13 ¢cm 3R
£LMN =135°§| MN # &d€$ (cm ®H)
fpaet &2
a)7v2 b)8

)7 d) 8v2

In APQR, 2PQR = 135°,PQ = 8v2cm and
PR = 17cm. What is the length (in cm) of QR?

18.

19.

20.

21.

APQR ®, +PQR =135° § PQ =8V2cm
IR PR=17cmE | QR A a5 (cm ¥ )

AT L |
a)7 b) 10 c)8 d)9
The length of three sides of a right-angled

triangle are x—2cm, xcm and x+2cm
respectively. Then the value of x is

et wasIor fegsr A fiat e FAAR
x—Zcm,xcm3ﬂTx+2c‘m§?-l’fxEFrmFr

AT F
a) 10 b) 8 c)4 d)6
The lengths of the three sides of a right-angled

triangle are (x—1)cm, (x+1)cm and
(x + 3) cm, respectively. The hypotenuse of
the right-angled triangle (incm ) is :

UF FHFIT Fagar At =t st Fr warg
FAW: (x—Dcem, (x+Dem IR (x +
3)em | FAFIOT AT F For Hr FFS

(cm ®) fFHasr g

a) 6 b) 10 c)12 d) 7

ABC is a right-angled triangle such that AB =
—b, BC=a and CA=a+ b. D is a point

on BC such that BD = AB. The ratio of

BD: DC for any value of a and b is given by
ABC T& IO Feysr 56 9&R ¢ fF 4B =

a-b BC=a3R cA=a+b ¥ gD
HSTBC W 58 YR & & BD = 4B ¥ a
i b&F A A & AT BD:DC F
[T FT R
a)3:2 b) 4:3 c)5:4 d)3:1
The sides of a triangle are in ratio 3: 4: 6.
The triangle is

a) Acute angled

c) Obtuse angled

b) Right angled
d) Equilateral
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forelt Tsger & spomait At wF=TE 3:4:6 F
e[ & &) A 9 B &

a) 7ga HIT b) @ 0T

c) 3qF Hlor d) HHETE

The angles of a triangle are in the ratio 3: 4:5.
the triangle is

a) Obtuse angled triangle

b) Right angled triangle

c) Acute angled triangle

d) Isosceles angled triangle

uF RS F FON3:4:5 F IJqurd A g
a)mﬁﬁiﬁ

b) THIOT FefsT

c)ﬂ@ﬂﬂﬂﬁ'ﬁiﬁ'

d)ﬂ'{ﬁ?@aﬁwﬁaﬁ

Answer Key
1.C 2.C 3.C 4. A 5.B

6.C 7.B 8.C 9.D 10.B
11.B 12.C 13.C 14.B 15.B
16.C 17. A 18.B 19.B |20.D
21.C 22.C

Exercise 4

1. Which of the following options does NOT give

the lengths of three sides of any triangle?
Prfafla # ¥ il a1 Reew Rt P
# it sgomsit Fr war$ A qar @2

a)12, 18, 25 b) 4,7, 9

c) 18, 23, 41 c)7, 10, 12

2. Twosides of a triangle are 3 cm and 8 cm. Which

of the following cannot be the length of the
third side

Mﬁ'ﬁﬁiﬂ'agﬁlﬁchﬁT8cmgl
famt & & Fladt At ogem A aFas @
& FHd?

i)9 ii) 10

iii) 5 iv) 8 v)12
a) i) and iii) b) Only iii)

c) Only v) d) iii) and v)

3. Two sides of a triangle are 4 cm and 7 cm. If
perimeter of this triangle is denoted by p then

et ﬁ'ﬂﬁ $r ar BIGIT# 4cm 3 7em B
3R 59 3T & IRATT FY p @ FART ST
ar:

a)15<p <21 b)14 < p < 22
)14 < p < 22 d)15 < p <21

4. In isosceles triangle AFGH, FG < 3cm and
GH = 8cm. Then the correct relation is,

et Bfsr FGHH FG < 3cm 3R GH =

8 cm. A HE! e IdIT|
a)GH = FH b) GH < FH
) GF = GH d) FH > GH

5. Consider obtuse-angled triangles with sides 8
cm, 15 cmand x cm. if x is an integer then
how many such triangles exist?

F FfFRIT e B sensit A dwErg
8cm,15cm3ﬁ'{xcm %l&H’JITx Wq"\tﬂ‘ﬁ?
g @ 30 aXE & fraet Beger sa iy o wEa
&2

a)5 b) 21 c)10 d)15 e) 14

6. The sides of an obtuse angled triangleare 11,15
and P (integer). How many values of ‘P’ are
possible?

11,15 T P ([UITs W&AT) HftF For Beger

$1 oo §| P& fFawt A Haa B
a)7  b)12 c)13 d) 14
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7. x, y, z are integer that are side of an obtuse- a)5 b) 8 c)7 d)6
angled triangle. If xy = 4, find z.
x, y, z QUi 8 &It O 3rf8 ot B Answer Key
. 1.C 2.D 3.C 4. A 5.C
SFIT%I e xy = 4, z=?
a) 2 b) 3 6.C 7.B 8.D 9.C 10.D
1 d) More than one possible value 11. A
8. If a and b are the lengths of two sides of a Exercise 5

triangle such that the product ab = 24,
where a and b are integers, the how many such
triangles are possible?

afe et egsr & ar a3t #r warg a
3R b 39 YFR § & IUESA ab = 2478,
S8l a 3 b qUITE g, ar & wenfaa Prepait
Y FE&IT AT T
a) 15 b) 12

c)18 d) 16

9. How many isosceles triangles with integer sides

10.

11.

are possible such that sum of two of the sideis
12?

qUih semst & @Y R FHAEfAeE
Bt werg § et a sgenat w1 AT 12
&
a)11 b) 16

c)17 d) 18

How many isosceles triangles with integer
sides are possible such that the sum of two of
the sides is 16 cm?

feger wog & e @ gomat &1 A
16 cm gr?

a) 18 b) 15 c)9 d) 24

The perimeter of a triangle with sides of
integer values is equal to 13. How many such
triangles are possible?

qUITE ATl a3t arer fsger 1 aRemy
13 & sUeR | W Faa Prefer aerenr wera
82

1. InA ABC and ADEF, AB=DE and BC = EF, then

one can say that AABC is congruent to ADEF
if

33T A ABC IR ADEF & 3PR AB = DE 3R
BC=EF & dY AABC, ADEF & WadT=aqH g

I
a) LBAC = LEDF
c) 2ACB = 4DEF

b) ZACB = LEDF
d) 2ZABC = +DEF

2. Two line segments, PQ and RS intersect at X in

such a way that XP = XR. If £PSX = £RQX,
then one must have

ar Y@ pq 3R Rs At g X W 39 vFR
fodg #IdAT & fF XP=XR ¥| 3R 2PSX =

LRQX § aY :
a) PR =QS
b) PS = RQ

) 2XSQ = «XRP
d) ar(4PXR) = ar(4QXS)

3. In the figure given below, M is the mid-point of

AB and £DAB = £CBA and LAMC = £BMD.
Then the triangle ADM is congruent to the
triangle BCM by

fe & o€ amefa A, M A #T Few
g & 3R2DaB=scBA IR zamc=
¢BMD ¥| @ st ADM 3R fsper BCM
Rew Brer & sicate adrE ghn
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Bl HN
o B 5
A

C D

A M B
a) SAS rule b) SSS rule
c) ASA rule d) AAA rule

4. ABCD is a square. A is joined to a point P on BC

and D is joined to a point Q on AB. If AP =
D@ and AP intersects DQ at R, then 2DRP is:

ABCD T#F &9 §| A ,BCT T faeg

PH 31 g3T ¢ 3N D,AB W famg @ &
ST gam ¥, ik Ap 3k pQ RW wfdw
AT & 3 AP =DQ & @ «DRP =?

a) 60° b) 120°
c)90° d) Can’t be determined

5. Let D and E be two points on the side BC of

AABC such that AD = AE and 4BAD =
2EAC. If AB = 3x+1)cm, BD =
9cm, AC=34cm and EC=(y+1)cm,
then the value of (x + y) is:

AT T AABCH Hem BC W g b 3k
E 8H YHR § & AD = AE 3R .BAD =
LEAC & I AB=3x+1)cm, BD =
9cm, AC =34 cm 3R EC= (y+1) cm¥,

al (x+y) &1 AW AT HifST|
a)19 b) 16 c)20 d) 17

6. In a triangle ABC, D and E are points on BC

such that AD = AE and 24BAD = 2CAE. If
AB = (2p +3), BD = 2p, AC = (3q — 1)
and CE = q, then find the value of (p + q).

& 3 ABC # D 3R E, B¢ W W &g

t & AD = AE 3R 2BAD = +cAE | afe
AB = (2p+3), BD =2p, AC = (3¢ — 1)

I CE=q & A (p+q) F A A
FAT|
a) 3 b) 4.5 ¢)3.6 d) 2

7. In the adjoining figure D is the midpoint of BC of

a AABC. DM and DN are the perpendiculars on
AB and AC respectively and DM = DN, then the
AABC is:

a) Right angled
c) Equilateral

D frser AABC #Y 3o BCHT Aew R
DM 31X DN Fa7er: ofamait AB 3T AC 9T o
£ 3T DM = DN & aY AABC glm:

a) FHHIOT b) FHEISLST

c) FHSA d) farweregsht

b) Isosceles
d) Scalene

8. Given below are some of the measures of the

sides and angles of five triangles. Which of the
triangles given in the options is NOT congruent
to AABC?

aier Prgeft o1 st 3 o Y g AT
S & a8 B R 7w Reewt & @ w7 @
fa8 AABC & wawTHA FE 82

In AABC, m(A4B)=3.6cm, m(BC) =

5cm, m(CA) = 4cm, m(«B) =
52.4°, m(2C) = 45.5°

In ADEF,m(DE) = 4cm, m(EF) =
5cm, m(FD) = 3.6cm

In AGHI,m(HI) = 5cm, m(zH) =
52.4°,m(«I) = 45.5°

In AJKL,m(JK) = 3.6cm,m(L]) =

4cm,m(s]) = 52.4°
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In AMNO,m(MN) = 3.6cm, m(NO) = 3, EC = 7a| ‘a’ %1 #AIA &4T gWM, I a >
5cm,m(4N) = 52.4 0?
a) ADEF b) AMNO a)3 b) 5 )6 d) 4
c) AGHI d) AJKL
4. In AABC, D and E are the points on AB and AC
Answer Key respectively such that AD X AC = AB X AE.
1.D 2.B 3. |4A |5A If LADE = £ACB +30°and <ABC = 78°,
6. A 7.B 8.D then £A=?
ABCH AB3IR ACH oAU &g D3k €
Exercise - 6 50 YR Bua & fF AD x AC = AB x AE
1. Inside AABC, a straight line parallel to BC %I I LADE = £ACB +30°3iR 2ABC =
intersect AB and AC at points P and Q
respectively. If AB = 3PB, then PQ : BCis: 78°%, A A= 2
a) 56° b) 54° c) 68° d) 48°

AABC #,BC & WHTedX U J@T 3T AB
HRACH FAW: RegaiPaqQ W HFEA 8l 5 1y A4BC, A line PQ Il AC meets AB, BC at P, Q

39X AB =3PB# @ PQ: BC =? respectively, then AB x CQ =?
a)2:3  b)1:3 c)3:2 d) 1: 2 39T AABC #UF Y@ PQ || AC {131 AB,
BC : HAY fegaipr,q W e ¥ at
2. In the given figure, AQ= 4v2 cm, QC= 6+/2 AB X CQ =?
cmand AB = 20cm. If PQis parallel to BC, a) AP X BC b) BC x AB
then what is the vlaue (in cm) of PB? c)CQ X AB d) RQ X BA

?ﬂ'ﬂé’mﬁ'AQ= 4+/2 em,QC= 6V2 cm
duT AB = 20cm §| IS PQ, BCF AR
g, a PB &1 AT (cm &) FT &2

6. In the given figure, two squares of sides 8 cm

and 20 cm are given. What is the area (in
cm?) of the shaded part?

A .
aﬁﬂ'@ﬁl‘ &, 8cm dAUT 20cm333|Ta1ﬁaT
g Ru v F) sifea smar &1 &%
P Q .

(cm? ®) a1 82

B C

a)8 b) 12 c)6 d) 15

3.In a triangle ABC, DE is parallel to

BC,AD = a, DB = a+ 4, AE =2a+ )g b)ﬂ )@ d)@
3, EC = 7a. What is the value of ‘@’, if a >
0?

: , . 7. In the figure given below, ABC is an equilateral
S ABC # DE, BCH %’ ! triangle with each side of length 30 cm. XY is

AD = a DB = a+4, AE =2a+ parallel to BC, XP is parallel to AC and YQ is
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parallel to AB. If XY + XP + YQ is 40cm, then
the value of PQ is:

faer & a§ ampfa # ABC vw wasSh
faeer ¢ o 9% o 30cm w2
XY [T BC & WA 8, XP 8T AC &
AT §,YQ ST AB¥F WA §| 3R
XY +XP+YQ & AT 40cm & a PQ &I

AT FIT gIM?
A
VANEIAN
B P Q C
a)5cm b)12Zcm c)15cm d)10cm

8. In a triangle ABC, a point D lies on AB and points
E and F lie on BC such that DF is parallel to AC
and DE is parallel to AF. If BE = 4 cm, EF =
6 cm, then find the length (in cm) of BC.

frarsr ABc #, g D, AB WX @uT fag E3iiX
F3H YR BCW Rua & & DF, AC &
AR § 3R DE, AF & gHEER ¥ I
BE=4cm 3 EF=6cm & & BC &

dAFEE (cm ) AT Y|

a) 30 b) 20 c) 25 d) 15

9. In a triangle ABC, point D lies on AB, and points
E and F lie on BC such that DF is parallel to AC
and DE is parallel to AF. If BE =4 cm, CF =
3 cm, then find the length (in cm) of EF.

st ABC #,fg D, AB X Rua & aun E
3k F, BC W 3@ yHR Rua § @& DF, AC
& AR § 3R DE, AF & WA §|
I BE=4cm 3IRCF=3cm &, a EF A

TqFAS (em ®) AT FY

a)5 b) 3 c)2 d) 1.5

10. In AABC, DE || AB, Where D and E are points
on sides AC and BC, respectively. F is a point
between C and D such that EF || BD. If AD =
15 cm, DC = 10 cm, then the length of CF is:

AABC #, DE | AB &, 58l D 3R E &HT:
gom AC 3 Bc o Ry fig &) c3ikp &
dror fReg F 3w ywR ¢ & EF 11 BD 3| 3fX
AD =15 cm, DC = 10 cm &, CF F da18
AT H|

a)3cm b)7.5cm c)5cm d)4cm

11. In AABC,; D and E are the points on sides AC
and BC respectively such that DE || AB. Fis a
point on CE such that DF | AE. |f
CE = 6cmand CF = 2.5cm, then BC is
equal to:

ABC & fig D 3R EFHA: ACIHR BCT
39 yoR fPua & & pelas & | g F CE
W sH UYFR Rua & & DF I AER | 3R
CE = 6cm d9T CF = 2.5cmg, df BC#Y

AFATS AT FA?

a)14.4cm b)15.6cm c)14cm d)12cm

12. In AABC, X is a point on BC. From point X, two
parallel lines respectively XM and XN are
drawn parallel to AB and AC, respectively that
joins AC at M and AB at N. If on extension of
MN and CB they meet at point T, then relation
between TX,TB,TC.

UF T38[ST ABC #T 8T BC T U fawg X
fBua 8] X & XM dUT XN HHMA: ABT AC
F AT W@ @R 7 & ST AC F ™
aar AB F N W A & I MmN+ 3mar
9 W IE TG g6 CB FN T W A ar 1X

dYuT TB 9 TC & &AT Y g
a)TB> =TX TC b)2TX =TB - TC
¢)TX?=TB-TC d)TC>?=TX-TB
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Triangle ABC is similar to triangle PQR and
AB:PQ = 2:3. AD is the median to the side

BC in triangle ABC and PS is the median to the
side QR in triangle PQR. What is the value of

BD\?
(@) 7
fasger ABC, f3[ar PQR & WHET ¥ au
AB:PQ = 2:3%| AD, RX¥sT ABCH 31T BC
W T ACIHT 8, TUT Ps, e[S POR A s7aTT

QR T TF ATCTHT & (‘Z—‘S’)Za»'r AT F4T &2

4

a)g b)3 c)§ d)§

If AABC is similar to ADEF such that BC =
3cm, EF=4cmand area of AABC =
54 ¢cm?, then the area of ADEF is

AABC TX¥sT ADEF % ®HET § TUTBC =
3cm, EF=4cm3R  AABCH &%=

54 cm?& @ ADEF &1 &% AT HY|

a) 72 cm? b) 64 cm? c) 96 cm? d) 16 cm?

In AABC, AB = AC and AL is perpendicular to
BC at L. In ADEF, DE = DF and DM is
perpendicular to EF at M. If
(area of AABC) : (area of ADEF) = 9:25,

DM+AL
then
DM—AL

AABC ®, AB = AC3IX AL BC& ﬁg L9
&F § | ADEF #DE=DF 3R DM, EF & fdg

M T o g | If
(area of AABC):(area of ADEF) =9:25

is equal to:

g o AW A |
a) 6 b) 4 c)3 d) CND

ABCD is a trapezium whose parallel sides AD
and BC are in the ratio of 3:2. AB and DC are
extended to meet at O. if the area of ABCD be
90 cm?, then the area of AOBC is-

ABCD T& HHeFd TS &t Sadhr a_ﬁw
AD 3R BCHT U 3:2 §| AB 3R cO#

17.

18.

19.

g od® 3mer FgrT ST ¥ 3R ABCD #T
TG 90 cm? § A R[S 0BC FT TG

qdT |
a) 40 cm? b) 72 cm? c) 60 cm? d) 90 cm?

In AABC, F and E are the point on sides AB and
AC, respectively such that FE||
BC and FE divides the triangle in two part
s of equal area. If AD L BC and AD interests
FE at G, then GD: AG =?

AABC & AB 3R AC¥=3t W Hawr: g F
3R E3H UHR T # FEI BC TUT FE BT
H FART 8F%e are &1 #HEN A fasnfoa
I 8] af& Ap L BC 3R Ap, g 6, WX FE
N Fedl § a GD:AG =?

a)v2:1 b) (V2 -1):1
o (V2+1):1 d)2v2:1
PQR is a triangle. S and T are the midpoints of

the sides PQ and PR respectively. Which of the
following is TRUE?
a) Triangle PST is similar to triangle PQR.

b) ST= %(QR)
c) ST is parallel to QR
d) All

PQR T fA8IST §| ST THHU 3N PQ
aur pPRE #ey g 3| Awfaf@a & & ol
a1 qT &?

a) BTt PST RSe POR & FHFT ¥

b) ST = - (QR)

¢)ST ,QR & FATER ¥

d) wafY

D is any point on side AC of AABC. If
P, Q, X, Yare the mid points of
AB, BC, AD and DC respectively, then the
ratio of PX and QY is:
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AABC #Y a1 ACWR W& fdg DE| 3°R b) FHeTE &Y
g P, Q, X, Y warer sganat AB, BC, AD 3R c) HPIT &Y
DC % #ey fag & ar px 3R Qv & Jequra d) =g Fr off @t
qdT |
a)1:2 b)1:1 2:1 d)2:3 23. PQRA is a rectangle, AP = 22 cm,
PQ = 8cm. AABCis a triangle whose

In a parallelogram ABCD, the mid-point of AB
is H. The line parallel to DH and passing through
B meets extended AD at K. if BC = 6 cm, then
DK is

frdlt gaATar g ABCD # S[SIT AB FT
#eq g HE| & 3@ S DH & AR ¥

3R g B A T Torcl §, 9 §E 9 AD

#r g KX et 8] 3PR BC = 6ecmE @
DK & SIFaT1S$ IdT |
a)10cm b)4 cm c)8cm d)6cm

In a parallelogram ABCD, P is mid-point of side
AB. From B a line parallel to PD is drawn which
cut DC at Q and meet extended line of AD at R
then BR =7

UF AT TS ABCD HT [T AB HI
#aeafdeg P ¥ B ¥ PD & WHIGR T @I
Y STy @ ST DCHT Q 9T TAUT AD Y
e W R W Aedt &, aF BR =2
a) BQ b)%BQ ¢) 2BQ -d) None

. The four triangle formed by joining the pairs of

mid points of the sides of a given triangle are
congruent if the given triangle is:

a) An isosceles triangle

b) An equilateral triangle

c) A right angled triangle

d) Of any shape

frelt Beer 1 ot & wew Ng FAam
¥ S TR e Soct § F wEew g @
IR Tl Befer -

a) FHGfaaTg &

24.

vertices lie on the different sides of PQRA such
that BQ =2 cm and QC = 16 cm. Then the
length of the line joining the mid points of the
sides AB and BC is
PQRA U&h A4 & AP = 22®. &,
= 9. #l. ¥ 1AABCTF Pofer & o
ofif PorRA #T Rafee=T sromat ww 3w @ @
e & ™ Bo =29 #Ar 3R
QC = 169. #. ¥ 1A8 3R BC o3 Hr
#ey g3t o Bea arell Yar fr dwarg
graiY
a) 4+/2 cm b)5cm

c)6cm d)10cm

In  AABC,2A =135°CA =5V2cm and
AB = 7 cm. E and F are and midpoints of sides
AC and AB, respectively. The length of EF (in
cm) is:

AABCH 24 =135°,CA = 5vV2cm 3R AB =
7cm 8| EIR F, %A a1 ACHRABF
HEY ﬁ§ el EF Y JEE (cm ®) (AT |

a)6.5 b) 5.5 c)6 d)5
Answer Key
1.A 2.B 3.A 4.B 5.A
6.B 7.D 8.C 9.C 10.D
11. A 12.C 13.B |14.C |15.D
16. B 17.B 18.D |19.B |20.D
21.C 22.D 23.B | 24.A
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Exercise - 7 a)10.5cm b)9.6cm c)12cm d)9cm

1.In the given figure, If AD =12cm, AE =

8cmand EC = 14cm, then whatis thevalue 4. InAPQR,PQ=24cmand £Q = 58°.Sand T are
in (in cm) of BD? the points on side PQ and PR respectively, such

& ¢ wfa &, A 4D =12em, AE= that <STR =122°. If PS= 14 cmand

. PT = 12 cm, then the length of RT is :
8cmddUT EC = 14cm €, dY BDFHT AT (cm¥) APQR®, PQ = 24cm 3T 2Q = 58°] 3R T

? .
T 37 FaAW: 751 PQ IR PRI Ry W g ?
& sSTR=122°| I PS= 14 cm IR

PT = 12 cm, @Y RT & <15 AT S|
a)14.8cm b)16cm c)15cm d)16.4cm

5.In AABC, D and E are the points on sides AC and
AB respectively such that ZADE = «B. If
AE =8cm, CD = 3cm, DE = 6cm and BC =

50 8 44
a) - b) 15 )3 d) < 9cm, then AD is equals to:
AABC #,D 3R EFHU: 3 AC 3R AB W
. . QR _ 14 _ .
2. In the given figure, 'fﬁ =3 and PY = 18cm, ﬁ% & forgd Y LADE =Bl I AE=38
then what is the value (in cm) of PQ? o CD — 3 DE = 6 W3 3 BC=9

& wE e H AR K-k py-

18cm &, dY PQ T AT (cm ) FAT &2 @3t § a1 AD FT A AT

a)8cm b)6cm ¢)9cm d)7.5cm

6. In AABC, D and E are the points on sides AC and
AB respectively such that ZADE = /B. |If
AD =7.6cm, AE =7.2cm, BE =4.2cm
and BC = 8.4 cm then DE is equal to:

AABC#, p 3R EwH: AC 3IRABWR g
t 99d® ZADE = 4B ,I® AD = 7.6 QHY,

a) 28 b) 18 c) 21 d) 24

AE = 7.2 9#Y,
3.InAPQR, 2Q = 85°nd 2R = 65°. Points S and BE = 4238, BC = 8.43%H, @ DE &I
T the sides PQ and PR tively such !
are on e sidaes Q an respectively suc AT m a”_l-:

that £STR = 95° and the ratio of QR and ST

is 9:5. If PQ = 21.6 cm, then the length of a) 6.3cm b) 5.6cm ¢} 7.4cm d) 5.6cm

PT is:

et F . 7. In AABC, D and E are the points on the sides AB
e PQR A <Q =85 AR R = 65 and AC, respectively such that

g1 g s 3t TFEe: P AR PRUT Rua & £AED = AABC, if AE = 6cm,

BD = 2cm, DE = 3 cmand

8T 2STR = 95°, d4T QR 31X ST &7 39 d
N BC = 5cm, (AB + AC)is equal to:

9:5 8 IfC PQ = 21.6 cm, Y PTH aFaTS
AT FR?
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AABC #, 31X Ewerer: [ AB 3K ACTR w@
fig 8 ™ <4ED = prdBCc B I
AE = 6cm, BD = 2cm, DE = 3cm 3R

BC = 5cm, & @ (AB + AC) cm &
T g
86 49 50 70

8.In the given figure, two identical circles of
radius 4cm touch each other, A and B are the
centres of the two circles, if RQ is a tangent to
the circle, then. What is the length (in cm) of
RQ?
ar 1§ Il &, Y W ga e s
4 cm¥, F gEY F WO W ¥ =t
gal & g A 99T B §. X RQIT W TH
AIRET 7, dY RQ T dFETE (cm ®) FAT 82

a) 3V3

b) 2v/6

OWZ o

9. If S is a point on side QR of a triangle PQR such
that QS = 10cm, QR = 18cm and 2PSR =
2QPR, then the length of PR will be:

afe fsger PaR @ 9T QR W g s 3w
ek aa & fFQs=10cm, QR =
18cm3iX 2PSR = QPR &, dY PR &Y aFaTE
AT
a)lé6ecm b)12cm ¢)15cm d)14cm
10. Consider the triangle ABC shown in the
following figure where BC = 12cm, DB =
9cm,CD = 6cmand 2BCD = 2BAC. What
is the ratio of the perimeter of the triangle ADC

to that of the triangle BDC?

fawer R arw By ABCH BC=12cm, DB =
9 cm, CD = 6cm 3 «BCD = +BAC ®|
faerer Apc 3R fger Boc & aR@mat @
He[aTd F4T g

A
D
2 6
B 12 C
a): b)5 o5 d)3

11. In AABC, AC = 8.4cm and BC = 14cm. P is
a point on AB such that CP = 11.2cmand
£ACP = £B. What is the length (in cm) of BP?

AABC ® AC = 8.4cm 3R BC= 14cm@
| P, ABR ts ¥wr fag § w9
CP=11.2cm 3R 2AcP=+«B @ar ¢ |

BP &Y JF€1S$ F4T gai?

a)3.78 b)4.12 c)3.6 d)2.8

12. In the below figure, AB = 18 cm, BE =
6cmand CD =11cm. if LAED = £ACB,
then find the length of side AD( in cm).

farr. apfa #, AB=18cm BE=
6cm3T €D =11cm@| 3R LAED =
£ACB & @Y AD(cm #®) &Y a1 9dT F|

a) 27

b) 16

d) 18
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In a triangle ABC, AD is perpendicular to BC and
BE is perpendicular to AC. Which one of the
following is correct?

f3rer ABCH AD@F ¥ BCW, 31 BEW ¥
AC | fArafaf@d & & #laar s wd 2

a)CEXCB=CAX CD b)CE x CA=CD X CB
c) AD X BD = AE X BE d) AB X AC = AD X BE

InAABC,AB = AC and D is a point on side AC
such that BD = BC. If AB=12.5¢cm and
BC = 5cm, then what is the measure of DC?

AABC &, AB = AC 3R D, 85T ACTR TH
fig ¢ oW & Bp=BC 13k AB=
12.58# 3k BC = 5 a#, ar pCc#F AT
AT HfSA?
a)2.5cm

b)3cm ¢)1.8cm d)2cm

BC

DE

AC

AB
In AABC and ADEF, we have br = o

then which of the following is true?

: AB _BC _AC
AABC 3R ADEF %, ﬁ_ﬁ_ﬁ%ﬂ =T
# A &l ar a7 &2

a) ADEF~AABC
c) ACAB~ADEF

b) ABCA~ADEF
d) ADEF~ABAC

In AABC, AB = 20cm, BC = 7cm and CA =
15cm. Side BC is produced to D such that
ADAB~ADCA. DC is equal to:

AABC®, AB =20 cm, BC = 7cm3ilv cA =
15cm @ 8 BCH g DA 3@ a@
dor T ST & % ADAB~ADCA®| DC 1
CILECCIEY

a)9cm b)8cm «¢)10cm d)7 cm

In equilateral AABC. D and E are points on the
sides AB and AC, respectively, such that AD =

CE. BE and CD intersect at F. The measure (in
degrees) of LCFB is:

HHATE AABC #, g b3k EwAw: AB 3R
AC W 39 yoR ua ¢ g & @ 4D =

18.

19.

20.

CE®| BE 3R cD g F R wfa=dfea #eht

&1 2CFB 1 A9 (37 #) Ia8T|
a)120° b)135° ¢)125° d)105°

O is a point in the interior of AABC such that
OA=12cm, 0OC=9cm, LAOB =

£2BOC = £C0OA and £ABC = 60°. What is the
length (in cm) of OB?

0 v g § I AABC & 3R 390 9K §
& 0A=12cm, OC=9cm, LAOB =
ZBOC = 2C0A 3 LABC = 60° &§| OB #
d9E (cm#) fhasr &2

a)6v2  b)a/6 c) 6v3 d) 43

In AABC, AD 1 BC and BE 1 AC, AD and BE
intersect each other at F. If BF = AC, then the
measure of ZABC lIs:

fssr. AABC i, AD L B3R BE L ACR,
AD 3R BE ts-g@X # fig Fw wfaeofa
#a &1 e BF = Ac®, Y 2ABC®1 A9
F1 &2

a) 45° b) 60° c) 70° d) 50°
ABC is an equilateral triangle and X, Y and Z are
the points on BC, CA and AB respectively such
that BX = CY = AZ. Which of the following is/are
correct?

1) XYZ is an equilateral triangle

2) Triangle XYZ is similar to triangle ABC.
ABCTF Faefah faerer 7 3 faeg x, vk
Z 813t BC, CA 3R AB W 50 R & & BX
=CY=AZ | AT & @ *laar ¥ &2

1) XYZ T TSN e

2) fsger xvz Bsfer ABCF WA B

b) 2 only
d) Neither 1 nor 2

a) 1 only
c) Both1and 2

Answer Key
1.C 2.A

3.C 4.B 5.C
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Exercise — 8

1. ABC is a triangle in which LABC = 90°. BD is

perpendicular to AC. Which of the following is
TRUE?

a) Triangle BAD is similar to triangle CBD.

b) Triangle BAD is similar to triangle CAB.

c) Triangle CBD is similar to triangle CAB.

d) All

ABCTF f3rsr & frwar 2ABC = 90° 8] BD,
ACT o+ g| Ae=faf@a & @ =l a1 a7
&

a) Y[ BAD R3[T CBD & WHET ¥

b) f¥s7eT BAD fs[er cAB F AT B

c) e[ cBD 3T CAB F HATY B

d) @i

2.Ina AABC, AD is perpendicular to BC from A. If

£BAC = 90°, then AB?: AC? is equal to:
AABC & A® AD, BCW wFaad 813
ZBAC = 90°, @ AB?%: AC®> &1 HI &7 ¢

a) BD?: CD? b) CD: BD
c) CD?: BD? d) BD: CD

3.In AABC, C = 90° and CD is perpendicular to

AB atD.If AD/BD = +/K then AC/BC =?
AABC#, £€=90°3R ¢p,f4g DI AB %
aFgad &1 I AD/BD = JVk @ AC/
BC =7

a) k b) Vk d) Vk

1
C)\/—E

4. In AABC AD is drawn perpendicular from 4 on

BC.f AD? = BD. CD, then 2BAC is

BT AABC A, ADT4g A & 8T BC ®

94T &9 §| 3R AD: =BD.CD & a
LBAC =?
a)60°  b)90° c) 30° d) 45°

5.In a right angled triangle ABC, CD is the

perpendicular on the hypotenuse AB. Which of
the following is correct?

TF AP BT ABC # CD F9 AB W
aFer g T & @ 7 wew @2

a) CD = ACXBC b) AD = ACxXAC
AB AB
¢)BD = BZXBBC d) All of the above

6. a and b are two sides adjacent to the right angle

of a right-angled triangle and p is the
perpendicular drawn to the hypotenuse from
the opposite vertex. Then p? is equal to

FAFIOT BT H GHPIOT G oA arelt @
o3t v o ars a IR b T 3w fAg § Fof
W Tl dI dFq Y dFEE p & p? IaT
S|

1 1
a)a2+b2 b)ﬁ-'_ﬁ
a?b?
P d)a*—b*

7. ABC is a triangle right angled at C with

BC = aand AC = b. If p is the length of the
perpendicular from C on AB, then which one
of the following is correct?

ABC 8eg ¢ T & wador fBee § o
BC = a ARAC = b?| 3R Reg c & span
AB WX @ T &« & o9 p § @ fe
# A Flaar g 2

a) a’b* = p* (a® + b

b) a2b2 — pZ (bZ _ aZ)

c) 2a’b®* = p* (a* + b?)

d) a’b?® = 2p? (a® + b?)

8.In a AABC, «BAC =90°, AD is drawn

perpendicular from A on BC. Which among the
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following is the mean proportional between
BD and BC?

AABC®, £BAC=90°,BCT A® &d AD
@har Srar @1 BD® BC F T Feareurd

fAmfaf@a & @ &l @ ghm

a)AD b) AB c)CD d) AC

9.In AABC,BAC =90°and AD 1 BC.If AD =

10.

11.

12.

6 cm and BD = 4 cm, then the length of BC is
frsr  24BCc #  BAC=90° 3R
AD 1 BC%| 39X AD =6cm 31X BD =

4cmE @ BC=?

a)8 b) 10 c)9 d)13

In right angled AABC,2ABC = 90°, BN 1 AC,
AB =6cm,AC =10 cm.Then AN:NC is

FAFIT AT AABC H 2£ABC = 90° § 3R
BN 1L AC, AB=6 cm, AC=10cm#@|

AN: NC 9T HY|

a)3:4 b) 9:16 c)3:16 d)1:4

Suppose AABC be right angled triangle where
2A =90° and AD 1 BC. If area of AABC =
40 cm?, area of AACD = 10 cm? and AC = 9
cm, then length of BC is

fisger AABC vw wwdor B @ oea
2A=90° 3T AD 1L BC &| 3R AABC#I
&hd= 40 cm? § 3R AACD F1 8% d=
10cm?3IRAC=9cm & A BC i aw=1s
AT Y|
a)12 b) 18 c)4 d)6

AB is a diameter of a circle with centre 0. CB
is a tangent to the circle at B. AC intersect the
circle at G. If the radius of the circle is 6cm and

AG = 8cm, then the length of BC is:
ABU&F ga #1 =49 ¢ fowa# &g 071 CB
qd & g B W vs FoeRaEr ¥ AC, qH A

13.

14.

15.

G W Freat g1 AfE g9 @ B 6 d 3k

= 8 QAT §, a BCH a=1$ §:
a) 2/5cm b) 6vV/6cm
c) 2V6cm d) 6v/5cm

ABC is a right angled triangle with base BC
and height AB. The hypotenuse AC is four
times the length of the perpendicular drawn to
it from the opposite vertex. What is tanC
equal to (if BC > AB)?

ABC T FHFIT BT & forwaT 3maw BC
g FAI€ AB | F9T AC ) d€$ F9T W
A e o & B g Y@ @ 4 gen
g| tanC T AT FAT § (3R BC > AB)?

a)2 — V3 b)vV3 -1
)2 ++3 d)v3+1
In the figure BC || AD. Find the value of x.

3mHfa A BC || AD §| x T A qaT F|

A D
& 0
B
a)9, 10 b)7, 8
c) 10, 12 d)8, 9

ABCD is atrapeziuminwhich AB || DC and its
diagonals interest at P, If AP = (3x — 1) cm,
=((5x—-3)cm, BP = (2x+1)cm
and PD = (6x — 5) cm, then the length of DB

is:
ABCD TS WFaH § 9@ AB | DC 3R

39F fqeot p ww Aedt & Iy ap =
(3x—1)cm, PC = (5x—3) cm,

= 2x+1)cm Tl = (6x —
5) cm g dt DB Hr S &
a)12 cm b)10cm c¢)14cm d)16cm
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ABCD is atrapezium in which AB is parallel to
CD and AB = 4CD. The diagonals of the
trapezium intersects at 0. What is the ratio of
area of triangle DCO to the area of the triangle
ABO?

ABCD TS Ao+ § @A AB,CD&
AR § TUT AB =4CD §| GHAF &
=t 0 W wfaede Fxa 8| Beger pco &
A% FT BT ABO F &FFd W F;T
IaTe &2

a)1:4 b)1:2  ¢)1:8 d)1:16

D and E are points on the sides AB and AC
respectively of AABC such that DE is parallel
to BC and AD: DB = 4:5, CD and BE
intersect each other at F. Then the ratio of the
areas of ADEF and ACBF

AABC®Y a3t AB IR ACT D 3R E
faeg 59 9FR & = ¢ § F DE, BCH
AR & 3T AD: DB = 4:5% 1CD 3R
BE, FRv=g W U g@l & #Fed @
ADEF X ACBF& &F%dl F HeJurd

9dTST |
a)16: 25 b)16: 81 ¢)81: 16 d)4: 9

In the adjoining figure (not drawn to scale) AB,
EF and CD are parallel lines. Given that EG =
5cm, GC = 10cm and DC = 18cm. Calculate
AC,ifAB =15 cm:

& =it amHfa # AB, EF AR D AR
23X EG = 5cm, 6C = 10cm 3R DC =
18cmal AC & dF<a1$ a3t AT AB =

15 cm:

B F C

a)21cm b)25cm ¢)18cm d)28cm

19.

20.

21.

In the given figure, ABCD is a rectangle and P
is a point on DC such that BC = 24 cm, DP =
10cm, and CD = 15cm. If AP produced
intersects BC Produced at Q. Find the length of
AQ.

& 1§ ampfa #, ABCD vw 34w § 3R P
D W & fig 3@ wrR ¢ @&
= 24 ¥, DP = 108# 3k
= 153 & Ife AP+ = Iar @
St BcH g @ wfaedfla wwar 8, ar 40
#r FqFag AT AT |

T~

B C Q
a)35cm b)24cm ¢)39cm d)26cm
PQRS is a parallelogram and its area is

300cm?. Side PQ is extendedto x such that
PQ = QX. QR at Y, then
what is the area (in cm?) of triangle SYR?

PQRS U&% WHTeaR ISt & U1 300cm?
1 8T PQ F x dF $H aI§ o1 AT @
& PQ =0x% I XSQRF Y W Frear
g, BuEr SYR &7 &%d (cm? #) &4

If xs intersects

e
a)75 b) 50 c)120 d)100
In the given figure, MNOP is a parallelogram.

PM isextendedto Z. OZ intersects MN and

PN at Y and X respectively. If OX = 27cm
and XY = 18cm, then what is the lenght (in
cm) of YZ?

& a1$ 3l #, MNOP TF AR TSt
¥ PM B Z GF ¥erm W §
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Exercise - 9
M Y N 1. In the given figure AB || CD || EF | GH and
BH = 100 cm. Find the value of DF:
@1 RF H AB|CD|EF|GH 3R
P ° BH = 100 cm ¥| DF T A
a)21.4 b)22.5 ¢)23.8 d)24.5

In the given figure, E and F are the centres
of two identical circles. What is the ratio of
area of triangle AOB to the area of triangle
Doc?

&t 1§ i A, E a°T F &Y WATT gar &
*% ¢ TS A0B ¥ &rawher &1 X3fsT DOC
¥ AT6d W FAT T 82

D
a)1:3

b)1:9 c)1:8 d)1:4

In the adjoining figure, AB, EF and CD are
parallel lines. Given EG=5cm, GC =
10cm, BF:FC = 2:1 and DC = 18 cm, then
AB is equal to:

&t a$ T F AB, EF 3R €D WA
W §| 3R EG=5cm, GC =10cm,
BF:FC=2:13RDC=18cm § aYAB =?

A

E D
G
B F C
a)18cm b)27cm c)24cm d)30cm
Answer Key
1.D 2.D 3.D 4.B 5.D

A B
50 cm

C D

30 Em \ E

40 CH/ \
G H
/ \

a)26cm b)40cm ¢)25cm d)24cm

2. The Olympics committee made a new rule. The
flag of the gold medal winning team would be
hoisted to the right (AB) at 5 m. The flag of
silver medal winning team would be hoisted to
the left (PQ) at a height of 3 m. The flag (MN)
of bronze medal winning team would be
hoisted at the point of intersection of the line
joining the top of each of AB and PQ to the foot
of other, as shown in the figure below. A and P
are 8 m apart. In a wrestling event, India won
the bronze medal. Find the height at which the
Indian flag was hoisted.

efe afRfa wF 791 [AIE dwT S|
ot ged Sida arell &7 &1 HEr e
3T (AB) W 5 m BT AT (A IGh
Saar arell & &1 38T 91 3R (PQ) 3 HX
N U W BEIT AW T 9GH
gt arelt &7 F1 =T (MN) AB 31T PQ
ye3E & oY @ 3 arelt Y@t F Padew
fig ov wewrn smee, st & A e o
o & fe@mar s &1 Ak p8AY. & 3rerer
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et

s

gl v Fecht wfadifer & sma F Few
YeF SAidll AR easT 9 FEE W
GEIAT AT AT?

B

Q
N 5
P A

M 8

a)2m b)g m c)%m d)%5 m

3. B, is a point on the side AC of AABC and BB
is joined. A line is drawn through A parallel to
B1B meeting CB at A; and another line is
drawn through C parallel to B;B meeting AB
produced at C,. Then

AABC #Y & ACTR B, & fawg ¥ 3R
B;B¥ WHATAX AW g TH @ @it
ST & S B A, W e § 3k BB
& AT T IR 3@ did s § & ¢
¥ FT It & 3 ABE ¢, R A &

) 1 11 ) 1 11
CC, AA, BB, cc, AA, BB,
) 1 1 2 d) 1 1 2
BB, AA; CCq AA, CC, BB,

4. The ratio in which a transverse common tangent
drawn to two circles with raddi 4 cm and 6 cm,
respectively, divides the line joining their
centres is:

qE AU AT PfST, THd FAA 4 cm
IR 6cm B g A gA@r W @R T
UF HUET 3HATASS TINET 3% Feal

Y Sl arell I@T N fAsnfora FCr )
a)1:2 b)1:1 «¢)3:4 d)2:3

5. In the given figure, the circle with centre O has
radius 10cm. The radius of the circle with
centre P is x. STR is a common tangent to two

circles at point R and S as shown in the figure.
RT = 16cm and TS = 24cm. What is the
value of x (incm) ?

ar o§ apfa &, 0 Fg @ ga Hr B
10cm & &g P T ga A B x B
STR, BT # @ sqar ar gel i &g
R3St 30T Tt W1 §| RT =
16cm 3 TS = 24cm & x FT AW (cm
#H) a1 &2

a) 15 b) 16 c)12 d) 18

6. In the adjoining figure circles 1 and 2, with
centres P and Q respectively, touch each other
and have a common tangent that touches them
at point R and S respectively. This common
tangent meets the line joining Pand Q at O. The
diametersof 1 and 2 arein the ratio 4:3 Itis also
known that the length of PO is 28 cm. The ratio

of the length of PQ to that of QO is

& g argpfa A 1 3R 2 Fx pod qame
A 3q ¥ wF gay F T wa § Ak
3T T 3HIfASe Taf @ § S 3
el faegHt RIAR s W Tt FA 7| 7@
et Y@ fig PR a# Sea arelt @ #
fig o el Bl ga 1 3k 2 & =amal
FT 3T 4:3 | PO gt 28 cm 2| PQ
3 Qo #r wFaTS T AU FAT §?

a)1:2

b) 1: 3 c)7:12 d)3:4
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7. In the adjoining figure circles 1 and 2, with

centres P and Q respectively, touch each other
and have a common tangent that touches them
at point R and S respectively. This common
tangent meets the line joining Pand Q at O. The
diameters of 1 and 2 are in the ratio 4: 3. It is
also known that the length of PO is 28 cm. The
length of SO is :

& o$ ampfa F 1 3R 2 FF ped QAW
Qg7 ¥ wF gay # T wa F ok
3AH UF IHATASs T @ ¢ S I
Fad et RAR s FF = B Tw
Fuet Y@ fag 3R Q1 Sisa arel @r H
fig oo el 8199 1 3R 2 & =g
HT T 4:3 | PO gt 28.cm B| SO
T TFaTS FAT gL

a) 8vV/3cm b) 6v/15cm
c) 12v/3cm d) 14v/3cm

8. In the given figure, B and C are the centres of

the two circles, ADE is the common tangent to
the two circles, If the ratio of the radius of both
the circlesis 3:5 and AC = 40, then what is
the value of DE?

& ¢ spfa A, B dur ¢ A gAY F Fq B
ADE gl Jal I T 39afIss ¥ 3@ ¥
afg et gat fr B &7 e 3:5 @
dYT AC =408, @ DEHT AT F4T 872

a) 3V/15

b) 5V15

c)6v/15 d) 415

9. In the given figure, PT is a common tangent to

10.

11.

three circles at points A, B and C respectively.
The radius of the small, medium and large
circles is 4 cm, 6cm and 9 cm. 04, 0, and 03
are the center of the three circles. What is the
value (in cm) of PC?

mpfa &, PT et gat W e fgait waren
A, BTYUT C W IAfAsT 3rpeael ¥a@m B
BIe, ALY dYT ga& 93 gt A1 Bsar 4
cm, 6 cm T 9 cm @] 0,, 0,34r 0; i
gat & &g ¥ PC FT AW (cm H) FT &2

T
C

0y 0, 0y
a)18V6 b)9V6 ¢)24V6 d)15V6
Three circles c¢4,c; andcz with radii

1, T2, andr; (where r{ <r, <r3) areas

shown in the given figure. What is the value
of rz?

T F@ oy TU R B
Ty 7, dAT r; &, (81 ry <71y <713) A &
gé:magﬁrﬁmﬁmwm r, T AT FT

ri+r 2rqr
a) \/r 13 b)% c)ﬁ d)Jry +13

In the figure five circles with common tangents
AP and AQ are given. If the radii of second
smallest circle and largest circle are 61/3 cm

and 16 cm respectively. Find the radius of
second largest circle.
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v 3 R 7 9w g7 serafass wadanst
AP 3T AQF IHeel T T . 3R g
o o IR FEd 92 gal A B
FHA: 6V3cm AR 16 em §, a gE¥ wa@
93 gd A Bsar IdqEw.

Q

b) 8v3 c) 9v3

a)9cm d) NOT

Two circles touch each other at point X. Two
common tangents of the circles meet at P and
none of the tangents passes through X. These
tangents touch the larger circle at points B and
C. If the radius of the larger circle is 15¢cm and
CP=20cm, then what is the radius (in cm) of the
smaller circle?

A a9 XW TF gAY F T FQ@ §| g
1  wHe TG g pw FAed @
agr #¢ st Tt T@m x @ g qeRdr g
g TNET 93 g &g B aur cwW T
FCA §| IRX 93 g A BT 15em a9T P
= 20cm@, A I g @ BeAT (em ) =7
82

a)3.5 b) 3.75 c)4.25 d)4.45

In the given figure, ABC is a right angled
triangle. ZACB =90" and <ABC = 60°. If

the radius of the smaller circle is 2 cm, then
what is the radius (in cm) of the larger circle?

& arv rpfa #, ABC U wHMIOT Fsger ¥
£ACB =90’ dYT £ABC = 60°¢| I o
3@ B Bear 2 am®, @t 9 ga @ Pew
(em #) FT B

14,

15.

16.

A

B /C

a)4 b)6 c)4.5

d)7.5

The diagonals of a cyclic quadrilateral ABCD
intersect at P and the area of the triangle APB
is 24 square cm. If AB = 8cmand
CD = 5cm, then what is the area of the
triangle CPD?

et Teshrr aqsfsr ABcD ¥ st faeg P
W TF g F Fed g AR BT aps &
&% 24 T cm 8| 3R AB=8cm 3R CD =
5em § @ FIS[er cPD T &G FAT gem?

a) 24 square cm
c) 12.5 square cm

b) 15 square cm
d) 9.375 square cm

In the adjoining figure, points A, B, C and D lie
on the circle. AD = 24 and BC = 12. What is
the ratio of the area of ACBE to that of the
triangle AADE?

& a$ angfa & g A, B, 3R pDgg A
R . ua & Ap =243k BCc=12
¢ Fs1sr ACBE 3R f38[sT AADE & &tacal
HT I FAT FI?

B D
E
C A
a)1:4 b) 1: 2
c)1:3 d) data insufficient

APQR is inscribed in a circle. The bisector of
2P cuts QR at S and the circle at T. If PR =




17.

18.

19.

20.

By Bhutesh Sir:
CAT Topper (98.74%ile)
3 times CGL selected

SUBSCRIBE “e1 coaching center” on YouTube & get:

Best content for SSC CGL, CHSL, CPO, MTS, CDS, Railway
Latest Exams questions solutions
Best series for All competitive Exams

SSC CGL Tier 2 (2011 to 2021) All ques Chapter wise with pdf

SCAN THE QR CODE

O 'ﬁ-"E]

‘-.

: *Daan

S

5¢cm, PS = 6cm and ST = 4cm, then the
length (in cm) of PQ is:

APQR® &Y ga & swafafia frar
gl <P #1 WHGfAHTEF, QR # g s W
Fedr § AR g9 F Rg T | Frear ¥ afx
PR =5cm, PS = 6cm 3 ST = 4cm @, @Y

PQ & aF=rs (FHA. H) AT R
a)13  b)12 c) 10 d) 15

In a triangle ABC, angle bisector of ZBAC cut
the side BC at D and meet the circumcircle of
AABC atE. if AC=4cm, AD =5 cm, DE =
3 cm. Find the length of AB.

felt froger ABC#, 2BAC #1 wecfasEF
gemBc F g D Fear § I AABCHF
wRga & g e fFAear 8] 3R Ac =
4c¢m, AD =5cm, DE=3cm g a AB &I

AFETS 9T F|

a) 10 b)4 = ¢ 15 d)8

In AABC, angle bisector of ZA intersect BCat D
and intersects circumcircle of triangle at E then

AABC & +A% fATSI® BC A D W 3N
frarer & aRga 1 £ W Frear § a-

a)AB:AC = BD:BC b)AD:AC = AE:AB
c)AB:AD = AC:AE d)AB:AD = AE: AC

In AABC, the angle bisector of ZBAC cut BC at
D and meet the circumcircle of AABC at E. If
AB:AD = 3:5 then find AE : AC?

AABC # £BAC T GfasTsi® BC &I D W
3 AABC & 9RJaT N E W Fear ¢ I

AB:AD = 3 :5dl AE : AC FIT g1IR?
a) 2:3  b)3:5 c)5:3 d)3:2

In the given figure, in a right angle triangle
ABC, AB = 12cm and AC = 15 cm. A square
is inscribed in the triangle. One of the vertices
of square coincides with the vertex of triangle.

21.

22.

What is the maximum possible area of the
square?

ar % arpfa # vE wHEor Beer ABC
#, AB =12cmTUT AC=15cm? B &
MR s g s g ar F AT T @
v e & o @ Toet Fwar ¢ @t @
FftFan T aI6a 741 32

A
sl c
1296 1225 1225
Ve BB e e

InAABC, £A = 90°, AB = 6cm, AC = 8cm. A
square DEFG is drawn inside the triangle with
side FG along BC. E and D on sides AB and AC,
respectively. What is the length of the side of
the square (in cm)?

AABC #, 2A=90°, AB=6¢cm, AC =
8cm | RS & 3 wF T pEFG TR
T B, fowedr oem FG, BC & wureh §| E
3R D waAw: At 4B IR AC W Rya
2| aet # e i Far$ (cm H) AT AT
b) 40 )g 120

9 R

a)? d) =

There is an equilateral triangle with a square
inscribed inside it. One of the sides of the
square lies on a side of the equilateral A. What
is the ratio of the area of the square to that of
the equilateral triangle?

vE gHarg feer @ Sed i v ad
sifra &1 391 & i # ¥ v WA
fheR o feud &1 oy Meger i oo &
TG FT HATT FT 82

a)12: 12 + 73 b)24: 24 + 7V3
)18:12 + 15V3  d)6: 6 + 5V3
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In a right angle triangle ABC, (right angled at
B) there are two point on side AC such that
AF =11 cm and EC = 13 cm. There are two
points G and D on sides AB and BC
respectively. Find the area of square DEFG.

ABC & FHHIOT ferer ¢ fowsr 8 wHapor
2,30 oo ACR &Y g 59 veR ¥ B
AF =11cm 3R EC =13 cm %|a‘rﬁ'§ G
3D st 4B IR BC W Fya g 79
DEFG &T &9%e 9dT |

A
11
F
E
G 13
B D C
a) 121 b) 169 c) 143 d) Can’t say

In the adjoining figure ABC is a right angled
triangle, BDEF is a square, AE = 15 cm and
AC = 35 cm. What is the area of square BDEF?

& 71§ Il 7 ABC T wARIT P @
BDEF U d9F & AE=15cm 3R AC=
35cmg @ @ BDEF FT1 &% IdI0|

A

o

B D c
a)169 cm? b) 144 cm?
c) 225 cm? d) 100 cm?

PQR is a right angled triangle. X is a point on
the hypotenuse. XY and XZ are perpendiculars
drawn from X on sides PQ and QR such that
XY = XZ. Find the area of the square XYQZ, if

PX = 4\/3 cmand XR = 12 cm.

PQR TF WHFIT efer 8. X FoF W o g
8. Xy AR xz semat P 3R QR FH YER
dFaad ¢ & xy 3R xzgae & a9t xvaz
FT &9%d IdI3T 3R PX = 4/3 cm 3R

XR=12cm %

a) 36 cm? b) 48 cm?

c) 48v/3 cm? d) 16 cm?

Answer Key
1.C 2.D 3.B 4.D 5.A
6.B 7.C 8.D 9.A 10. A
11.B 12. B 13.B 14.D 15. A
16.B 17. A 18.D 19.B 20. A
21.D 22. A 23.C 24.B 25. A

Exercise - 10

1. AD is the median of AABC and O is the centroid

such that AO = 10 cm. The length of OD in cm
is:

AD T31sT AABC #Y wiftaa ¢ 31 0 Feuw
SH YHK & FT A0=10cm | OD & dFTE
AT HY|

a)4 b) 5 c)6 d)8

2. Two medians AD and BE of AABC intersect at G

at right angle. If AD = 9 cm and BE = 6 cm,
then the length of BC, in cm, is

et frsrer AABC F &Y Af€asr Ap 3 BE
g ¢ W wHHOr W Ao &) 3R AD =

9cm I BE = 6 cmg a BC=?
a)10 b)6 c)5 d)3

3. G is the centroid of APQR. The medians PS and

QT intersect at right angles. If the length of PS
and QT are 60cm and 63 cm respectively
then the length of PQ?

B PQR # ¢ Fow & miftaw Ps 3k
QT T& TEY F AT W Fed §| IR
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Ps 3R QT & o«@$ FAA: 60cm 3R
63 cm g| 99 PQ d«1$ g
a) 48 b) 58 c) 62 d) 64

4. If G be the centroid of AABC such that AG=BC,

then the magnitude of ZBGC is
3R G, AT AABC FT g § YT AG =

BC & &7 +BGC=?

a) 60 b) 90 c) 120 d) 135

5. If BE and CF are two median of a AABC and G

is there intersection point. Similarly O is
intersecting point of EF and AG. Find A0 : 0G.

afs BE dUT cF & fgsr ABC Q@
miF™ g aur ¢ 3 ufads Reg @
3 EFAUTAG & wfade feg o &,

A0 : 0G Tra«r gem?

a)1:1 b) 1:2 c)2:1 d)3:1

6. InAABC, O is the centroid and AD, BE and CF are

the
the

area of
area of

and
then

three medians
A AOE = 15cm?,
quadrilateral BDOF is

fsger AABC #, 0 ¥Fvea § 3R AD, BE @
cF st ARgew E& | AAOEF
&%= 15cm?> § @ IS BDOF
ELTE
a) 15 cm?

b)30cm? c¢) 45 cm? d) 90 cm?

7. The vertex A of AABC is joined to a point D on

BC. If E is the midpoint of AD then ar
(ABEC) =?

T AABC #1 ¥ fig A sfaT BC W g
D W SAIST 1T 8] 3K E, AD FT #eY fig
€ @ (ABEC) T &9%d UaT |

a)% area(AABC) b); area(AABC)

c) %area(AABC) d)% area (AABC)

8. In the given figure, PQR is an equilateral triangle

with side as 12cm S and T are the mid points of
the sides PQ and PR respectively. What is the

area (in cm?) of the shaded region?

& % wfy A, por TF wHAg P ¥
ot & 12em @] s @Ur T, FAA: e
PQ @aT PR & #ew g 7| orifea @
&% (cm? ®) F4T 82

P

R

a)10vV3 b)12v3  ¢)9vV3 d)14V3

9. In the right angle triangle 2C = 90°, AE and BD

10.

11.

are two medians of a triangle ABC meeting at
F. the ratio of the area of AABF and the
quadrilateral FDCE is:

forel woeior Bsger 7 2c=90° &, AE 3R BD
forelt Tegsr ABC #Y af Aftaw & S RigrF
W e 8| AABF & aYawer 3 =TT FDCE
& & %el HT AT

aj1: 1 b)1: 2 «¢)2:1d)2: 3

XYZ is a triangle. If the median ZL and YM
intersect each other at G, then Area of A GLM
:'Area of A XYZ is:

XyZz s fagger 81 afe mnfeawe zL 3k vm
g A g ¢ W vfaedfea weh § @t
A GLM T 8% : A XYZ &T 8% &l AT

g ST |
a)1:14 b)1:12 ¢)1:11 d)1:10

In AABC, D and E are the mid points of sides
BC and AC, respectively. If
AD = 10.8cm, BE = 14.4 cm and AD
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and BE intersect at G at a right angle, then the
area (in cm?) of AABC is:

AABC# D3R E FAU: a1 BCIHR AC &
ey fig gl afg
AD = 10.8cm, BE = 14.4cm3X  AD
3R BE @a®IoT ¢ W gfadfa & & a

AABC &1 &9%d (cm? &) AT ST |
a) 80.64 b)103.68 ¢)56.76 d)53.76

In AABC, £A =90°. If BL and CM are the
medians, then :

AABC ®, 24=90° % 3afe BL 3 cm

Afegsr & ar

a) 4(BL? + CM?) = 3BC?
b) 4(BL? + CM?) = 5BC?
c) 3(BL? + CM?) = 4B(?
d) 5(BL? + CM?) = 4B(?

In a triangle ABC, BD & CE are two medians
which intersect each other at right angle. AB =
22, AC = 19, find BC =?

st ABC #,a wiftasr BD 3R CE w=
gE F AP W Fedt § I AB =

22, AC = 19 d¥ BC 1 &€ Fa1 g
a)13 b) 14 c) 15 d) 11

In AABC, right angled at A, BCis 5cm . BL and
CM are medians. If BL = i cm , then CM

will be -

AABCH, ST AR §HARONT &, BC = 5T,
%.a’rmﬁ“qmﬁ'BLaﬁTCM% | aETaR, Ay

BL="Ccm @), & ar cM&H wFaE
et a’rd’r ?

a) 2v/5 cm b) 5v2 cm

c)10vV2 cm d) 4V5 cm

15.

1e6.

17.

18.

BD and CE are the medians of AABC, right

angled at A. If CE="Ccm, BC =

then the length of BD is:
BD 3iX CE, AABC %t AMtg®I § St &F A

w wEewr ¥ AR cE="Lom,
BC = 10cm &, dY BD & o€ AT H|
a) 3v7cm b)gﬁcm
c)V13cm d) 3v/5cm

10cm,

PQR is a triangle such that PQ = PR. RS and
QT are the median to the sides PQ and PR
respectively. If the medians RS and QT intersect

2
at right angle, then what is the value of (g—ﬁ) ?
PQR 3H YR & fsger § B PQ = PRE|
RS 94T QT FAA: 3T PQ dUT PR W

Afzpw 2 afg #AfH@ RS dur QT
wHRT o Sfrese w g (2) @
AT FT 2
b)> o2

a) ; d) None of the these

In APQR, £P =90°. Sand T are the mid

points of sides PR and PQ, respectively. What
RQ?

QS2+RT? °

APQR, H2P.=90°¢| saﬂT THAA: PR3N
PQ ¥ #ew fog B
HSA|

1
a)E

is the value of

QSZ +RT2 T E

2 3 4

InaAABC, 2A =90°,1f BM and CN are two
BMZ+CN?
BC?

median, is equal to:

AABC #, = 90°, I BM 33X CcN &
R BM?+CN?
mitgHe §, @ — 7 ad e §
5 3
= d) Z

b)g )2

3
a)g
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In AABC, 2B =90°, AD and CE are the
medians drawn from A and C, respectively. If

AC = 10cmand AD = v55cm, then the
length of CE is:

AABCH, 2 +B =90° §| AD 3R CEFHM:
faegat A3k c ¥ @i o€ feg=T &
Ifg AC = 10cm 31X AD =+/55cm &

CE Y E1$ AT H|
a) 2V/15 cm b) V70 cm
c) V66 cm d) 5V3 cm

AABC is circumscribed by a circle such that AC
is the diameter. AQ and CP are medians of the

triangle. If PQ = 5cm and AQ = 2vV13cm
then find the length of CP.

AABC U Jd gaRT 39 9K Bl g8 & &%
AC =ITH 8. AQ 3R P Tefer #r mfegsre
2.3 PQ=5cm 3R 4Q=2V13cm &
arcpP & IFETE T4

a)8cm b)V73em ¢)V69cm d)9cm

PQR is a triangle right angled at Q, if X and Y
are the mid-points of the sides PQ and QR
respectively, then which one of the following is
not correct?

PQR, VT QI FAFIVT Fsyat &, 39 x 3
v 3=t P 3R or& 7w foig § @ e
# @ *lear w7 82

a) RX? + PY? = 5XY*

b) RX? + PY? = XY? + PR?

c) 4(RX? + PY?) = 5PR?

d) RX? + PY? = 3(PQ? + QR?)

Answer Key
1.B 2.A 3.B 4. B 5.

6.B 7. A 8.B 9.A 10.B
11.B 12.B 13. A 14.A | 15.B
16.B 17.D 18.C 19.B |20.B
21.D

Exercise - 11

1. The orthocenter of a right-angled triangle lies
TF FHAT P w1 aFadg wel fud
qem?

a) Outside the triangle
b) At the right angular vertex

c) On its hypotenuse
d) Within the triangle

2.In AABC, draw BE L AC and CF L AB and the
lines BE and CF intersect at point O. If LBAC =
70°, then the value of ZBOC is

AABC ¥ BE L AC 31X CF L AB 91T 3R Y@Tw
BE 3T cF Mg 0 W wfaede #et §| 37K

/BAC =70° € @ LBOC=?
a) 125 b) 55 c)150 d)110

3. In a triangle PQR, PX, QY and RZ be altitudes
intersecting at O. If PO = 6cm, PX =
8cm and QO = 4cm, then what is the value of
Qy?
31T PQR PX, QY @UT Rz, 0 Wfaede &l
g6 391% ¢ AR PO = 6cm, PX = Bcmadr

Q0 = 4cm@, A QY ST AT 4T 2
a)6.3 b)5.8 )6 d) 7

4. If AD, BE, CF are the altitudes of AABC Whose
orthocenter is H, then C is the orthocenter of:

39X AD, BE, CF AABC & &F¥ ¥ 3T Ha#or
g ot cfra Befer &1 aFr g 2
a) AABH b)AABD c)ABDH d) ABFA

5. Which of the following statements are correct?
1) The orthocentre of a triangle always lies
inside the triangle.

2) The centroid of a triangle always lies inside
the triangle.

3) The orthocentre of a right-angled triangle
lies on the triangle.
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4) The centroid of a right-angled triangle lies on
the triangle.

@ slaarsiay Faa a7 &

1) fFelt B @1 aeade g e &
Iee< & g g

2) fFHT BT #1 Feoh FAW BT F
Iee< & g g

3) Rrelt FaAIOT Pefer &1 aeads B
g g

a) B FHHIT BT T Ferw B W

g 2
a)1and 2 b) 1 and 4
c)2and 3 d) 2 and 4

6. The sum of three altitudes of a triangle is:
et rager & At el Ay o
a) equal to the sum of three sides
b) twice the sum of sides
c) greater than the sum of sides
d) less than the sum of sides

Answer Key
1.B 2.D 3.D 4. A 5.C

6.D

Exercise - 12
1. Incentre of a triangle lies in the interior of:
a) An isosceles triangle only
b) A right angled triangle only
c) Any equilateral triangle only
d) Any triangle

frw Rer &1 sea:da 30 e foua
giaT &

a) % warehsEh Refer

b) Fr warenIoT frsyst

c)ﬁ'ﬁ?ﬂﬂ'ﬁﬁiﬁ'

d) F1E 8ft Feger

2. The point O is equidistant from the three sides
of a triangle ABC. Which of the below
statements are correct?

1) LOAC + 20CB + 20BA = 90°

2) «BOC = 24/BAC

3) The perpendiculars drawn from any point on
OA to AB and AC are always equal.

faeg o w& fofsr Apc:q et spemat @
A §| Pfaf@a #§ @ slaa @@
e/e?

1) Z0AC + +0CB + 20BA = 90°

2) LBOC = 2/BAC

3)AB 3 ACTR oA % frelt faeg @ &iwr
AT & HaT WA |
a) 1 and 2 only
c) 1 and 3 only

b) 2 and 3 only
d)1,2and 3

3. In triangle PQR, the internal bisector of £Q and
ZR meets at 0. if ZQPR = 70°, then what is

the value (in degree) of LQOR?

s PaR #A,.Q TUAT LR F IHARF
sfasre® O W e 8] I 2apPr =708,
ar 2QOR &1 AT (330 &) =1 #2

a) 45 b) 125 c) 115 d) 110

4. The angle between the external bisectors of two
angles of a triangle is 40°. Then the third angle
of triangle is

el Boer & & st & aredt wegfAsmar
& HET HT DT 40° §| AT FHIT 9T FY|
a)100  b)90 c) 70 d) 80

5.In an isosceles triangle AABC, the internal
bisectors of ZABC and £ACB meet at I and

£ZBIC = 120°. The measure of % is

et woefasrg AABC # F1i 24BC 3R

£ACB % 3Tt gacfasTa® &g 1w e
§ 3 zBIC = 120° §| Y 32 =2
a)2 b)1 c)1.5 d) CND
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6. In AABC the bisectors of the internal 2 B and

external 2 C intersect at D. If 2« BDC = 50°.
Then supplement of £ A is =

AABC & T 2 B FT ekl GAGAHTSH d
N7 £ C FT qEH FAGANATSH fag D W
e §| 3P 2BDC=50° § a@ zA®
WAGIF FAT gHI?
a)25  b)155

c) 80 d) 100

7. In AABC, O is the point of intersection of the

bisector of 2B and ZA. If zZBOC = 108°, then
/BAO =?

AABCH, /B 3R 24 & WAGRAHTSIH F1
yfaedes g 081 IR 2BoC = 108° 3,
£BAO &T #IY T BM?

a)27° b) 18° c) 36° d) 40°

8. Let O be the incentre of AABC and D be the

point on the side BC, such that OD L BC. If
£ BOD = 65°,then £C04 =

o frelt Prefer AABC &1 3ie:ds ¥ 3D, 3o
BC W & fig 37 9K & #rob L BC A

39X 2 BOD = 65°8 a@f ~COA =

a) 50 b) 130 c) 115 d) 90

9.In AABC, £A= 52° and O is the orthocenter of

the triangle. BO and CO meet AC and AB at E
and F respectively when produced. If the
bisectors of ZOBC and £0CB meet at P, then
the measure of ZBPC is:

AMBC #, 1A= 52°3R 0 w& fefer &
aFd &g §.80 3 co FAMW: EIR F W
AC Ug AB ¥ fAed § JI9 3+¢ serm Tam
¥ 9 L0BC 3R L0CB ¥ zRAWSF P W)

e &1, ar 2BPC &:

a)124° b)132° c)138° d) 154°

10.

11.

12,

13.

In AABC, BE 1| AC, CD 1 AB and BE and CD
intersect each other at O. The bisectors of
20BC and 2£OCB meet at P. If ZBPC = 148°,
then what is the measure of £A?

AABC & BE L AC, CD 1L ABQdT BE 3R
CD TRER TH-GEY F O W FIed | £0BC
3R z0cB ¥ wA-gRsE® P Aea ¥
Iy LBPC = 148°%, af <A & AT FT

g
a) 56° b) 28° c) 32° d) 64°
In AABC, the perpendiculars drawn from 4, B

and C meet the opposite sides at D, FE and
F, respectively. AD, BE and CF intersect at
point P. If ZEPD = 116° and the bisectors of
2A and 4B meet at Q, then the measure of
LAQB is:

AABC &, A, B3R ¢ & &9 ®aAU: D, E 3R
F 9 SH YR a1t a1t & 7 AD, BE 3
CFu& g & g P Fedt &1 I
£EPD =116° 3R 24 3R B & wrganei®
QW Aea & af 24Q0B Fr AT F1 2

a) 96° b) 122° c) 124° d) 64°
In a triangle ABC, D is a point on BC such that
28_20 1t 2B = 68° and £C = 52°, then
AC.~ DC

measure of ZBDA is equal to:

ﬁraﬁrABc#’ DY¥&T BCwY YT fig & %
2B |uﬁ /B = 68° A 2Cc = 52° @

AC

/BDA &T A fha«r gem?

a) 68° b) 30° c) 52° d) 82°

The bisector of 2B in AABC meets AC at D. If
AB = 10cm, BC = 11 cm and

AC = 14 cm, then the length of AD is:
AABC & ,B T gfads® AC, D fAerar
gt | 3T 4B = 10cm, BC = 11 ecm 33X

AC = 14 cm, d@ AD #Y dFa1$ gil:




14.

15.

16.

17.
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a)6cm  b)em c)7cm d)Sem AABC#, AD, LA &1 EfasTai® §, M BCT

In AABC with sides 6cm, 7cm and 8 cm, the
angle bisector of the largest angle divides the
opposite side into two segments. What is the
length of the shorter segment?

AABCﬁﬂWGchcmﬁT 8cm %Im

93 PIT FT FHCIANATSIS HHA dTell [T

Y g @3 A fufora «ar § s @s &

JFa1s fRaet 2
56 48

a) 5 m b)ﬁcm

21 24
c) 5 cm d) S cm

In AABC, £C = 90° and D is a point on CB
such that AD is the bisector of £A. If AC =
5cmand BC =12 cm, then what is the
length of AD?

AABC#H, 2€=90° § 3R D,C(B W &
¥ fig ¥ wd & oAb, 24 @
aAefaNTSF | ARG AC=5cm IRBC=
12 cm & dY AD T @ fhas &2

10 5V13

a) S cm b) —cm
5V13 20

c) \/T_ cm d) 5 cm

ABC is right- angled triangle, right-angled at B.
D is a point on AC such that AD = 12¢cm and
CD = 16 cmif BD bisects £ABC then the
perimeter of AABC will be:

ABC U& WHHWT Fager §| fwd B wHapIOT
¢ Ac W figp 3w yar Py & &
AD = 12cm 3R CD = 16 cm ¥ I BD,
¢ABC # wHefaafaa FX § &, AABC
T IRATT AT H|

a) 66 cm
c)66.2cm

b) 56.2 cm
d)67.2cm

In AABC, AD the bisector of 24, meets BC at D.
If BC = a, AC = b and AB = c, then BD —
DC =

18.

19.

20.

21.

fig 0 W fAwar f1afd BC=a, AC=b

IR AB=c®& @ BD-DC =

a(c+b) a(c—-b)
b) c-b C) c+b

ac

a) —

b+c

ab
b+c

d)

In a AABC, AD is a median. The bisector of
2ADB and 2ZADC meets AB and ACat E and F
respectively. If the ratio of AE: BE = 3: 4, then
find the ratio of EF: BC.

38T AABC # AD #ftasT &) FION 2ADB
3R 2ADC & wFefAaTaF o3 AB AR AC
% g E3RF W Aerd (39 AE:BE =
3:4 g &Y EF:BC=?
a)3:4 b) 4:3

c7:3 d)3:7

In AABC, 2£A = 90° AD is the bisector of 24
meeting BC at D and DE 1 AC atE. If AB =
10 cm and AC = 15cm, then the length of
DE,incmiis:

AABC &, £A=90°, § AD, LA F1 gfasTa®
g SY BCE® DR fAwar §, 3% DE L AC,E
w g1 afe AB =108+ 3R ACc = 159
g, @ DE & awar$ i & &

a)7.5 b) 6.25 c)6 d)8

In. a right angled triangle ABC, 2ABC =
90°, AB=12cm, BC =16 and BM 1 AC. If
BN is the bisector of ZABC then find MN?

v gASwr e ABc #, z4BC =
90°, AB =12 cm, BC =16 3 BM 1 AC

8. afg BN, £ABC &1 wrgfafavwes § ar
MN AT HY|
96 48 72 36

In AABC,AB = 12cm,AC = 35cm and 24 =
90°. The bisector of A meets BC at D.E is a
point on AC such that DE 1 AC. The length of
DE (in cm)is:




22.

23.

24,
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(@59 g
e ) | i
T g
Gy

AABC #®, AB=12cm, AC =35cm 3R
LA =90° 8| LA FT UHAGIANTSIF BC § D
W fear 8] E, AC W fua v dur g
¢ 7 DELAC & DE & &€ (cm ®)
fraeT &2

420

420
a) 5,

444
b) -

444
)5

d)g

In a square ABCD, diagonals AC and BD
intersect at O. The angle bisector of 2CAB
meets BD and BC at F and G, respectively. OF :
CG is equal to:

u& 3 ABcD #, fdFot ac 3k 8D, fig O
gfaede &d &1 <2CAB T HIT
gagfasTa® BD 3R BC A Fwaer: Rg Failk

G W fATEr &1 OF : CG &T AT fFraaT g m?
a)1:2 b)1:3 cJ1:v2 d)1:+3

The diagonal BD of a quadrilateral “ABCD

bisects 2B and 2D then:

fee =aqeisr ABCD F1 BD fawot 4B 3R
4D ® AHCIIHTSIS HIaT § af

AD

BC
c¢) AB = AD x BC

AD

AB
b) BC _ CD
d) None of these

a)ﬁ—
cD

In triangle ABC, 2B = 60°, then
perpendicular form A to BC meets it at D. The
bisector of ZABC meets AD atE.If AE = 6 cm
then ED=?

frelt st ABCH 2B =60° 3| g AW
ST BCUX FeIT oFd $HH g D 9 Frear

25.

26.

27.

| FIT LABC &7 Wegfastiard AD &I &g E
9w Aedr & I AE=6cm @ D A
TAFATS TATSU.

a)3cm b)12cm c)9cm d)6 cm

If D is such a point on the side, BC of AABC that
AB X CD = BD X AC, then AD must be a/an:
a) Altitude of AABC

b) Median of AABC

c) Angle bisector of AABC

d) Perpendicular bisector of AABC

3R D forelt e[aT AABC Y 8T BCHR #1$
g s 9sR & # ABx CD =BD x AC®
ar AD g

a) AABC &l oFd

b) AABC Y AfCTHT

c) AABC T HIUT HHAG AHTSIF

d) AABC &T dFd FHGIIHTSH

The perimeter of AABC is 24 cm and its side BC
=9 cm. AD is the bisector of ZBAC while I is
the incentre, AI: ID is equal to:

AABC #r aR#ATT 24 JY § 3R swdr g
BC =9 @ §l AD, ,BAC & gRwEF §,
JafF I 8FT IJd:Fg &| AL ID AT FY:

a)7:5 b)5:2 c)3:2 d)5:3

In AABC, 2B = 78° AD is a bisector of £A
meeting BC at D, and AE L BC at E. If
£DAE = 24°, then the measure of LACB is:

AABC #, B =178 §, £A® GAGQAASF
AD ¥ SY BC @ fig p W fwar ¢ 3k
fig E W AE L BC?| 3% LDAE = 24° §,
ar LACB &Y AT FaT 82

a) 32° b) 38° c) 30° d) 42°
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28.In APQR, 2Q > 4R, PS is the bisector of 2P

and PT L QR.

If

ZSPT = 28°and

2R = 23°, then the measure of £Q is:

APQR®#, 2Q > <R, PS, P &1 Qe+ £

sk Pr 1 Qr| 3 sspT = 28°3k
<R = 23°%,aY 2Q T AT FAT I
a) 74° b)79°  ¢)82° d)89°
Answer Key

1.0 |2.C 3.B |4.A |[58B
6. C 7.B 8.C |9.0 |[10.D
11.B [12.D [13.D |[14.B [15.C
16.D |17.C [18.D |19.C |20.B
21.B |22.A |23.B |24.A [25.C
26.D |27.C |28.B

Exercise - 13

1. If the circumcenter of a triangle lies outside it,

then the triangle is

a) Equilateral b) Acute angled

c) Right angled d) Obtuse angled
R forelt g &1 RS 3w B &
qMET B ar feger @

a) HETE b) ¥g= HIoT Bger
) FHFIOT d) 3rfe Fror Fsger

2. If the lengths of three sides of triangle are 6cm,
8cm and 10cm, then the length of the smallest
median of triangle is

IR farelt fsger & ofier spomait & rFard
6cm,8cm3ﬁT10cm%?ﬂ'ﬁ'ﬂﬁ'ﬁmm
ATCTHT H dFTE AT HY|

a)8 b) 6

c)5

d) 4.8

3. The sides of a triangle are 11 cm, 60 cm and 61

cm. What is the
circumscribing the triangle?

radius of the circle

T TefsT 1 e 11 QAL 60 WA qUT
61cm &| 7T T gREc qama arer ga

B Far @2
a)315cm b)3lcm ¢)30cm d)30.5cm

4. The sides of a triangle are
12cm, 35cmand 37cm. What is the
circumradius of the triangle?

e 1 e 12 &, 35 @, Ik

37 [t B Treger v aRfysar Fr 32
a)19cm b)17.5cm c)17cm d) 18.5cm

5. The sides of a triangle are 56 cm, 90 cm and
106 cm. The circumference of its circumcircle
is:
tF fagsr #fr ¥ET 56cm, 90cm AR
106cm 3| 3% IRga Fr aikfer 8

a)106 Tt b)109~w c)108m d)112m

6. The sides of AABC are 10 cm, 10.5 cm and
14.5 cm. What is the radius of its circumcircle?

AABC #Y &sme 10 @+, 10.5 I+t 3K 14.5

a4+t &| swd aRga B Bear @ w7
$fifaw|
a)7.25cm b)5.25cm ¢)7.5cmd)5cm

7.In AABC, £A = 90°, M is the mid point of BC
and D is a point on BC such that AD 1L BC. If
AB =7 cm and AC = 24 cmthen AD:AM is
equal to:

AABC #, LA =90°M, BC & A7 g &
3R D, BC W wew dur g ¥ & AD L BC®
| e AB = 7cm 3R AC = 24cmE @
AD: AM 31 8191 ?

a) 168:275 b)24:25 c)32:43 d)336:625

8.In a triangle ABC, right angled at B. AB =
18 cm, BC = 24 cm. Find the length of BG, if
G is the centroid.
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FIOT B HPIVT I T FXST ABCH AB =
18 cm, BC = 24 cm &| BG 1 &€ a1

U 3R G SHFT dhegd ¢ ar?
a)5 b) 10 c)15 d)8

9. In a triangle PQR, 2Q = 90°,Sis the midpoint of

10.

11.

PR, QS = +v117. Sum of sides of PQ and QR is
30 cm. find the area of triangle PQR.

frelt Besr PR A 2Q = 90° ¥, S [T PR
1 7eq fig &, 05 = V1178 $em PQ 3R
QR FT I3 30 cm 2| ST PQR FT &fae

qdT |

a)108  b)216 c) 117 d) 234

The vertices of a AABC lie on a circle with
centre O. AO is produced to meet the circle at
the point P. D is a point on BC such that AD 1L
BC. If 2B = 68° and 2«C = 52° then the
measure of ZDAP is:

ABC & ¥, o%g a@ q@ W Rua &
AO T fAffid #3 W g g0 & g P
et 8l scR g psa vaR 8 5 AD L
BC %) 3% sB=68 3 .c=52° & ar
¢.DAP FT A9 AT HY|

a)18° b)16° c)12° d) 28°

APQR is inscribed in a circle with center O. PO
is produced to meet QR at U and the circle at S,
and PT 1 QR, where T lies between Q and U.
If £Q = 70° and 2R = 55°, then what is the
measure (in degrees) of LTPS?

APQR, 0 %+% A& 39 & #ieaX 3chifvia )
PO H I dgd WIE QR ¥ g U W
ool & 3t g9 @ faeg s X Mee § 3k
PT L QR 3,581 faeg @ik g u & 1w
faeg T ua 81 20 =70° 3R 2R =558,

ar 2TPs #r A1q (R A) 71q WY
a) 25 b) 30 c)15 d) 20

Answer Key
1.D 2.C 3.B 4. B 5.A

6. A 7.D 8.B 9.A 10. B
11.C

Exercise - 14

1. The sides of AABC are 10 cm, 10.5 cm and

14.5cm. What is the
circumcircle?

ABC # e 10 ¥, 1058 3k
14.5 At 31 3@ dRga & B a7
SIfore?

a) 5 b) 7.5

radius of its

c) 5.25 d) 7.25

2. In atriangle PQR, PQ =16 cm, QR = 63 cm

and PR = 65 cm, then what is the ratio of
circumradius to inradius?

ﬁ%jﬁl’ PQR A, PQ =16cm, QR = 63 cm
d9T PR=65cm & o aRfd=am 3k
BT T T TART.

a)65:7 b)7:65 ¢)65:14 d)14:65

3. G is the centroid of a triangle ABC, whose sides

AB =35cm,BC =12 cm,and AC = 37 cm.
The length of BG is (correct to one decimal
place):

GUF W T ABCFT Feww ¥, T
HSME AB = 35 cm, BC = 12 cm, 3R AC =
37 cm €1 BG I &aTS (GAANT & TH T

a& Td) frae &2
a)12.9cm b)12.3 cm
c)11.7cm d)17.5cm

4.ln AABC, AB=48cm, BC =55cm and

AC =73 cm. If O is the centroid of the
triangle, then the length (in cm) 0f BO (correct
to one decimal place) is:
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AABCH, AB=48cm, BC=55cm 3R c) 6 —3v2:1V2 d) 6 — 3v2:6v2

AC=73cm@g| 39 [ELC I D C o
(centroid) O g, d BOH e (cm A,

SUAHAT & TH 3h dF WE) A |
a)25.6 b)24.3 c)20.4 d)18.3

5. What is the distance between the orthocenter

and the circumcenter of a triangle who sides
measure 24 cm, 26 cm and 10 cm?

forelt Pefer & ciaadhes 3R aRFes 7 fraeh
gt el IR 3WHT spemAt T waE 24
Jat, 26 @+ 3 10 W 2

a)13cm b)12cm c¢)7.5cm d)V/30cm

6. In a right angled triangle the sum of inradius and

circumradius is equal to the average of
a) All the sides of triangle

b) Both the legs of the triangle

c) Perpendicular and hypotenuse

d) All the medians of the triangle

tF wEer BEer A sa fBear sk
Wfsar &1 a1 @A & 9 FuF siwa
& &Y gRm?

a) Tegsr &1 @Y semait &

b) PrTsr & QW wral &

c) o 3T FoF &

d) Tt Ifegsmet &

7. ABC is an isosceles right angle triangle. Angle

ABC =90 degree and AB = 12cm. What is
the ratio of the radius of the circle inscribed in
it to the radius of the circle circumscribing
triangle ABC?

ABC & FHG[adTg HAFIOT Fagst g For
ABC =90 33t du1 AB = 12cm @.#. 2]
fB8sr ABC & Iadaga A Bsam #1389
aRard g @ Bear & reqara 4T @2

a) 6 —2:3v2 b) 2 —/2:42

8. What is the ratio of inradius to the circumradius

of a right angled triangle?
F FHHOT Bee F Ia B Ak awd
frsar &1 reqara =24 32

a)1:2 b) 1:/2
c)2:5 d) can’t be determined

9. The radius of the circumcircle of a right angled

10.

11.

triangle is 15cm and the radius of its inscribed
circle is 6cm. Find the sides of the triangle

frlt wador By & aRga A B
15cm 8 3R $8F 3w 3ifha ga & B
6cm%|ﬁ§?@l‘ﬂﬁﬁmﬁl

a) 30,40,41 b) 18,24,30
c) 30,24,25 d) 24,36,20
PQR is a triangle in which QPR =

90°, PQ = 24cm, PR=32cm and QA=
AR, QT is an angle bisector of ZPQR. Find TA.

PQR & faysr § fw# QPR =90°, PQ =
24cm, PR =32cm 3R QA = AR, QT2PQR
T FIT WHAGAATIS g| TA & AT AT
2

P
.
R
Q A
100 140 130 120
a0y b0 d  d T

In a right angled triangle the distance between
orthocenter and incenter is 2v/2 cm and the
semi-perimeter of the triangle is 15 cm. Find
the distance between centroid and
circumcenter of the triangle.

uF FAFIOT BT # e iR sadE &
d #r gt 2vZem @ 3R Bee @ ek
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ik
> B

aRATT 15 cm §. BT & Feaew 3k wlids
¥ &g frael gt g

13 13 13
a)— b)— o d)

In AABC,2C =90°, M and N are the mid
points of sides AB and AC, respectively. CM
and BN intersect at a right angle at D. If BC =
9cm, then what is the length (in cm) of BN?

AABC A, 2€=90° & M 3k N FHAW:
st AB 3R AC & weafEg §| oM 3k
BN @& g@l # fg D W §HAFIT W
yfaedfea @ 8| I BC=9cm &), ar
BN & da1$ (cm ®) fFa« g

S EN )9v3 d)3V6

Answer Key
1.D 2.C 3.B 4.B 5.A
6.A 7.B 8.D 9.B 10. A
11.A [ 12.A

Exercise - 15

circumcenter and ' the
centroid of a triangle are collinear, then the
triangle may be

1) Isosceles I1) Right angled

Ill) Equilateral

R el Pre & o dg, Wew 3
Fegd @ § @ P & awd &

1) ;mzﬁa@ 1) FHHIOT

1) §HTE

a)landll b) land Il

c)l,lland Il d) Only IlI

2. ABCis an isosceles triangle such that AB=AC and

2B = 35°. AD is the median to the base BC.
Then 2BAD = ?

ABC T FHefaaTg FlsT § foreat aB=Ac 3R
¢B=35° §| AD, 3TYR BC & 3FIW TH
AfegeT & @ «BAD = ?

a) 65 b) 55 c) 45 d) 60

3. let ABC be a triangle in which AB = AC. Let L be

the locus of points X inside or on the triangle
such that BX = CX. Which of the following
statements are correct?

1) L is a straight line passing through A and
incentre of AABC ison L.

2) L is a straight line passing through A and
orthocentre of AABC is a pointon L.

3) L is a straight line passing through A and
centroid of AABC is a point of L.

AT oNfSd ABc U fXefer § fow# 4B =
ACE| 7T AT Ve F ey AT 39F
I LRt x #1 v Requy 39 9&R
g & Bx=cx | e & @ Flawr FuaT TH
5

1)L v el Y@ @ S Rig AR e @
3R AABC &1 3va:de L9 Rua B

2)L v el Y@ 7 S g AW Teret @
AR AABC #1 aFadg LR Rua )

3)L v Hieh Y@r ¥ Y gAY ot

3 AABC &7 Fega LW Bua g

a)land 2 b)2and3
c)land3 d)1,2and3

4. In an isosceles triangle ABC, AB = AC and AD

is perpendicularto BC. If AD = 12 cm and the
perimeter of AABCis 36 cm. Then BC =?

amj%argﬁgsrABcﬁ, AB = AC 3R AD,
BC & odad &l I 4D = 12cm 3R
AABC &1 9R#ATT 36 cm @, @Y BC &1 oaEE

(@Y. #) 7T R

a)5 b) 12 c)10 d) 13
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5. In a triangle ABC, AB = AC. D is any point on a)3 b) 8 c)8 d)6

BC. Find the length of BD if AB =
17 cm, AD = 15cm, CD = 4 cm.

fasrer ABCH AB = AC 8| HomBC W f3g D
fya | BD Y FFa$ gdT FA IR 4B =

17 cm, AD = 15cm, 31X CD = 4cm §|

a) 16 b) 12 c)18 d) Can’t say

6.In LABC, AB = AC and D is a point on BC. If

BD = 5cm, AB = 12cm and

AD = 8 cm, then the length of CD is:
¢ABCH, AB = ACHR DBCWR w&F fig

gl Ife BD = 5 ¥dHeR,
AB = 1288 3R 4D = 8O &,

ar cD F JaE FAT §?
a)14.8 cm
c)l6cm

b)16.2 cm
d)14 cm

7. In triangle ABC the length of the sides AB, BC,

and AC are 12, 18 and 20 units, respectively. D
is a point on AC such that AB = DB. The value
of the ratio AD:DC is

fasrer ABCH sfamatt AB, BC AR ACHY wFaTE
FH 12,18 3K 20 337§ 7| fig o= AC
W 3 YFR ¢ & AB=DB | AD:DC&HT AT
AT |

a)11:9 b)9:11

c)7:8 d)8:7

8. AD is perpendicular to the internal bisector of

2ABC of AABC. DE is drawn through D and
parallel to BC to meet AC at E. If the length of
ACis 12 cm, then the length of AE (in cm.)

AD TSt AABCE T LABCHF HIOT
FAGSANTSF W a7 o9 ¢| DETg D@
FH YHR ST 1T § & I§ BCH FATE
¥ 3R Ac#H g Ew e ¥ 3R s
ACH aFaTE 12 cm T dY AESY FFETE (cm
#) gar |

9. In AABC, M is the midpoint of the side AB. N is

10.

11.

12.

a point in the interior of AABC such that CN is
the bisector of £C and CN 1 NB. What is the
length (in cm) of MN, if BC = 10 cm and
AC =15 cm?

AABC ¥, 85 AB F1 #egfag M & N F
var fdg § S AABCF 3 39 vER Rua
% fF CN zcw wagfRues 7 3R oN L
NB ] 9% BC=10cm 3R AC=15cm,
@ MN & da1€ (cm ®H) fhasr &2

a)2 b) 5 c)4 d)2.5

If in APQR, P =120°, PS L QRat S and
PQ + QS = SR, then the measure of 2Q is:

APQRA, «P =120°, SUWX PS L QR3R
PQ + QS = SR @ ,Q#Fr &I F4T g2

a) 20° b) 50° c) 40° d) 30°
D and E are two points on the sides AC and BC
respectively of AABC such that
DE = 18 cm, CE = 5 cm and ¢DEC =

90°. If tan2ABC = 3.6, then AC: CD =

fsger ABc #r sramat Ac 3k scw fig D
IR E 39 - Cory g &
DE = 18¢m, CE = 5cm 3T 4DEC =

90°8] 3R tanszABC=3.6% @
AC: CD =

a)BC: 2CE b)2 CE: BC
c)2BC: CE d)CE: 2 BC

D is a point on side BC of a AABC such that AD

1 BC. E is a point on AD for which AE:ED= 5:1.
If 2BAD = 30°and tan LACB =
6 tan £DBE, then LACB is :

38T AABC Y 85T BCWR D Uw fig 3@
YFR & 75 AD LBC | E,ADW & fig 3@
9FR & & AE:ED=5:1%| 3PR 2BAD =
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30° 3 tan2LACB =6tan«DBE & ar
/ACB =?
a) 30 b) 45 c) 90 d) 60

Answer Key
1.C 2.B 3.D 4. C 5.A

6.C 7.A 8.D 9.D 10.C
11. A 12.D

Exercise - 16

1. The circumcenter, Incentre, orthocenterand the

centroid of a triangle are one and the same
point. The Triangle must be:

el Bger 1 aR&es, sedFeg, dFadeg
3R Foow v & fawg BT §1 B g
ifgw:

a) Isosceles b) right-angled

Mﬂﬂ'ﬁ'ﬂa’@l‘ﬁ?:ﬁw&m%ﬁ
TAF ARTFHT Y JFa$ AT |
a) 12 b)- c) 4 d)9

5. If ABC s an equilateral triangle and D is the point

on BC such that AD L BC, then AB: BD =
ABC TF FasSh fosr ¢ 3R BCW Dww

fig 5% %R ¢ #AD LBC § @ AB:BD =
a)1:1 b)2:1 c)1:2 d) 3:2

6. AABC is an equilateral triangle. D divides BC in

the ratio 1: 2. The find the value of 7AB?-
qﬁAABcww-q-rgﬁaFr%Dagch
# 1:2 A fsnfaa Fwar &) ar 74B2 &1
AT 8-

a)9DC*> b)8DC* c) 7AD* d) 94AD*

c) Right-angled isosceles d) Equilateral

7. Let ABC be an equilateral triangle. If the side
BC is produced to the point D so that BC =
2CD, then AD? is equal to:

HIT W ABCUH WAy BTt §| 39 s7sm
BCH g D 3@ @ Ferm Jv fF

BC = 2CD & a AD> &1 gNm?
a)3CD? b)4CD?> ¢)5 CD?

2. If only two medians of a triangle are equal, then
the triangle is:
a) Right angled b) Isosceles
c) Equilateral d) Scalene

PR Rt B i Faa Q@ AftawER
A g Y fser g
a) HHOT
C)Wﬂﬁﬁ

d) 7 CD?
b) FHEYS[SH

d) fawarsySit

8. AABC is an equilateral triangle. D is a point on
side BC such that BD:BC =1:3. If AD =

51/7 cm, then the side of the triangleis:

AABC, GHeTg fs(er | 8 BCW U g
D 39 YoR ¢ & BD:BCc=1:3 & 3f
AD = 5V7 cm ¥, aY e[ #Y s[a AT F|

3. If all the medians of a triangle are equal, then
the triangle is:
a) Right angled b) Isosceles
c) Equilateral d) Scalene

PR R P A al AaEd w@e

. a)12cm b)15cm ¢)20cm d)18 cm
gl dr g gem:
a) GHSBIUT b) AT 9. Let ABC be an equilateral triangle. Let BE L CA
o
N R N ting CA at E, then (AB% + BC? + CA?) i
. X d) X meeting a en ( + + ) is

equal to:

4. The inradius of an equilateral triangle is of
length 3cm. Then the length of each of its
median is
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ABC U §H fXfer 3| 3WRBELCASY &

CA ® E W fAdar & af (4B + BC? +
cA®»)=?
a) 2 BE? b)3 BE?

c)4 BE* d)6 BE?

In the given figure, ABC is an equilateral
triangle. Two circles of radius 4cm and 12cm
are inscribed in the triangle. What is the side of
an equilateral triangle?

& 7§ angfa # Asc vw AT Pl @
4cm YT 12cm BT a1 & ga fBeger &
sifa & waaIor Besr A e FAT B2

b) 32v/3 ¢)24V3 d) 64+/2

) 32
A7
If the length of diagonals DF, AG and CE of the
cube shown in the adjoining figure are equal to
the three sides of a triangle, then the radius of

the circle circumscribing that triangle will be:
G F

D A
a) Equal to the side of the cube
b) v/3 times the side of the cube
1
C) \/_ﬁ
d) impossible to find from the given
information

ffu arv ga1 & fawIon DF, AG 3k cE#Y
aFars IR frdlr Beger @ fier et &
A § @ 3w Bger ¥ afga @ Bean
F41 g

a) Tl Y 3T & FATT

b) =T I #IT & /3 oM

c)\/i§
d) & ¢ FTEF F YR W g Adl
Asre AT 4T

12. In the given figure, a circle touches the sides of

the quadrilateral PQRS. The radius of the circle
is9cm. 2RSP = 2 SRQ = 60" and 2PQR =

£4QPS = 120°. What is the perimeter (in cm)
of the quadrilateral?

& o npfa H, F ga IS PQRS A
qSII B TG T T §| g H B 9
cm&| . 2RSP=2SRQ = 60° @ <PQR =
£QPS = 120" 3| Tqsr F IRATT (cm #)
F1 2

S R

a)36V/3 b) 2443 c) 48V3 d) 32

Answer Key
1.D 2.B 3.C 4.D 5.B

6.D 7.D 8.B 9.C
11. A 12.C

10.C

Exercise - 17

1. It is given that the area of a triangle is A. The

values of its perimeter, inradius ,circumradius
and the average of the lengths of the medians
are respectively p, 7, R and d. The ratio A:p is
equal to:

Ig foar ST € F v Pger #1 &Awd A
21 s afiAm, s=a:Bsar, aRfBsr ik
mitger N wa d9E F AW FAT:
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p, v, RAR d & A IqIT A: p & T a) 160cm b) 140cm
3. c) 120cm? d) None of these
a) (R+1r)%:d b) r: 2 ) 6. Consider a right—angled triangle with inradius 2
c)r:1 d) (R—m)*r cm and circumradius of 7 cm. What is the area

of the triangle?

2. If the lengths of the sides of a triangle are in the BT 2 A 3k 7 9 Y R F

ratio 4:5:6 and the inradius of the triangle is 3

cm, then the altitude of the triangle AT TF FADIT ﬁa,ﬁr W R H ﬁa,ﬁr

corresponding to the largest side as base is: FT 8B frdaT &2
Wwwﬁaﬂﬁﬁmﬂ a) 32 sq cms b) 31.5 sq cms
HIT 4:5:6 ¥ 3N 3w By F1 sfePe Slo2.5 sdcms d) 33 sq cms

3cm§ A WEW @S ¥ & IR 4 FFa 7. If the semi perimeter of a right angle triangle is
$r m Ald TFl"I 120 cm and length of smallest median is 56 cm
a)7.5 b) 6 c) 10 d)8 then, find the area of triangle.

IR A wawlor fasger w1 rduReng
3. If the inradius and circumradius of a right angle 120cm %. sk m TS B ATTET )

triangle are 3cm and 10cm respectively then

find the area of the triangle? JFaTg 56cm e oY 59 ﬁ'{ﬁl’ &I &T%el el
I vF gERr B F aeafear sk |
qRfar A 3cm 3R 100m § @ BT a) 1008 bF1200 <) 960 d) 840
F1 &1 AT H? 8. If the lengths of the sides of a triangle, with area
2 2 2 2
a) 69 cm” b) 56 cm” ¢) 65 cm”  d) 75 cm 336 cm? and perimeter 96 cm, are in the ratio
10:17:21. Its circumradius will be
4. Th? m-rad.lus and circumradius of a rlght-aflgled 336 cm? 8FFd T 96 cm IRATT IId TH
triangle is 3 cmand 12.5 cm. respectively. e
The area of the triangle is: ﬁ'&lﬁ' r 31311'# 10:17:21 & Jequrd # g
fret wweior Prepe At e B 3k sadT IR 7 a Y
afRfasar A 3 em 3R 12.5 cm §l ﬁagsr a) 85 b) 42.5 c) 21.25 d) 22
1 &1 EZI 7 ﬁ' ) ) ) 9. In a triangle ABC, the lengths of the sides AB
a) 64 cm” b) 48 cm” c) 88 cm” d) 84 cm and AC equal 17.5 cm and 9 cm respectively.
Let D be a point on the line segment BC such
5. The semi perimeter of a right angled triangle is that AD is perpendicular to BC. If AD = 3 cm,
40 cm and the shortest median is 17 cm. What then what is the radius of the circle
is the area of a triangle which has the largest circumscribing the triangle ABC?
H H i ? . ¢
median as its longest side? Rt ﬁﬂi’GTABC i 31’3"311‘ AB &R AC &

wmﬁgﬁﬁ'aﬁi—m40cm%
ﬁmmﬂcm%Wﬁﬂ'ﬁl’W
#Fe qaTT e ae a@ sen wad
S grelr #AfegeT 8|

aFaTS FAA17.5 cm #R9 cm §| gD o=
BC W 39 YR ffua & @ AD s=TBC ¥
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& B 3WRAD =3 cm e a BT ABC ¥ A
afiga i Bear fae g
a)17.05 b) 27.85 o
c) 22.45 d) 32.25 e) 26.25
A circle of radius r is inscribed in a regular
polygon with n sides ( the circle touches all B-' c
sides of the polygon ). If the perimeter of the 60
. . a) 12 b) — 7.5 d) 10
polygon is p, then the area of the polygon is : 7

nﬂmﬁmWWﬁﬁ?ﬂTrﬂ
waiaﬂaa‘imw%(a’ragapraﬁrmﬁ
qo3t FN T FIAT §) | A SgIT H
Qﬁwmp%eﬂagagsrmﬁmm%?

a)(p + n)r b) 2p -n)r

% d) None of the above
In the given figure AB = 24 cm, BC =7 cm
and 2B =90° Find the radius of the

semicircle?

e o T #4B = 24 cm, BC = 7.em 33X
¢B =90°¥. A 3tiger A Bsar AT H

A

B C
a)6.25cm b)5.25 cm
c)6cm d)8.25 cm

In the given figure AB = 15cm, BC =
20 cm and 2B = 90° . Find the radius of the
semicircle?

fRw arv RAF A AB=15cm, BC=20cm
3 2B =90°%. & Itiga i Bear a1
Coy

13.

14.

15.

16.

If the ratio of sides of a triangles is 5:7:8. Find
the ratio of circumradius to inradius.

oy Pregar & a3t F1 T 5:7:8 B
suh qfdsar ve aeaRear F1 ey
FT geIm?

a)10:3 b)3:10 c)7:3 d)3:7

The circumference of a triangle is 24 cm and
the circumference of its in-circle is 44 cm. Then

the area of the triangle is (taking T = g)

et ﬁ?iﬂ' &1 IRAT 24 cm @ 3R 9F
3o gd F 8T 44cm B s &1 awe
qaT |

a) 56 square cm
c) 48 square cm

b) 84 square cm
d) not possible

If the circumradius of an equilateral triangle be
10 cm, then the measure of its inradius and Ex
radius is

3R forelT wHeTg Asger T IREAT 10em
g @ gwar sia:Rsa sk afRfis w @
|

a)5cm,15cm
c)20cm, 40 cm

b) 10 cm, 20
d) 5v/3 cm, 15v3 cm

For an equilateral triangle, the ratio of the in-
radius and the ex-radius is

frlt wwerg P A aedsReEr Ak
aRESAT F1 T Taqr F=A|
a)l: 2 b)1:+2
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d)1:+3

c1: 3

PQR is an equilateral triangle whose side is 10
cm. What is the value (in cm) of the exradius
of triangle PQR?

PQR T FHaTg Fefsr & FSIh sgam 10 cm
g Beer & afRfisar &1 7 (em #) F

&

a) % b) 10v3 d) 5v3

10
C)ﬁ
Which of the following statements is/are
correct?

1) The point of intersection of the
perpendicular bisectors of the sides of a
triangle may lie outside the triangle.

2) The point of intersection of the
perpendicular drawn from the vertices to the
opposite side of a triangle may lie on two sides.

fAfR@a sl Faa a7

1) it By #fr yemdt F
araurefanTeRl w1 yfaedes g 3@
frsger & ameT & wFar B

2) frelt Refer & ofist @ worer arelr e
W e @ Frauegauea @
yfaedegar g ar sponat @ & & &

a)Only 1 b) only 2

c) both 1 and 2 d) Neither 1 nor 2

In a scalene triangular park, a pole is situated
and angle of elevation from the corners to the
top of the pole are equal then the pole is
situated on which point of triangle-

a) Centroid b) circumcenter

c) Incenter d) Orthocenter

forelt fawaeTg PRSTER 9F ABCF SR
F @ T @er 3 I | oA @ @
& @Y T 3e1geT T AT @, a AABC
A N FT 9g FEl W §-

20.

21.

a) g W
¢) Hd:FE W

b) IR&Feg W
d) o Fg W

A triangle PQR is formed by joining the mid
points of the sides of a triangle ABC. O is the
circumcenter of AABC, then for APQR, the
Point O is:

a) Incentre b) Circumcentre

c) Orthocentre d) Centroid

UF {387 PQR, g T8 ABC #T T3
& 7ty fig faa & ot § &g o, A4BC
w1 aREg & @Y APQR & AT #
a) 3y b) afREg
c) AFThG d) Fegh

The point A of a triangle ABC moves parallel to
the straight line BC. Which one among the
following also moves along a straight line
parallel to BC?

a) The Circumcenter b) The Centroid

c) The Incentre d) The Orthocenter

s ABC #1 g A, @t ¥@m BC &
AR IodT ¢ Arff@a & @ sia @
s "l @1 BC & FAER TodT &2

a) AETHG b) Frge

¢) IeaHa d) dFEHeG

a)d b) b c)c d)a

Answer Key
1.B 2.A 3.A 4.D 5.C
6. A 7.C 8.C 9.E 10.C
11.B |12.B [13.C |14.B |15.A
16.C |17.D |18.C |19.B |20.C
21.B

Exercise - 18
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1. In quadrilateral ABCD, 2C =72°and 4D =

28°. The bisectors of ZA and 2B meet in O.
What is the measure of ZAOB?

TF G ABCD H, 2C=72°3R «D=
28°%| <A 3R 4B & gRwe® o W fAea

2| 2A0B Y AT FIT FE?
a)48°  b)54° c) 50° d) 36°

2. In quadrilateral ABCD, the bisectors of £A and

/B meet at O and ZAOB = 64°.2C + 4D is
equal to:

UF G ABCD H, <A IR LB @
gfaemerd O W fAdar § AR 2408 = 64°

g a 2C+ 4D =2
a)136° b)128° ¢)116°  d)148°

3. In a quadrilateral ABCD, the bisectors of 2C and

2D meet atE. If £CED =56° and ZA = 49°, then
the measure of 2B is:

UF dgHst ABCD H, 2C IR D &F
gfasmer® £ 9 fAea 8| af& 2cep =56° 3R

(A=49° A ~B &I AT §:
a)71°  b)54° c) 63° d) 67°

4. ABCD is a parallelogram in which diagonals AC

and BD interest at O.ifE, F, G and H are the mid
points of AO, DO, CO and BO respectively, then
the ratio of the perimeter of the quadrilateral
EFGH to the perimeter of parallelogram ABCD
is:

ABCD T FHTeaY aqeisr ¢ foraa Rt Ac
3R o T gEr # fig 0 W wfazdRa
T 8| WgE F, 6 3T H Faver sEmsit Ao,
DO, €0 3 BO & #ew g § af Ta T EFGH
& URAM Td FHATH IJHST ABCD &

IRATT FT T T F|
a)1:4 b)2:3 c)1:2 d)1:3

5. ABCD is a parallelogram. P and R are the

midpoints of DC and BC respectively. The line

PRintersects the diagonal AC at Q. The distance
CQ will be equal to

ABCD & HATR I ¢| P iR RFAW:
Dc 3R BC & weafdg &) Y@ PR, AT AC
F QW yaesfea FEt § gt cq fFFaF
TR gri

a) - b) 2> 0) 2 d) 5

6. In a parallelogram ABCD , the bisector of £A

also bisects BC at E, find the AD.

fFft wAaeR wqerABCD A 24 #
wrefases e BC A g E W
argfasTfora I 8| AD fFae gem?

a)AB  b)2AB c) 3AB d)% AB

7. ABCD is a parallelogram. E and F are centroid of

triangles ABD and BDC respectively. Find the
length of EF if length of diagonal AC = 12 cm.

ABCD U §HTeaR I8 8| E 3 Fwaer
ST ABD T BDCH Fewd §| EF Y wFaTs

gdT A IR faFor AC= 12cm )|
a)2 b) 4 c)6 d) 8

8. The mid-points of the parallel sides AB and CD

of a parallelogram ABCD are P and Q,
respectively. If AQ and CP divide the diagonal
BD: into three parts BX, XY and YD, then
which one of the following is correct?

AT TGST ABCD F oS3t AB 3 CD
& wew fig wAY PR o | 3P40 3k
CP @I BD &' d\sT et BX, XY 3 YD
Ao f AT & @ Flaar @ &

a) BX # XY # YD b) BX = YD # XY
¢)BX = XY =YD d) XY = 2BX

9. ABCD is a parallelogram. E and F are mid-point

of side AB and CD respectively. DE and BF
intersect diagonal AC at X and Y respectively.
If AC = 15 cm, find XY.
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ABCD T& §HT=R Iq8er | E 3R F sgammait
AB3R ¢p & wex fag §| DE 3% BF =0t

AC & FAU g x IR v W Fed §)
IMMAC=15cm g a XY 9d1 |

D F C
Y
A E B
a) 2.5 b) 5 c)7 d) 10
In the figure given below, PQRS is a

parallelogram. If AP, AQ, CR and CS are
bisectors of 2P, 2Q, 2R and4S respectively,
then ABCD is a

farr & 7% ampfa A, PQRS & WA
IqHST 8| PR AP, AQ, CR A Cs
HIOT 2P, 2Q, 2R 3RS & gawmes § ar
ABCD gRmm?

P

C

%

A

b) rhombus
d) None of these

a) Square
c) Rectangle

ABCD is a parallelogram. Angle bisector of £A
and angle bisector of 2C cuts extended side DC
and BA at Q and P respectively. If 24 = 50°,
find 2P + 2Q.

ABCD U& §HTeR Iq¥T 8| AR 2C &
FIUTEHAGIINTSS T4t g5 s[on3it DC IR BA
1 FAT RAegat ke W Frea ¥ R
tA=50°8 A 2P+ 2Q =7

a) 25 b) 50 c) 45 d) 100

12.

13.

14.

The lengths of two sides of a parallelogram are
3cmand 10 cm. What is the sum of the
squares of the diagonal of the parallelogram?

AT agsfsr A  seat A w«rS
3 cm AR 10 cm ¥ AR TGt & Fpoif
F Tt FT ARTHA AT HfAT

a) 218 cm? b) 109 cm?
c) 206 cm? d) 169 cm?
In the following figure, ABCD is a square and

ABE is an equilateral triangle drawn on its side.
Find LAFB, if AC is the diagonal of the square.

T = A ABCD U& a9 ¥ 3k ABesw
g FT S W §1 §IN TF FHaTG BT
2| 3R AcsH T FT RAFoT @ @Y LAFB=?

a) 75° b) 60° c) 45° d) 65°
D C
E
F
A B
In the following figure, ABCD is a square and

BCE is an equilateral triangle drawn on its side.
Find 2zDEB.

et R & ABCcD U+ a9 § 3 BCESH
T FT ST W §1 g3 TF FHaG BT
t| «DEB=?

D C
E
A B
a)75°  b)60° c) 45° d) 65°
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If ABCD is a square X is a point on CD, such
that DX = DO. Fin

point of diagonals.
3R ABCD TF T g| fg x3am o

57 9HR ¥ B DX = D0 §| S waT F

3R o fawolt &t wfadfea fig § &t
a)2:1 b) 3: 2 c)5:2 d3:1

ABCD is a square. M is the mid-point of AB and
N is mid-point of BC. DM and AN are joined and
they meet at O. Then which of the following is
correct?

ABCD U&F a3t §| M, AB & iew fig § 3ilx
N, BC FT #eyr fig 8 om AR AN &Y 19 st
Jrar g @ & g o

W e & AT & @ *laar @ 2

a) 0OA:0OM = 1:2 b) AN:MD = 1:1
c) LADM = £ANB d) £ZAMD = 2£BAN

The ratio of £ Aand 2 B of a non-square
rhombus ABCD is 4: 5, then the value of 2 Cis

v% R Fefta @ AT F FT 2L AR LB

FT AT 4:5 § A £ C TaT B

a) 50 b) 45 c) 80 d) 100

ABCD is a rhombus whose side AB=4cm and
£ABC = 120°, then length of diagonal BD is
equal to

ABCD U& WH Iqser § FoI@#H AB=acm 3R

2ABC = 120° ¢ a1 fa=vf BD #r dFa1s ;

a) 1cm b) 2cm c) 3cm d) 4cm

A rhombus of side 28 cm has one angle of 60°.
What is the length of the larger diagonal?

28 cm ST AT HAAGHS FT TH HI0T 60°
g 92 QT i aFaE AT W
a)28(1++V3)em b) 28v2cm

c) 28 cm d) 28v3cm

20.

21.

22.

23.

24,

One diagonal of a rhombus is 8v3 cm. If the
other diagonal is equal to its side, then the area
(in cm?) of the rhombus is:

fredt goaqelsr &1 vF Qe 8V3om.
o g@ Aol gt oo & TR A
THAGYS FT &% (cm? A) A AT F|
a)12v/3 b)24V3  ¢)16V3 d)32V3

Find the difference between the lengths of
both the diagonals of a rhombus with one
angle as 30°, if the side measures 4 cm.

TF GH TIIHS F St Rl i awans wr
I TABT 3R oS Y FFS 4 cm B
3w *or 30° F1 E.

a)4V/6 b)2V6 ) 2v2 d) 4v2

ABCD is a rhombus. A line passing through C
cuts extended line AD and AB at Q and P

respectively. If QD = %AB. Then find the ratio
AB to PB.

ABCD TF FHAJH 8| &g @ g ot
aTaﬁw’\r@Ta,ﬁgéagETAosﬁTABa:‘r
AT gt Q3P Fred & b =
iAB ¥ a AB:PB 9T F|

a)2:1 b)1:1 c)1:2 d1:4

ABCD is arhombus. AB is produced to F and BA
is produced to E such that AB=AE=BF. Then:

ABCD U WH IS 8| ABHIFaF 3 BA
FETH 3H dig 91T FTaT & fOF AB=AE=BF

g e ar:

a) ED > CF

b) ED is perpendicular to CF
¢)ED//CF

d) ED? + CF? = EF?

If ABCD is a rhombus, then :

39X ABCD U §H IJ3lsr gar:
a) AC*> + BD? = 4AB*
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b) AC?> + BD? = AB?
c) AC> + BD? = 2AB?
d) 2(AC* + BD?) = 3AB*?

25. The locus of a point in rhombus ABCD which is

equidistant from Aand Cis

FHIQS ABCD A frelt g &1 figquy &Y
fr faegat A3k ¢ 7o e gt W &

a) A fixed point on diagonal BD

fawot BD W v BT fag

b) Diagonal BD fa&ul BD

c) Diagonal AC fa®or AC

d) None of the above 3dAH & HI$ CE

26. Qis a point in the interior of a rectangle ABCD.

If QA=3cm, QB=4cmand QC =5cm,
the length of QD, in cm, is

AT ABCD ¥ IHeeX QUF fig § | PR
QA=30m,QB=4cm3ﬁTQC=5cm%?ﬂ
QD T cm A FFETE FAT B

a)3v2 b)5v2 c)V34 d) V41

27. ABCD is a rectangle P is a point on the side AB

as shown in the given figure. If DP=13, CP=10
and BP = 6, then what is the value of AP?

ABCD T#F 3TI | P, 5T ABW T fag
s ) & 7 gty A adan ¥ AR

DP = 13, CP = 10941 BP = 68, dl AP
FT AT F4T &2
D C
A B
P
a)VvV105 b)V133 c) 12 d) 10

28. Two friend A and B are standing at one corner

of a rectangular ground. By the time A runs

29.

30.

31.

along the two adjacent sides of the rectangle to
reach the opposite corner, ‘B’ can reach there
along the diagonal path. If A is 40% faster than
B, find the ratio of length and breadth of that
rectangular ground?

ar A Rl A Ok F R T A
W @2 ¥ Bras 7T & A Pgeadt awars
7 diEE ¥ A g WER AX BN aw
ggadr §, 37 & wAF A B Rt @ gr
§I WA A F1A TF TgAdT §] IR A
T Afa B AT T 40% FFET § A 3

Utk Y IFEE T NS FT HJUTT AT F?
a)3:2 b)4:3 «c)5:4d)6:5

If the parallel sides of a trapezium are 8 cm and
4 cm, M and N are the mid points of the
diagonals of the trapezium, then length of MN
is

Ife fordlt aoera A gATA T 8 .
. 3k 4 | A g iR Ma NTHAFEE F
Rwuit & #tg fAeg & & MN A FwaTg

qdET ?

a)12cm b)6cCcm cjlcm d)2cm

In a trapezium ABCD, DC |
AB, AB = 12cm and DC = 7.2 cm. What
is the length of the line segment joining the
mid-points of its diagonals?

TH AR ABCD #,
DC || AB, AB = 12 ¥+t 3R
DC = 7.2 3| fawdt & wew-fig =
AEA gre [WT-Gs H qFES FAT 82
a)2.6cm b)4.8cm c)2.4cm d) 9.6 cm

Consider a trapezium ABCD, in which AB is
parallel to CD and AD is perpendicular to AB. If
the trapezium has and incircle which touches
AB at E and CD at F, where EB = 25 c¢cm and
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FC = 16 cm, then what is the diameter of the
circle?

FHAFT TGHT ABCD ® 8T AB 8T €D
& FATR § AR AD ST AB F T R
IR 5H FHEFT IJHS FT U IHec:gd ¢
S AB#I fig £ 3T co #T g F X Frear
¢ e EB=25m3ARFC=16cm §

gd FT M qdT FU|

a)16cm b)25cm c)36cm d)40cm

In trapezium ABCD ,AB || DCand DC = 2AB.
EF drawn parallel to AB cuts AD at F and BC at

BE 3 _. AB
ESUCh thatE—C—Z. Fmd E
AT aJeST ABCD H,AB | DCHRDC =
2AB &| EF Y fF AB & WHITAT ST ATAT
¢ AD ® g F oX 3R ofam BC F g E
BE 3 AB
stmm%ﬁ?,g—c—;%l =72

10 4 7

3
7 c)7

A cyclic Quadrilateral ABCD is such that AB =
BC, AD = DC and AC and BD intersect at O.
If £LCAD = 46°, then the measure of ZAOB is
equal to:

UF THT IgHS ABCD 38 YFR § &
AB = BC, AD = DC%, AC3R BD, OW
yfaede wa & 3R BD, «B ®Wr Fr
FAGIANTSF ¥ IR 2CAD = 46° §, @
LAOB &T A9 &

D,

A B

a) 84° b) 86° c) 90° d) 80°

34. Which quadrilateral is formed by joining the

35.

36.

mid-points of all the sides of a

drr & ol Tt A gest F Avw g
e & sladt aqels s«

a) Quadrilateral il?_l,"ﬂi?rl‘

b) Parallelogram AR il?_l_?iﬁ'

c) Rectangle Aad
d) Rhombus GH il?_l,"ﬂiﬁf

e) Square T
f) Isosceles trapezium mﬂ@ HAAF

Which of the statement(s) given below is/are
correct for a quadrilateral?

et T F wfta fafefEa
FlTa/FTE FUT T ¢ ?

1) The line segments joining the mid-points of
the two pairs of opposite sides bisect each

faadia
ot & AT faegalt # Sz arelr @
tF Wy @ ylasdew g w wwefanfaa
FTl B

2) The area of the quadrilateral formed by

joining the mid-points of the four adjacent
sides is half of the total area of the

quadrilateral. Y g'éi 313”311‘ & 7Y ﬁg.‘-)ﬂ‘
HI S5l I FIal qTed TAJST FT ATBeA T3

TJST F TG FT AT
a)Only 1 b) only 2
c)Both 1 and 2 d) Neither 1 nor 2

other at the point of intersection.

Let ABCD be a rectangle. Let P, Q, R, S be the
mid-points of sides AB, BC, CD, DA
respectively. Then the quadrilateral PQRS is a:

A @ ABCD W& I @ fawg
P, Q, R, SHAY A3 AB, BC, CD, DA%
#ey fawg & oY 98T PQRS ¥-

a) Square Cr
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b) Rectangle, but need not be a square 3Tdd,

W & 78 fF T g

c) Rhombus, but need not be a square

A TG, W I A & 7 @
d)Parallelogram, but need not be a rhombus
AT TP, TW I A 6 7o el
§

ABCD is a parallelogram. If the bisectors of
thezA and 2C meet the diagonal BD at points
P and Q respectively, then which one of the
following is correct?

ABCD U& §HAAY Ig¥e ¢| 3R 24 3R
<€ ¥ gfasmeF fawet sp# &g P3lR @
W Aed & ar @ & @ Fiawr @ 2

a) PCQA is a straight line (PCQA Ts Hieflt Y@

%)

b) AAPQ~ACQP
c) AP = CP

d) AP = AQ

ABCD is a parallelogram, P and Q are the points
on the diagonal AC such that AP=QC, then
quadrilateral BPDQ is a :

ABCD & WHTeaR Iqsfs ¢ P 3R qfawot
ACWR ar fg 8 a1f Ap=ac @Y I3 BPDQ
T

a) Trapezium HHAF

b) Square 3T

c) Parallelogram HAATR

d) None of thesegﬂﬁ' q P CE

AB and CD are two parallel lines and a
transversal PQ intersects AB and CD at M and
N respectively. The bisector of the interior
angles form a quadrilateral :

AB 3T cD & §AFMR @w § IR PpQUus
e @ g S ABIT CDF MTAT N

40.

41.

Fledl § @ HedARF FIT FHG ANTSF
FrTd! TS AT §?

ATd
b) Square Cr
c) Parallelogram AT

d) None of thesegﬂﬁ' qT FS Tl

a) Rectangle

The measures of the angles of a quadrilateral
taken in order are proportional to 1:2:3:4, then
the quadrilateral is :

frel aqgeler & AT F AT 1:2:34 F
e o ¥ At T ¥

a) Parallelogram HHTedAX

b) Trapezium HHF

ad

d) Rhombus qHAdS

Q29

c) Rectangle

If ABCD is a quadrilateral whose diagonals AC
and BD intersect at O, then

3P ABCD U Tqser ¢ fows ot Ac
3R BD U#w gy F g o W wfa=sfa
wa § ar

a) (AB + BC + CD + AD) < (AC + BD)

b) (AB + BC + CD + DA) > 2(AC + BD)

c) (AB + BC + CD + DA) > (AC + BD)
d) (AB + BC + CD + DA) < 2(AC + BD)

Answer Key
1.C 2.B 3.C 4. C 5.A
6.B 7.B 8.C 9.B 10. C
11.B 12. A 13. A 14.C 15.D




(B) coaching center Download the App now & get: et
X
=  The Best Paid courses in affordable price with QRPs (Only courses with QRPs) @_‘fﬁi’lﬂ@
=  FREE structure PYQs (All previous year papers at one place in structure way) "#.. f-ﬂ.‘_
*  FREE VOCAB quizzes (Vocab BOOSTER to boost your vocab) I?E-‘ ! (=)
ByBhutesh Sin ier = FREE MOCK TESTs (Free full mock tests & sectional mock tests) @' v?: ﬁ
3 times CGL selected - FREE MONTHLY CURRENT AFFAIRS PDFs with quizzes (Quiz is the best format to remember any thing) oddeBas.

16.B 17.C 18.D 19.D |20.D
21.D 22.C 23.8B 24.A | 25.B
26. A 27. A 28.B 29.D |30.C
31.D 32.D 33.C 34. * 35.C
36.C 37.8 38.C 39.A |40.B
41.D

Question No — 34

a. Parallelogram | b. Parallelogram | c. Rhombus

d. Rectangle e. Square f. Rhombus

Exercise - 19

1. Find the no. of diagonals in a 10 sided polygon?

10 o= sgeqer & Rwon & & A
|
a)65  b)21 c) 12 d) 35

2. A polygon has 44 diagonals. The no. of sides it

have is
frelt sgereT H 44 RFOT §| st A
HELT:
a)8 b) 11 c) 4 d) 12

3. The difference between the exterior and interior

angles at a vertex of regular polygon is 150°.
The no. of sides of a polygon is

forelt 7@ wgefer & U ofiY W gES
as‘ruraaﬂaﬁmas‘rormaimmm%wggsr
dY S[T3T A HEAT:

a)10  b)15 c) 24 d) 30

4. Each interior angle of a regular polygon is three

times its exterior angle, then the no. of sides of
the regular polygon is

fredlt w# Tgas F1 UAF HidRS FoT
sod Al FoT F A ¢, @ 3@ TS
$ et Hr FEAT AT F

a)9 b) 8 c)10 d)7

5. If each interior angle of a regular polygon is

(128 ;) °, then what is the sum of the number

of its diagonals and the number of its sides?

afe el FHegIS F1 YA AdaRS Hor
(128§)° ¥ O 3% Rwul i gE 3k
3@ STIAHT T FEAT FT AT FAT 2

a) 15 b) 19 )17 d) 21

6. If the sum of all interior angles of a regular

polygon is 1080°, the no. of sides of polygon
is:

fret o sgis & el ImaRs Fon @
S5 1080° | 3T HT HEAT TAT F|
a)6 b) 8 c) 10 d) 12

7. The sum of all interior angles of a regular

polygon is twice the sum of all exterior angles.
The no. of sides of polygons is

et w7 agsger & wsht AR+ Hoi
Stz wet aed FOit F N3 FT AT P
qgeeT Y AT B HEAT:

a)10  b)8 12  d)6

8. A, and A, are two regular polygons. The sum of

all the interior angles of A; is 1080°. Each
interior angle of A, exceeds its exterior by
132°. The sum of the number of sides A; and
AZ is:

A I 4, & A wger Bl A, & @
AR U FT IRT 1080° TN A, FT TAH
HTARE HIUT, 3G 98T HIT F 132° 30+
gl Ay 3R A, F st F wEAm F oA

fFdar geme
a) 21 b) 22 c) 23 d) 24

9. The no. of sides of two regular polygons is in the

ratio 5:4 and the difference between each
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interior angle of the polygon is 6. Then the no.
of sides is

&Y WA ags[si Y ST FT AU 5:4 %
agT ST & 3TdaRF FI0I FT 3T 6 §| 5
axar @ aemat v wEam

a)15,12 b)5,4 c)10,6 d)20,16

Two regular polygons are such that the ratio
between their number of sidesis 1 : 2 and the
ratio of measures of their interior angles is 3 :
4. Then the number of sides of each polygon
are

& WA wgsel W § I spemat A
HEAT FT 39T 1: 2 § 3R 30 3
FON F AT FT AT 3: 4 ¢ | TAF
age(el 1 S[eM3T HY FEAT IART ?
a)10,20 b)4,8 ¢)3,6 d)5,10

Ratio of no. of sides of two regular polygons is
5: 6 and the ratio of their each interior angle is
24:25. Then the no. of sides of these two
polygons are

& §H TgIST Y ST T HAU 5:6.
agr axat & Hale Hol T Hqara 24:25
¥ 51 Al agagal Ay semait A FeAr A
|

a) 20,24 b)15,18

c)10,12 d)5,6

There are two regular polygons with number of
sides equal to (n—1) and (n+ 2). Their
exterior angles differ by 6. The value of n is

& WA aguell A S[em3t H HEA (n-
1) 3R (n+2) | sF TR FOT FT HR
6 | n&T AL
a) 14 b) 12

)13 d) 11

Measure of each interior angle of a regular
polygon can never be:

14,

15.

16.

17.

forelt & wgeper &1 aRs F0T FET A

FHieTaT g g TR

a)150 b)105 c) 108 d) 144

In a polygon, five interior angles are 172° each
and all remaining interior angles are 160°
each. Find the no. of diagonal.

frelt wgers &, afaRe aiw o 1720 §
IR arhr @l 3TARF F1T 160° §| TG
& Ao i FEar aqnt|

a)152 b)170 c) 189 d) 209

A closed polygon has six sides and one of its
angles is 30° greater than each of the other five
equal angles. What is the value of one of the
equal angles?

UH &g I HT 6 ST § AR FHH UH
FOT_qrhT gt gy @A Fon J 30°
SITET & 37 |HATRT FON & F F FT AW

F4T ghem?
a) 55° b) 115° c)150° d)175°
If the interior angles of a polygon are in A.P.

with common difference 5° and the smallest
angle 120°, then the number of sides of the
polygon is:

IR 4l agseT & IARF HIT FAR
Aoy # g ST Fem 3ax 508 A e
BIET T 120° § & 38 TgIHT Y 30
1 TEAT T
a)9or16 b)9

c)13 d)3or16

In the given figure, ABCD is a square. BCXYZ is
a regular pentagon and ABE is an equilateral
triangle. What is the value (in degrees) of
£LEBZ?

& a1$ mgfa #, ABCD UF T , BCXYZ TH
TOs[er § AT ABEUH TH T B
& AT (Bl &) w2 &2

LEBZ
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D
E C
A B
o o o [o]
a)102 b)98 ¢) 78 d) 64 a)66°  b)48 c) 54 d) 72

PQRST is a regualr pentagon. If PR and QT 21. ABCDE is aregular pentagon. Angle bisector of

intersects each other at X, then what is the
value of (in degrees) of LTXR?

PQRST T | 9a3[e ¢| If& PRAUT QT UFH
g A x W yfdeda #d ¢, al LTXR &

AT F41 2 (Bl &)

a) 98 b) 90 c)72 d) 108

ABCDE is a regular pentagon. Its sides are

extended as shown in the figure. The value of
£ABC+22EGD+3.BA] . .

6
ABCDE U §H Gafsr g| SHWHT 33T H

FFld # T IFER FoET S #

tABC+2£4EGD+34BA
- J 1 AT &

J |

G

a) 45° b) 30° c) 75° d) 66°
ABCDE is a regular pentagon. O is a point inside
the pentagon such that AOB is an equilateral
triangle. What is ZOEA?

ABCDE U WH Ta3al g1 O Gasal & e
v g § S % AoB ve g B B
LOEA FIT gI9m?

22.

23.

2BAE meets CD at M. Angle bisector of zBCD
meets AM at P. Find the 2CPM.

ABCDE U& fAIfdd gushior | 2BAE &1
HIUTHAGANTSH & D I g M W
frear 812BCD #1 wHREfANTSIF ST AM

# g p w Bear 8| 2cPM =

a) 36° b) 44° d) 72° d) 54°

If ABCDEF is a regular hexagon, then what is
the value (in degrees) of ZADB?

If& ABCDEF U §H WIS §, dl ZADB I
A (3 &) Far &2

a) 15 b) 30 c) 45 d) 60

ABCDE is a regular pentagon and AEXY is a
square. When extended YA intersects BC at W.
Find ZAWC.

ABCDE U&F WA a3l § 3 AEXY 0&F aaf
%. ¢l T YABCH WUT Fiedl §. 2AWC

&1 AW I41ST.

a) 116°

b) 120°

c) 136° d) 126°
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In the figure given below ABCDEFGH is a
regular octagon. Find the sum of all the marked
angles.

&t 2t 3MHfY F ABCDEFGH U&F W& 3rsee[ol
g. woft Rffga A aw ot w1 Jwr

F E
yAWAN
H C
A B
a) 360° b)150° c)135° d)180°
There are 8 equidistant

pointsA4, B, C,D,E,F,Gand H on a circle.
what is the value of 2ZFDH?

UF g9 W 814§ 4, B, C,D,E,F,GA4T H

AT gt 9T § @ LFDH &I AT 4T §?
a)22.5  b)45 )30 d)42.5

PQRS is a square whose side is 16 cm. What
is the value of the side (in cm) of the largest
regular octagon that can  be cut from the
given square?

PQRS, 16cm 3T arell T aef 3| faw arw
FH F FRE AT TPl dTdl Fa@ a3 FH
SIS Y ST FI AT (cm H) FIT 82
a)8 — 42 b) 16 + 8v2

) 16V2 — d) 16 — 8v2

What is the ratio of longest diagonal to the
shortest diagonal in a regular octagon?

TH H FAseHUT H Fad a9 st 3k
qad B RAFT F 39T F41 2

a)v3:1 b)2:1

c2:3 dv2:1

Answer Key

1.D 2.8 3.C 4.8 5.D
6.8 7.D 8.C 9.A |10.D
11.C [12.C |13.B |14.C |15.B
16.B |17.A [18.D [19.D |[20.A
21.A |22.B |23.D [24.D |[25.B
26.C |27.D

Exercise - 20

1. The length of chord of a circle is 70 cm and the

perpendicular distance between center and
the chord is 12 cm. Then the radius of the circle
is equal to

frdt ga 1 far i dF=E 70 cm § T
39 Sfar 7 &g g & & gl 12cm P
ga 1 B A |
a) 35 b) 40

c)41 d) 37

2. The distance between two parallel chords of

length 104 cm and 50cm in a circle of
diameter 130 cm can be

130 cm AW dlel UF ga $T a FATA
Sart i TFaE 104 cm 350 em & 39T%
a1 gt Fr @ Wt 2

a) 99 cm b)21 cm
c)Bothaandb d) 109 cm

3. Two parallel chords are drawn in a circle of

diameter 30 cm. the length of one chord is
24 cm and the distance between two chords is
21 cm. The length of other chord is
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30 cm ST AT T g A & AR Siard a)2v21em  b)vZIcm
c) 2v29 cm d) V29 cm

Tt STt &| v Sflar i aFEE 24 em
aur a=r sfamt & @ @ gt 21 am @)
g Shar A a1 AT F

a)10 b) 18 c)12 d)9

4. Two parallel chords are on the one side of the

center of a circle. The length of the two chords
is 24cm and 32 cm. If the distance between the
two chords is 8cm, then what is the area (in
cm?) of the circle?

& AHAETER A UF g9 & F5 A &
AT &) AT F FFEEE 24 cm dAT 32 em
g1 afy =t Shamt & AeT8 cm#r gl B,
ar g & &A% (cm? H) FAT 72

a)724.14 b)832.86 c)924.12d)988.32

5. AB and CD are two parallel chords of a circle of

lengths 80 cm and 18 cm respectively. If the
chords are on the same side of the centre and
the distance between them is 31 cm, then the
diameter of the circle is

frelt ga @r & gATaR Ssfamt A 3R co
#T FTFTE FAT 80cm 3R 18cmB| IR A
at S Fg & 'F § W 8 A’ sAF
fiT B gt 31 cm e @ g FT AW qar

|

a)82cm b)85cm c)92cm d)93 cm

6. AB and CD are two parallel chords of a circle of

lengths 10 cm and 4 cm respectively. If the
chords are on the same side of the centre and
the distance between them is 3 cm, then the
diameter of the circle is

fredlt ga #1 ar wAEEaR Sfawsit AB 3R cp
N dFEAE FAA 10cm 3R 4cm%‘| IR
gt Sard Fg & tF & RE g 3R
fiT Fr gl 3cm @ A g FT AW TqT T

7. PQ and RS are two parallel chords of a circle of

length 10cm and 24cm, respectively, and lie
on the same side of the centre 0. If the
distance between the chords is 7cm, what is
the radius (in cm) of the circle?

PQ 3RS U&F ga # & AR are g,
ST FEE FAA: 10cm 3T 24cm g, AT
% 0 F TH & o ya § 3y et
¥ dra 1 g 7om &,@ 97 B B (cm

H) Far i
a)11  b)7 )9 d) 13

8. In a circle with center O, AB and CD are parallel

chords on the opposite sides of a diameter. If
AB = 12cm, CD = 18 cm and the
distance between the chords AB and CD is
15 cm, then find the radius of the circle (in
cm)

¥g 0 91 ga #, AR co = & v
ot W AW Shaw | af
AB = 12c¢m, CD = 18 cm 3R Sar A
3iReo & da A gt 15om &, a @ H
B (em®) AT R

a)3v13  b)12 )9 d) 9v13

9. In a circle, a diameter AB and a chord PQ (which

is not a diameter) intersect each other at X
perpendicularly. If AX:BX =3:2 and the
radius of the circle is 5 cm, then the length of
chord PQ is

& gq #, v aw AB I#R F St pa (S
T A §) TH-gay F X Reg W aaa:
Fled § 19 AX: BX = 3:2@ ik qa &
Bsar 5 4. #lL g ar Sfar pq &Y dFEES
qdsT ?

a) 2v/6 cm b) 5v/3cm
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d) 6v/5cm a)12v2 b)8v2 c) 672 d) 4v2
In a circle of radius 3 units, a diameter AB 14. Two circles touch each other internally. Their

intersects a chord of length 2 units
perpendicular at P. if AP > BP, then what is
the ratio of AP to BP?

3 g%1s fsam are vw g9 #, s A R
2 5% arelt Shar &1 g pw wfaedg
FIAT §| 3P AP > BP § a AP 3R BP #T
[T FT gHEIm?

a)3++v10:3—-vV10 b)3+8:3-8
c)3++/5:3-+/5 d) 3:4/3

If two concentric circles are of radii 106 cm and
90 cm, then the length of chord of the larger
circle which touches the smaller circle is

U &g i ar gEt F A’ 106 cm T 90
em ¥ B g0 A T QA gE AW awh
T3 g 1 Shar 1 s w_ A
a)56cm b)28cm ¢)112cm d)100cm

Two circles touch each other internally. Their
radii are 2 cm and 3 cm. The biggest chord of
the greater circle which is outside the inner
circle is of length

ar g UH quY H AHewel! a9 FUL FQ
g 3 BSAT 2em AUT 3em 7| 93 qa #H
a8 93t Sfar N A Hea gT Fr
F HT AFETS:

a)2v2  b)3vV2 c)2v/3 d) 42

Two circles of radius 4 cm and 6 cm touch each
other internally. What is the length (in cm) of
the longest chord of the outer circle, which is
also a tangent to inner circle?

4 cmdYUT 6 cm BT AT Y g TH qW
F e @ T ¢ B g A FE@
Shar St s ga @ @odt Y@r s d @
qFES (em & ) 41 2

15.

16.

radii are 16 cm and 41 cm. The length of the
biggest chord of the greater circle, which
touches the inner circle and is perpendicular to
the lines joining the centers of the two circles,
is

al g9 T qa Y IHewedl a9 T
g 35 fAsAT 16cm dUT 41em B 93 A
I Fed a9 Sfar, S i EwE g A}
b FIA g IR Al gat F Fewt B
Sii=er arell Y@T & dFaad &), Y FFars §
a) 58 b) 40 c) 82 d) 80

Two circles with centres A and B and of radii 3
cm and 2 touch each other internally. If the
perpendicular bisector of segment AB meets
the bigger circle at P and Q, find the length of
PQ.

ar g9 % &g A 3R B aur e s

HAA 3cm 3T 2cm%‘t’$?‘l’ﬂff3ﬂﬂﬁ$
at W Tt A §| 3IPR WS AB FT aF
TrefuTer® 93 g9 & g paur qw
fArerar & ar pQ Y SFETE TaT F|

A4VZ )2V35 d) V35
Two circles of radii 7 cm and 9 cm intersect at

the points A and B. If AB = 6 cm and the
distance between the centres of the circles is x
cm, then the value of x (to the closest integer)
is:

frear 7 @ 3k 9 @ ¥ o gw Mg A
3R B Fed &1 Ik 4B = 6T 3k
qa & &gl & g A g ¥ A xH
A (AFean quits aF) A Ffo:
a)10 b) 15 c) 14 d)12
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The length of the common chord of two circles
of radii 18 cm and 16 cm is 19.2 cm. What is
the distance between the centres of the two
circles?

18 cm 3R 16 cm =3t a@ & gar #i
3gfass Siar Y F9E 19.2 cm gt gal
¥ Fal F fiw & gt AT S| [FreEr
3R fawean quifs & 2]

a)23cm b)28cm ¢)20cm d)35cm

The length of the common chord of two circles
of radii 15 cm and 20 cm whose centres are 25
cm apart, is (in cm)

gl 15 ecm 3R 20cm BR=AT 9 gd e+
W?Wﬁ@ZScm%ﬁ?m

Siar &Y dFaTs FAT {2

a) 24 b) 25 c) 12 d) 20

Two equal circles of radius 4 cm intersect each
other such that each passes through the center
of other. The length of common chord is

4 cm BsAT 9 2 QAT I TH gE A
W YFR yfaedg #Xd § A 9AF 99 &
g & Fg fig & Mwerar 8| saafass shar
N aFEE AT B
a)2V3 b) 4v/3

)22 d) 8

Two circles of radii 7 cm and 5 cm intersect
each other at A and B and the distance
between their centres is 10 cm. The length (in
cm) of the common chord AB is:

7cm AR 5 cm BT At @ T AR BW
# gt 10cm § | 33 afass sfar AB &
TqFETS FIAT BN

2V/74 2v/66 374 4/66
Lara )= A==

In a circle of radius 10cm, with Centre O, PQ
and PR are two chords each of length 12 cm.

22.

23.

24.

PO intersects chord QR at the points S. The
length of OS is:

0 Fg F Wy 10 ¥ s 9@ v g9 7,
PQ 3R PR3 Sfiar & et @ 9 @& A
aars 12 ¥ 81 Po,Sfar QR g s

wHgfafaa Ft §1 0s & d«1$ &
a)2.8Cm b)2.5cm ¢)3.2cm d)3cm

In a circle of radius 10 cm and centre O and PQ
and PR are two equal chord, each of length 12
cm. What is the length (in cm) of chord QR?

fIsar 10 cm 3R Fg oa@ wF g # PQ
3R PREY HAT S §, o & uAF A

JAFEE 12 cm @ Sar QR A FFa1E FAT B2

(Cm #)
a)18.6 b) 19.2 c)18.4 d) 20.4
A line cuts two concentric circles. The lengths

of chords formed by that line on the circles are
4cm and 16cm. What is the difference
(in cm?)in squares of radii of two circles?

U (@ Q Ffesd & @redr &) 39 3@
CERT gl W 1§ 1§ SNarst A dw=E
4cm YT 16cm §| AT gar @ Bt &
AT FT IHAT (cm? H) F471 &2

a) 240 b) 120 c) 60 d) 90

In the given figure, AB = 30cm and CD =
24cm. What is the value (in cm) of MN?

al ¢ A A, AB = 30cm TUT CD= 24cm

&, MN&T AT (cm ) Fa1 2

N

/\)M
a) 18 b) 9

12  d)15
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In two concentric circles, AB and CD are two
chords of the outer circle which touch the inner
circle at E and F. then:

& E&eaw gail #, A 3R cp FEH @ A
ar Shark § ot smaRe gat & fegat €
R FoR w9t FA §| ar ghn-

a) AB = CD b) AB =%CD

c)AB + CD d) none of these

How many circles can be drawn that pass(es)
through two fixed points?

W Faa g9 @Y o1 wahd & S & ARea
g3t & g a2
a) Infinite

c) One or Two

b) Only two
d) Only one

A unique circle can always be drawn through x
number of given non-collinear points, then x
must be:

R av 3w gt i w&a x F A
¥ gA UF AT gu diar o1 dFar g
ar x g =R

a) 2 b) 3 c)4 d1

A, B, Care three points such that
AB = 9cm, BC = 11cm and AC =
20cm. The number of circles passing through

points 4, B, C is:

ABC dF g sw 9vR § #
AB = 9cm, BC = 11cm 3R AC =20cm
e.Rg 4, B ¢ & TR g gar A wE&;
4T §?

a)3 b)0 1 d) 2

Through any given set of the four points
P,Q,R,S it is possible to draw:

fredr ot IR g PQRS # & fFasr 9o
T HH B

a) Atmost one circle

30.

31.

32.

b) Exactly one circle
c) Exactly two circles
d) Exactly three circles

Three circles touch each other externally. The
distance between their centreis 5 cm, 6 cm and
7 cm. Find the radius of the circles.

et ga 3T F 9T { T F . 3qF
aﬁf$ﬁﬂﬁ§ﬁ'5cm,6cm3ﬁT7cm g
gat & Rt it aFag IaET.

a)2cm,3cm,4 cm
b)3cm,4cm,1cm
c)Jl1cm,2.5cm,3.5cm
d)1cm,2cm,4cm

Below shown are three circles, each of radius
20 and centres as P, Q and R; further AB = 5,
CD = 10 andEF = 12. What is the
perimeter of the triangle PQR?

d e g R aw § Sadh v@F Hr
fsar 20 # 3R &5 g w#er p,Q 3R R

81 AB =5,CD = 10 3X EF = 12 %]
fe[sT PQR#T IRAT FT gHM?

a) 120 b) 66 c)93 d) 87
In a circle of diameter 20 cm, chords AB and

CD are parallel to each other. BC is diameter.
If AB is 6 cm from the centre of the circle,
what is the length (in cm) of the chord CD?

20 cm S9TH Tt g #, Sftar AB 3#R cD
TF gEY & WA ¢| BC =W ¢ I AB
qaﬂ:ﬁa#ecmaﬁrgﬁw%,?ﬁsﬁmcu
# dFEE (cm H) AT F?
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c) 20 d) 16 P~ . o

The radii of two concentric circle with centre O \

are 26cm and 16cm. Chord AB of the larger ¢

circle is tangent to the smaller circle at C and

AD is a diameter. What is the length of CD?

¥ 0 I QY FHAY AT f AsAT 26 om MN__ — N

3R 16 cm %|a?q?ra?r3ﬁmAB, ﬁ§ C a)4.25 b)3.75 c)3.5 d) 4.55

W B - $T Foef @ g, IR AD =uT 36. Two chords of lengths 2a and 2b of a circle are

g| CD & dar¥ frasT &2

a)42cm b)36cm c)35cm  d)38cm

In the figure, the diameter of the circle is 3 cm.
AB and MN are two diameter such that MN is
perpendicular to AB. In addition, CG is
perpendicular to AB such that AE:EB = 1:2
and DF is perpendicular to MN such that NL:LM

= 1: 2. The length of DH in cm is:

& 71§ anfa # 99 #1 @@ 3cm | AB3IR
MN & I 50 YR & f& MN, AB & FUT
a9 ¢ 5% FfaReFd cG, ABF &+« 39
YR & 6 AE:EB=1:2 & 3R DF, MN &

aF9 59 YFR & & NL:LM = 1:2 &| DH
$1 dFEES(cm #) gdT F|
c M
Aﬂ NB
7
G N
a) 2vZ — 1 p) {55
C)Wz_-ﬂ d)@

In the given figure, MNOP is a square of side
6cm. What is the value of radius of circles?

&t 7§ ITFT A MNOP, 6cm [T AT TH
T & ga 1 B #1 AW w4 @

37.

38.

perpendicular to each other at a point they
meet. If the distance between the centre of
circle to this pointis c (¢ < radius of circle)
then what is radius of circle.

& gd #1 2a AR 2b FFars #Y @ Nare §
N UH g W o¥ad § Qe shar set
yfadg #ic ¢ 39w Rig fr ga & F¢ a gt
c¥ (c <ga & B, & ga i B &

2 2_.2
a)a+b+c b) [~
v a%+b%-c? a2+b2+c2
)— d)
2 2
Inacircle, AB and €D are two diameters which

are perpendicular to each other. Find the

length of chord AC.
F g0 HAB 3R (D AT g, N F g@

¥ oaad g far Ac A d=9E AT W

AB cD
a)V2CD = b) = c)2 AB c)—

A chord of length 5 cm subtends and angle of
60° at the centre of a circle. The length, in cm,
of a chord that subtends an angle of 120° at

the centre of the same circle is

et qd #1 S5cm dF SaT 3TF Fg W
60° &T HIUT T §| 39 Sfar i dwars
qaT F A 3H JT F Fg W 120° FT H0T
Tt g
a) 6v2 d) 5v3

b) %5 o) 27
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Two circles of radius 5 cm and 8 cm touch each
other externally at point A. Accordingly if a line
passing through point A intersects both the
circles at point P and Q, then find AP: AQ.

5 @1 auT 8 QA I & g TH qEY F
TR ¥ ARTg W Tl wA | dEqER
I Afdeg @ IeRe arelt TF EI ¥@T 34
gdl F HFAW PAAT QW R, dr AP:AQ

fraeT ghem?
a)8:5 b)5:8 c)3:4 d)4:5

The line AB is 6 m in length and is tangent to
the inner one of the two concentric circle at
point C. It is known that the radii of the two
circles are integers. The radius of the outer
circleis:

@I AB #T FaT§ 6mE 3T Ig Q FHhealg
qet & @ oK gF 1 Rig c W Faet W@
feam gam & & Q=i el i Bsae qoiie
| aed qu A B 7 FO

a)5m b) 4 m c)6m d)3m

If the chord of an arc of a circle is of length x,
the height of the arc is y and the radius of the
circle is z. which one of the following is correct?

ad i & =T i shar f a9« 7| T9
I FuE y¥ § oaa@ @1 Bew 2@
fAmfafaa & 9 Fiaar v T 2
a)y(2z-y) = ¥

b)Y(2z - y) = 4x?

c)2y(2z-y) =

d)4y(2z- y) = x?

Two chords of lengths a metre a and b metre
subtend angles 60° and 90° at the centre of
the circle respectively. Which of the following
is true?

a #eX 3R b#AleT aFh & Sk fFet g@
F g I FAU 60° 3 90° FIr Tt &
AT & ¥ Flaar FuaT T B2

a)b =+2a b)a =+2b

cJa=2b d) b = 2a

Answer Key
1.D 2.C 3.B 4.B 5.A
6. C 7.D 8.A 9.C 10.B
11.C 12.D 13.B |14.D |15.D
16. B 17.B 18.A |19.B |20.D
21. A 22.B 23.C | 24.A | 25.A
26. A 27.B 28.B | 29.A |30.A
31.C 32.D 33.D |34.D |35.B
36.D 37.B 38.D |39.B |40.A
41.D |42.A

Mental Test
1. Find £ACB.

3. In the given figure, O is the centre of circle.
2AOB = 80°and £AOC = 120°. Find
2BAC:
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A

fer R & o9 &1 Fw §| 240B =
80° 3T z40C =

120°¢ a 2BAC =?

a) 120°
c) 100°

b) 80°
d) None of the above

4. In the given figure, ABC is an isosceles triangle
in which AB = AC and
2ABC = 50° «BDC:

ABC wh wrefaerg feer & oww

AB = Ac® 3R  24BCc = 50°% @
/BDC =?
A
D
mi‘
S
E
a)80°  b)60° c) 65° d) 100°

is the diameter.
70°and «DBC = 30° Find m

5.In the given figure, AB
£2BAD =
4BDC:

T & R & 4B I #| «BAD=70° 3R
/DBC= 30°% dY ~BDC =?

C D
30 70’
B 0 A
a) 25° b) 30° c) 40° d) 60°

6. In the given figure, AB is the diameter of the
circle. ZADC =120°. Find 2COB:

AB frelY g &1 = 8 AR z4DC = 120°
g dr 2COB =2
C
A
o
a)60°  b)30° c) 40° d) 15°

7. 0 is centre of circle and 2ADC = 140°. Find
ZBAC.

o fFdY ga &1 Fe T 3 24DC = 140° B
ZBAC =?

8. In the given figure ZPSR = 105° and PQ is the
diameter of the circle. What is the value (in
degrees) of LQPR?

&t 71§ ImHfa F £PSR=105°TAT PQIA &I
I & 2QPR & AT B & a7 2
Q

a)75 b) 15 c) 30 d) 45

9.In the given figure, ZAOC = 120°. Find m

£ CBE, where O is the centre:

T ¥ T A sA0C=120° |
qaT #X PR O g & FT $g & an:

m 2CBE
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@
e, forc
LTy
o)

(/o
Cx'B
A — E
a) 60° b) 100° c)120° d) 150°

In the given figure, O is the centre of circle,
2AOB =100°. Find 2BCD:

O e &I &g §, LA0B=100° §| LBCD =?

a) 80°

b) 60° c) 50° d) 40°

Triangle PQR is inscribed in a circle such that
P, Q and R lie on the circumference. If PQis the

diamemter of the circle and LPQR=40°, then
what is the value (in degrees) of 2QPR?

UF ga A ST PQRSH YR IHfFa ¢
P,Qaur R Py ¢ Iy paga &1 s
& dUT 2PQR = 40° &, 2QPR &7 AT (B
H) Fa1 2

a) 40 b) 45

c) 50 d) 55

Find £BAC.

13. Find 2ACD, if O is the centre.

14,

15.

16.

In the given figure, O isthe centre of the circle
and ZQOR = 50°, then what is the value of

£RPQ (in degrees)?
& ¢ Py A, 0 vF A F Fx § aur
£QOR = 50" & d «RPQ & AT (33 #)

F1 2
R
’Q
P
a) 15 b) 25 c) 20 d) 30
Find £BCD.
D C
P
60°
30°
A B
In the given figure O0X, OY and OZ are

perpendicular bisectors of the three sides of
the triangle. If ZQPB = 65 and 2PQB = 60’
then what is the value (in degrees) of £QOB +
2POB?

& 7§ amgfa # ox, oy Ak 0z Byger A
A=t semst & o9 gRyemers ¥ 2QPB =
65 and ~PQB = 60" & & QOB + .POB
&1 A (B ) +=1 &2
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EP

a)250 b)180 c) 210 d) 125
In the given figure O is the centre of the circle
AC and BD intersects at P. If 2AOB =
100° and £DAP = 30° then what is the

value of LAEB : £LAPB?

A § ¢ ITHfa A, 0 A F FF T AC
3R BD, P R 9fadg & §, & LA0B =
100° J2T 2DAP = 30° @ £AEB:/APB &1
AT FT &2

a)1:3

b)1:4 c)2:5 d)1:5
The length of chord of a circle is equal to the
radius of the circle. The angle which this chord
subtend in the minor segment of the circle is

equal to

et g9 it v Sfar it aFaE sER BT
& FAW §| 39 AT @RI B WUz A T
SATel aTel T FHT AT:
a) 30 b) 45

c) 60 d) 150

In the adjoining figure, chord ED is parallel to
the diameter AC of the circle. If ZCBE = 65°,
then what is the value of ZDEC?

& a$ pfa # g9 & Shar ep, = ACH
HATTA & 39X 2CBE = 65° & dY ~DEC &1
AT FIT gom?

B

E D

a) 35° b) 55° c) 45° d) 25°

20. ABCD is a cyclic quadrilateral with AB//

DC and AB is diameter of the circle. If ZCAB =
30°then LADC =

ABCD UF IfFwa aqsr ¢ @A AB//

DC 3 AB SITH §| 39X £CAB = 30° § aY
£LADC =

a) 60 b) 120 c) 150 d) 30
Answer Key
1.30° | 2.5:13 | 3.B 4. A 5.C
6.D 7.50° 8.B 9.C 10.C
11.C 12. 40° | 13.45° | 14.B | 15.90°
16. A 17.B 18.D 19.D | 20.B

Exercise - 21

1. ABCD is a cyclic quadrilateral. Diagonals BD

at E. If
25°, then what

and AC intersect each other
/BEC = 128°and £ECD =
is the measure of ZBAC?

ABCD U Thg Tqs | Rt Bp 3k
AC TF guY A EW yfasla #wa 2| afx

¢BEC = 128°3k <ECD = 25°%, @

ZBAC &1 #IT ATd HST|

a) 93° b) 52° c)103° d) 98°
2. PQRS is a cyclic quadrilateral. PR and QS

intersect at T. If £SPR = 40° and 2PQS =
80°, Then what is the value (in degrees) of
£PSR?
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PQRS & TfHT IJHS 8| PR AT QS, T
W yfadg FI  §2SPR =40 AT
£PQS =80° &, «PSR HT A (fF3h &) Far

14
a) 60 b) 40 c) 80 d) 100

3. ABCD is a cyclic quadrilateral and O is the center

of the circle. If 2COD = 140° and £BAC =
4.0°, then the value of ZBCD is

ABCD T TfFed Iqssr 8 3R 03w g &
g €| 3T 20D = 140° 3R LBAC = 40°

& ar zBCcD =2
a) 70 b) 90 c) 60 d) 80

4. In the given figure, PQ is a diameter of the

semicircle PABQ and O is its center. ZAOB=
64°, BP cuts AQ at x. What is the value of
ZAXP?

& o€ amspfa A, pQartigd PABQ &I =4TH &
dUT O SHST g §|2AOB= 64°F | BP,AQH
x UX HIEdT §| 2AXP HT AT F4T &2

-

P 0 Q
a) 36 b) 32 )58 d) 68

5.In a circle with centre O, ABCD is a cyclic

quadrilateral with AB as a diameter of the circle
AC and BD meet at E. If ZCED = 110°, then
what is the measure of 2C0OD?

¥ 03 TF ga H,ABSUH § HR ABCD
UF THT g 8. ACHR BDfAg E
e @13fe 2CED = 110°%, @Y 2coDp #1
AT F4T §?

a)45°  b)60° c) 30° d) 40°

6. In a circle with centre O, AC and BD are two

chords. AC and BD meet at E when produced.
If AB is the diameter and ZAEB = 68°, then
the measure of ZDOC is:

TF O Fg ared g A AC AR BD @ Shamw
2|99 AC 3T BD 3T 93 R S & Y
¥ ER fAaad & I 4B = & 3k

¢AEB = 68°%, @Y 2DOC &T AT ¢:
a)32° b)30° c) 22° d) 44°

7.In a circle with centre O, ABCD is a cyclic

quadrilateral with AB as a diameter of the
circle. AD and BC produced meet at E. If
£CED = 70°, then what is the measure of
4COD?

%% OF WY U&F ga H, ABCD TF & AW
F T A ABF WY UF TP TG § aur
AD 3T BC FY 3T 9317 FXa W fig £ &
Bea 13 2CED =70°%, @Y 2coD =1

AT 47 2
a)45°  b)60° c) 30° d) 40°

8. In a circle with centre O, AB is a diameter and CD

is a chord which is equal to the radius OC. AC
and BD are extended in such a way that they
intersect each other at a point P, exterior to the
circle. The measure of ZLAPB is

frell g0 &1 Few 0¥, AT ¥ 3R o
shar & IfF oc s & s & 1Ac 3
BD # 39 YHR qG1AT ATl ¢ fF T Th-gwy
#1 faeg P Fred § N g & T ¥ |

£APB &1 A9 &IT 819 ?
a)30°  b)45° c) 60° d) 90°

9. In the given figure O is the centre of the circle

and AB | CD. If 2ADC = 25°, then find
LAEB.

& g0 #1 &5 07 3N 4B || D ¥ I
¢ADC = 25° @, @ 2AEB #AId Hifaw|
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E
c 0 25° D
A B
a) 45° b) 55° c) 50° d) 40°

In a circle with center O. AB is a diameter and
CD is a chord such that ZABC = 34° and
CD = BD. What is the measure of
2DBC (4.DBC < £ABC(C)?

O &g arel g #, =41 AB 3T Sfiar ¢D &
9FR & & 24ABC=34°3CcD = BD &)

£DBC &Y AT AT &Y (LDBC < LABC) |
a)30°  b)32° c) 24° d) 28°

OABC is a quadrilateral, where O is the centre
of a circle and A, B, C are points in a circle such
that £ABC = 120°, what is the ratio of the
measure of LAOC to that of LOAC?

OABC U& Iq ¢, o ad 0 ga &7 35 ¢
3R A B, cga w W g & afF 24BC =
120°8, @ £A0CH LOACTH T FIT

&

a)3:1 b)4:1 c)2:1 d)3:2
In a circle with center 0, ACBO is a
parallelogram where C is a point on the minor

arc AB. What is the measure of ZAOB?

wF ga # e & 0 ¥, ACBO
AR aq9er ¢ e cog 99 AB W
% g 81 LAOBF AN F4T §?

a)150° b)100° c)110° d)120°

Points P, Q, R, Sand T lie in this order on a circle
with centre O. If chord TS is parallel to diameter
PR and ZRQT = 58°, then find the measure
(in degrees) of LRTS.

14.

15.

16.

17.

g P, R, sARTEH F7 & Fg0 a1 g
w fRya & Iy ar1s, =g PR &
FAGR & 3 2RQT =58° & Y ZRTS
F1 A9 (B3 #) AT F)

a) 45 b) 29 c)32 d) 58

In a circle with centre O, AB is the diameter and
CD is a chord such that ABCD is a trapezium. If
£LBAC = 18° then £CAD is equal to:

Ife 0 Fg 9 UF A FT AW ABE AN
CD 39 YR siar § f59d ABCD §HE+
gddr & Ife sBAC= 18" & @ scAD

fFad e geme?
a) 72° b) 36° c) 54° d) 18°
In a circle with centre O, AB is the diameter
and CD is a chord such that ABCD is a
trapezium. If ZBAC = 40° then 2CAD is equal
to:

&g OdTel UF g4 #, ABW IR (D&
ST 39 YR & & ABCD U HHe9 gl

afe ,BAC=40°E, A ~CAD fFHF seT B2
a)15°  b)20° )50° d)10°

AB is the diameter of circle with centre O. DC is
its chord where DC || AB. Accordingly if
/BAC = 20°, then find the value of 2COD.

AB, O %% aTer UF I & S4TH §| DC 3T
et Shar & o3 DC 1| AB @) defaR Ify
/BAC =20° g @ 2COD &1 AN fahdan

ghem?

a) 60° b) 80° c) 90° d) 100°

PAB and PCD are two secants of a circle. BC is
the diameter of circle with center O. If ZPBC =
42° and 2ZBPD = 26° then find the measure

of LCAD?
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PAB TYT PCD T& g #I &) Bg® 1W@IT ¢,
BC g O aTf ga &I o4 § IR LPBC =
42°Td «BPD = 26° dd +.CAD # A9 &2

a) 22°

b) 16° c) 34° d) 24°

In a circle with centre O, ABCD is a cyclic
quadrilateral and AC is the diameter. Chords
AB and DC are produced to meet at E. if
£CAE = 34° and 4E = 30°, then 2CBD is
equal to:

% 0 ¥ U ga H, ABCD TFH TH I8l
g 3l Ac = &) Sftar AB 3k DC W E W
e & T T/ aar & I CAE = 34°

3T LE=30°, @l .CBD X &

a) 36° b) 24° c) 26° d) 34°

The Chords AB and CD of a circle are produced
to meet at the point P, outside the circle, and
AD is the diameter of the circle. If
2DAP = 36° and LAPC = 30°, then what
will be the measure2CBD?

frelt ga @ Sfar 4B 3R cp *r wern
ST @, at g9 & A} fig p o P @
3R AD, g #1 saw §| If& 2DAP = 36°

& 3 2APC = 30°, @Y ~CBD FT A A
C
a)34°  b)26° c) 24° d) 16°

ABCD is a cyclic quadrilateral. AB and DC meet
at F, when produced. AD and BC meet at E,
when produced. If ZBAD = 68° and 2ZAEB =
27°, then what is the measure of ZBF(C?

21.

22.

23.

ABCD T I ¥ AB 3 DC TgIT I
W F W At ] Ap 3k BC ! dgw I+
W E W fAadr & I 2BAD = 68° 3R

LAEB =27° &, 2BFC T A AT |
a)22°  b)27° c) 15° d)17°

ABCD is a cyclic quadrilateral such that its
sides AD and BC produced meet at P and sides
AB and DC produced meet at Q. If £A = 62°
and ZABC = 74°, then the difference
between 2P and 2Q is:

ABCD T& ThI TS 8, $HF AT AD
3R BC 9@ W igpw e § aur as
IR pcEged W QW RAaa &1 Iy 24 =
62°31X £ABC = 74°%,d@Y <P 3R 20 &

= FT IR FT &

a) 44° b) 23° c) 32° d) 38°

ABCD is cyclic quadrilateral. Sides AB and DC,
when produced, meet at E, and sides BC and
AD, when produced, meet at F. if ZBFA = 60°
and ZAED = 30°, then the measure of ZBAD
is:

ABCD U& W TS o] a3t AB 3R
DC & A g W F g £ W e et
g, 3 s ax® s@meCc AR AD F A
T W I &g F oX et 8 af 2BFA =

60° 3 LAED =30° &, @ LBAD T AT

FIT 1I?
a) 65° b) 70° c) 40° d) 45°
In the given figure, MNP, SQP, NQR and MSR

are straight lines. ZNPQ = 54° and 2QRS =
68°. What is the degree measure of ZSMN?

ar ¢ ansfa A MNP, sQP, NQR 3T MsSR
e @ §| 2NPQ =54° 3R QRS =
68° &| «SMN &1 33y A1T AT FY|
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a) 29°

b) 38°

c) 54° d) 68°

ABCD is a cyclic quadrilateral. Sides AB and DC,
when produced, meet at E, and sides BC and
AD, when produced, meet atF. If ZBFA = 60°
and £AED = 30°, then the measure of ZABC
is:

ABCD U&F T I ¢l ot AB 3R
DCH! § aXF A1 agrm S ¢ & 7 fag
ER e St §, 3k g4t ave ogam BC 3k
AD Y T o1 ST § Y F g Fw
Ao &1 I 2.BFA = 60°3ik 2AED = 30°
§, @ LABC &T AT &7 gRI?

a) 65° b) 75° c) 70° d) 80°

In a quarter circle, AO and BO are the radii. Cis
any point taken on the arc of the quarter circle.
Find LACB? (O is center of circle?

uF Tqdier ga & Ao IR Bo f=m B
et off g ¢ A g & a9 W 7w srar
8] ZACB & AT AT F02 (0 Id_FT Fg

8

a)120° b)135° c) 150° d) 105°

If in the following figure (not to the scale).
£ACB = 135° and the radius of the circle is

2+/2 cm. then the length of the chord AB is:
afg et ampfa F (A9 qER 7E ?)
£ACB = 135° 3R ga #f BsAm 22 em B
ar sfiar AB #Y oF=TS #:

27.

28.

29.

D
B A
C
a) 3v2 cm b) 4V2 cm
c)4cm d)6cm

AB is a diameter of a circle. C and D are points
on the opposite sides of the diameter AB, such
that LACD = 25°. Eis a point on the minor are
BD. Find the measure of ZBED (in degrees).

AB T% g &I Th = | g caito =amw
AB & Ruild vall WX 50 yR foua & &
£ACD = 25° §| E, g 919 BD W ¥y &
g 8| «BED &1 A (3rer #) Aa@ |

a)105  b)125 c) 130 d) 115

In a circle with centre O, AB is a diameter
,points C, D and E are on the circle on one side
of AB such that ABEDC is a pentagon. The
sum of angles ACD and DEB is:

% OF WY @F gq H, ABTF AW §,
ffeg DI E ABF & TE g W
sifva § I % ABEDC & dare[er €1 HoT
ACD 3R DEB &1 5T AT &Y

a) 240° b)225° c)270° d)180°

In the following figure, if angles 2LABC =
90°, LFED = 115°. Then the angle £LAPC is
equal to:

fr & o€ smsfa & IR z4BCc=
90°, LFED = 115°. @Y ®T ,APC FEF
W%:
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a) 120° b)150° c) 135° d) 155°
Two chords AB and CD of a circle with centre O
intersect at P. If ZAPC = 40°. Then the value

of LAOC + 2BOD is
fret g #r a e aAs 3k oo, o

Fogd 07, TN P RAeg W Fred & 13f
£APC = 40°§, @ £A0C + LBOD &1 HIA

IAEw?

a) 50° b) 60° c) 80° d)120°

Two chords AB and CD of a circle with centre O
intersect each other at P. If ZAPC = 95° and
2AO0D = 110°, then £BOC is:

0 ¥¢ 91 U ga @ &Y faare s 3k cp,
g P wHgm & ufedRa F B
Ife 2APC = 95° 31X 240D = 110° &, ar
£BOC &1 AT AT HIfE |

a) 65° b) 70° c) 80° d) 60°

Two chords AB and CD of a circle with centre O,
intersect each other at P. If 240D = 100° and
ZBOC = 70° then the value of ZAPC is

0 %g fig arar et ga #1 ar Sharw As sk
O TF g F g PR Fed T IR

2A0OD =100°3\X  2BoCc=70°% ar
LAPC =?
a)80°  b)75° c) 85° d) 95°

Two chords AB and CD of a circle whose center
is O, meet at the point P and £AO0C =
50°, 2 BPC = 110°. Then the value of 2zBOD
is

34.

35.

36.

0 ¥z fig are o ga #Y &Y Shard A au
co frelt g P et & 3k z40c =
50°, £ BPC = 110° §| 2.BOD=?

a)170  b)90 c) 80 d) 60

In a circle with centre O, a diameter AB and a
chord CD intersect each other at E. AC and AD
are joined. If «2BOC = 48°and 2A0D =
100°, then what is the measure of 2CEB?

% O%F WY UH g9 A, UF AW AB 3R
TF ST CDTH gl Y ET Fed gl AC
AR ApD #r ShEr St &1 IR zBoc =

48° 31X 240D =100°%, @Y LCEB T AT

41 &2
a) 72° b) 74° c) 78° d) 82°
Let O be the centre of a circle and AC be its

diameter. BD is a chord intersecting AC at E.
Point B is joined to C and D. If £LBOC = 50°
and £A0OD = 110°, then £BEC =?

HIAT 0 Th g HT $5 ¢ AN AC 3T SATH
g1 Shar BD, Ac#! E W wfaede &l ¢
fig B, g c 3tk g p & et omam 31 afx

£BOC = 50° 3 240D = 110° § @
4BEC =?

a) 80° b) 70° c) 55° d) 90°
A and B are two points on a circle with centre

0O, C is a point on the minor arc of the circle
between points A and B. The tangents to the
circle at A and B meet each other at a point D.
If ZADB = 25°, then 2ACB (in degrees) is
equal to:

0¥z T g0 W & fawg A siv B §
qa & oY 99 W Aegat AR B
w faeg Ruac B faeg Ak o qa &
T @ vH g @ faeg Do fAer
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If& LADB = 25° &, dY LACB T AT (3120
#H) 7 |

a) 105 b) 100.5 c)102.5 d) 100

ABCD is a cyclic quadrilateral. From a point
P outside the circle, two tangents PA and
PC are drawn on the circle. If ZABC = 98°,
then what is the measure of ZAPC?

ABCD U& T IS ¢ g F 9187 Th
ffg P &, g w a ¥af W@ pPa 3Rk
pcERY STt § afe zABC =98°%, @

£APC &T AT 4T 72

a) 14° b) 22° c)16° d) 26°
AB is a chord in the minor segment of a circle
with centre O. C is a point on the minor arc
(between A and B). The tangents to the circle
at A and B meet at a point P. If ZACB =108°,

then £LAPB is equal to:

AB,¥g O g & WY gA@s A TFH 4T
gl @g 99 (AR B F @) W vw fagc
¥ A B A ¢ qu i Fue @
fig pux el 81 3 24cB = 108° B, @

£APB &1 A dd1sV|

a) 36° b)54° c)27° d) 18°
ABCD is cyclic quadrilateral such that 2B =
104°. The tangent at 4 and C meet at a point

P. What is the measure of ZAPC?

ABCD U& T dqeS o, oA 4B =
104° & A 3R ¢ W e 7§ Taer Www
uF 37 fig P W et §| 24APC #1 AW

fraeT &2

a) 38° b) 26° c) 24° d) 28°
In a circle with centre O, a diameter AB is
produced to a point P lying outside the circle

and PT is a tangent to the circle at a point C on

41.

42,

43.

it. If zZBPT = 28°, then what is the measure of
£BCP?

O%g d/ ga A, =AW ABH! gd & W
Ry Rig paw Wffa A amer § 3k
PT 37 fig & g c R ga #ir vaeiar 2
If& L,BPT = 28° §, @ LBCP &1 AT Tt
grm?

a) 62° b) 45° c) 28° d) 31°

PT is tangent at point C on a circle with centre
O and AB is a diameter. When BA is produced,
it meets PT at point P. If zZBPC = 34°, then
what is the measure of ZACP?

PT, g 0 9@ U& ga & fig ¢ w @i=h
1§ Toet Y@ § AR AB 39 g9 #T AW B
BA ® 3Tt 9ot W,q6 PT ¥ g P
fBrerar 813 2BPC = 34° @, @ zAcP &

AT AT PfAT|

a) 26° b) 28° c) 32° d) 29°
In a circle with centre O, PQR is a tangent at the
point Q on it. AB is a chord in the circle parallel
to the tangent such that ZBQR = 70°. What is

the measure of LAQB?

0 ¥g a T g9 A, 3WF g Q W T
Y@T PQREI ABJT & 3Head 54T § &7 T
Wl & 39 YR TANR & &
£BQR = 70°%| 2AQB & AT 41 &7
a)40°  b)60° c) 55° d) 35°

Points A and B are on a circle with centre O.
PAM and PBN are tangents to the circle at A
and B respectively from a point P outside the
circle. Point Q is on the major arc AB such that
2QAM = 58°and QBN = 50°, then find the
measure (in degrees) of LAPB.

AR B g 0 I 9 W Ry g | @
¥ arex fig P @ PAM 3R PBN, o A




44,

45.

46.

By Bhutesh Sir:
CAT Topper (98.74%ile)
3 times CGL selected

SUBSCRIBE “e1 coaching center” on YouTube & get:

Best content for SSC CGL, CHSL, CPO, MTS, CDS, Railway
Latest Exams questions solutions
Best series for All competitive Exams

SSC CGL Tier 2 (2011 to 2021) All ques Chapter wise with pdf

SCAN THE QR CODE

O 'ﬁ-"E]

‘-.

: *Daan

S

3B W ga it Fuet @ 3| & 99 4B
W g @ 57 voR Rua & & 204am =
58° 3T QBN =50° &| 2APB T AT
(3rer /) AT |
a) 32 b) 36

c) 30 d) 40

In the given figure, triangle PQR is a right
angled triangle at Q. If PQ = 35cm and QS =
28cm, then what is the value of SR?

& ¢ apfa F Meer par, Q W T
FHAFOT § IR PQ =35cm AU QS =
28cm g A SR&T AT FAT g2

P

Q R

a)35.33 b)37.33 ¢c)41.33 d)43.33

A semi-circle is drawn with AB as its diameter.
From C, a point on AB, a line perpendicular to
AB is drawn meeting the circumference of the
semicircle at D. Given that AC = 2 cm and
CD = 6 cm, then area of the semicircle (in sq.
cm ) will be:

AT AB AT U 3Hgd ST 11T 8| AB
W ya & @g cq vH ABF gHAF
TS @1 g St § S dduge A g
D W &edl | 33PRAC =2 cm3iRCD =
6 cmg @ g F1 AFGa(IA WAL H)

frear ghem?
a) 32w b) 50 c) 100
d) 81m e) undeterminable

The chord of a circle is V3 times its radius. The
angle subtended by this chord at the minor arc
is K times the angle subtended at the major arc.
What is the value of k?

47.

48.

g0 1 B Sftar g Bea 1 V3 aom
2 59 a1 q@mr @gET W oaERr an
FIoT, YUY W AT AT FT FT K IO
KT AT 9dT )|

a)5 b) 2 <) !

d)g

A and B are two points on a circle with centre
0. AT is a tangent, such that ZBAT = 45°. N is
a point on OA, such that BN = 10 cm. The
length of the median OM of the ANOB is:

Fg 09 TF g0 W AR Bt g §1 AT
s T {@T 8, S % LBAT = 45°| N, 04
W & f&¥g 59 AR & & BN = 1094,
ANOB & #1fegsT OM &Y &«1g &

a)10v/2cm b)5v2cecm ¢)5vV3cm d)5cm

During a practice session in a stadium an
athlete runs along a circular track and her
performance is observed by her coach standing
at a point on the circle and also by her
physiotherapist standing at the centre. The
coach finds that she covers an angle of 72°in 1
min. What will be the angle covered by herin 1
second according to the measurement made by
her physiotherapist?

TH IR F vF JA G F SR v
elic oF gAER $F W ogedr § 3R
3WFT Yoo 3WS HIT GART g & & g
W IR Fg 7 @3 38F foaRfRwe ganr
st g@T Srar &1 Fr g § & 98 1 @Beie
#H 722 & T A qU A E
BoEINRTT @rT fFr 10 79 F FgER
1 Qs & 39F g@rT QU fRar ar=m Hror
FIT 19?

a) It depends on the position of the coach on
the circular track.
b) 4.8°

c)1.2° d) 2.4°
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Two circles with centers P and Q intersect at B
and C. A and D are points on the circle with
centers P and Q respectively such that A,C& D
are collinear. If~ APB =
130° and 2 BQD = x°, then value of x is

P @ Q¥wal arel &Y g fig BT C WX wid=dg
X g| g AR g pFwar & pa &g
Qd gal W 57 oK § & A, capww

& YW W  § RLAPB=
130°, 3R 2 BQD = x° aY x &1 AT
a) 65 b) 130 c) 195 d) 135

In a circle with centre O, AD is a diameter and
AC is a chord. B is a point on AC, such that
BC = 5cmand£20BA =60°. If 4DOC =
60°, then what is the length of radius of circle?

¥ 0% WY UF Jd A, ADTF W § IR
ACTH Sfiar 81 B,AC W w& g, X &

=s5af 3R 0BA=60°17RE
£DOC = 60°%, @ ga A Bewr A d=1§
fraelt 32

a)4 cm

b)3V5ecm ¢)5V3cecm d)5cm
In a circle with centre O. AD is a diameter and
AC is a chord. Point B is on AC such that OB =
7 cm and £0BA = 60°. If 2£DOC = 60°, then

what is the length of BC (in cm)?

0 ¥g a9 #, AD =W g 3HR Ac Sfiar
SlACRRAgB ST TFR 8 fF 0B=7cm
3k 20BA = 60° &| TG 2DOC = 60° &Y, Y

BC I &g (cm H) AT HY|
a)5 b) 7 c)9 d)3.5
D, E and F are the feet of the perpendiculars
from the vertices A, B and C, respectively, of a
triangle ABC. If angle BED and angle BFE (in
degree) are 24 and 110 respectively, what is
the measure (in degree) of angle EBF?

53.

54.

55.

56.

uF fer ABC # efif A, B3l c & woen
D, E3RFAT & uig §| I For BED 3X
FNOT BFE (T H) FAA: 24 3110 & O

T EBF T ATT (3 H) Fhra=T gam?
a)55  b)67 c) 86 d) 46

If O is the circumcentre of a triangle ABC lying
inside the triangle, then 20BC + 2BAC s
equal to

3R o 3T ABc &1 IREg ¥ NfF M

F e Bya & @ 20BC + 2BAC =2
a)90°  b)60°  ¢)110° d) 120°

If the diagonals of a cyclic quadrilateral are
equal, then the quadrilateral is definitely a:

PR R T aqgeer & Reot v @

NPT TR TE T
a) Rhombus b) Square

c) Rectangle d) Trapezium

In a cyclic quadrilateral ABCD, AB =
BC, AD = DC, 4CAD = 0, then £ABC will
be-

UF T TGS ABCD A, AB = BC, AD =
DC, .€CAD =96, ¥ dEER  3§H
£ABC f@® SR g1

a)g._ . b)] c) 26 d) 36

In the figure §= % =§ where 42DCQ =
x, ZBPC = yand «DQC = z, then what is
the value of LPAQ?

ReawRaaafg =2=: S8l 2DCQ =
x, .BPC=y3R .,DQC=z & & 2PAQ
FT AT -
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26.C 27.D 28.C 29.D 30.C
31.C 32.D 33.B 34.B 35.A
36.C 37.C 38. A 39.D 40.D
41. B 42. A 43. B 44. B 45. B
D
46. B 47.D 48.D 49.B 50. C
a 51.B 52.D 53. A 54.D 55.C
c) 39° d) 42° 56.B |57.A |58.B
Let C be a point on a straight line AB. Circles are
drawn with diameter AC and AB. Let P be any Exercise 22

point on the circumference of the circle with
diameter AB. If AP meets the other circle at Q,
then

el Y@ AB ¥ I uw g c@| Ac3R
ABF TUH AW & gd FAR IS §
ST AB AT g W PHE fg 8] 39 AP

g gd # g QW Aerar § ar ana-
a)QC || PB
b) QC is never parallel to PB

c)QC=%PB
d) QC || PB and QC = %PB

PQRS is a cyclic quadrilateral with center O.
The ratio of ZPQR and PSR is11: 7. If PQ =
QR, then find LOPQ.

PQRS, %% 0 @@ & ga # rufa &
TR TJS ¥ <PQR 3R LPSR #
AT 11:7 81 3G PQ = QR B, @ 20PQ
AT S|

a) 56° b) 55° c) 62° d) 52°
Answer Key
1.C 2.A 3.A 4.C 5.D
6.D 7.D 8.C 9.D 10.D
11.B 12.D 13.C 14. C 15.D
16.D 17. A 18.C 19.C 20.D
21.C 22.D 23. A 24.B 25.B

1. In the given figure, there are two circles with the

centres O and O’ touching each other internally
at P. Tangents TQ and TP are drawn to the
larger circle and tangents TP and TR are drawn
to the smaller circle. Find TQ : TR :

e & Ry AFgosko ae ar ga =
ga # Hale dk W Rigp W Faeh #+@
& T WRTQIT TP a8 ga W YT T
[W@E TP AR TR B gd0 W it vt &
TQ: TR 9ell &1:

T

a p

a)8: 7 b)7:8 ¢)5:4 d)1:1

2. In the given figure, AB, AC and EF are tangents

to a circle. If AC =15cm and DE = 3 cm,
then the length of AE is:

fRw v R &, AB, Ac 3K EFuw ga #r
REw §| I AC=15cm 3R DE =
3 cm g, a AE# IFETE FAT g
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a)24cm b)9cm c)18 cm d)12 cm

3. In the figure, two circles with centres P and Q

touch externally at R. Tangents AT and BT
meet the common tangent TR at T. If
AP = 6cm and PT = 10cm, the BT =?

arpfa A, % PIR Qo ) gu FEFdq:
fig R Tt Fa §1 FERET AT IR
BT, 3%gforss Tqe@r TRIT g TR et
gl afg AP = 6 cm 3R PT = 10cm, @Y BT
A a9 AT HfS

| ;

a)6cm b)12cm c)8cm d)10cm

4. Two circles touch each other at point X. A

common tangent touch them at two distinct
points y and Z. If another tangent passing X cut
YZ at A and X4 = 16cm, then what is the
value (in cm) of YZ?

& g UH-gE H fog X W ¥ FQ T
o 39afass TaRET 37 & Irer faegat
YA z W T FE F| AR X F e
aqrell T T TIET YZFT AU Fedr &
a4T XA = 16cm §, @ YZ&T AT (cm H)
FT 2

a)18  b)24 )16 d) 32

5. Two circles touch each other externally at point

A and PQ is a direct common tangent which
touches the circles at P and Q respectively.
Then £LPAQ=

al g us gy #r R fig AW Tuet FRa
¢ 3R pa3wAfASs Tt Y@ § S

qel F1 FAAR g PT QW T F B
LPAQ-=
a)45  b)90 c) 80 d) 100

6. A quadrilateral ABCD circumscribe a circle and

AB=6cm, CD=5cm and AD =7 cm.
The length of side BC =

fae Tqofer ABCD FAwF gu fka §aum
AB=6cm, CD=5cm 3R AD =7 cm @]

BC =?
a)4 b) 5 c)3 d) 6

7. The circle is inscribed in a quadrilateral ABCD

touching AB, BC, CD and AD at the points P, Q,
R and S respectively, and 4B =90° If
AD = 24 cm, AB = 27 cm and

DR = 6 cm, then what is the circumference
of the circle?

TGS ABCD T 3Hd: g 33l AB, BC, CD
3R ADH: FAT: PR IR s g W

T FIAT & 99T 2B =90° ¥ I AD =

24cm, AB =27cm 3R DR = 6cmg,
ga @ aRfer 7= &2
a) I b) 18w c)81m d)12nw

8. A circle is inscribed in AABC, touching AB at P,

BC at Q and AC at R. If AR =5cm,
RC = 6and AB = 12 cm, then the perimeter
of AABC is:

fret R ABC & a9 wF q@ ¥ 9%
AB, BC 3R Ac a3t Y Fer: P, QAR R
gt W ¥t wwar ¥ IR AR = 50m,
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RC = 6cm3R 4B = 12cm? at B
ABC &Y af@#m &
a)36cm b)37cm c)40cm d) 46cm

9. A circle is inscribed in a triangle ABC It touches

10.

11.

the sides AB, BC and AC at the point R, P, and
Q respectively. It AQ =4.5cm, PC =
5.5cmand BR = 6cm then the perimeter of
the triangle ABCiis:

frelt Beer ABC ¥ 3adta T g ST
AT § 96 AB, BCIHR AC 3T H HAA
R, PR qfig ™ woai Far 3| Il
AQ = 4.5cm, PC = Eliny

BR = 6cme @ A8 ABC # AT
a)26.5cm b)32cm ¢)30.5 d)28cm

5.5cm

A circle inscribed in APQR touches its sides
PQ, QRand RPat points S, T and U,
respectively. If PQ = 15cm, QR = 10 cm,
and RP = 12cm, then find the length of
PS, QT and RU ?

UF gd APQR# $H & 9«41 AT § A
guh e PQ,QR IR RP g 5,TIR UW

et FIA g | Iy
PQ = 15¢cm, QR = 10 cm, sk
RP = 12cm & &Y PS, QT 3R RU F aF<1$
1 gt ?

a) PS = 3.5cm, QT = 6.5cmand RU = 8.5cm

b) PS = 6.5cm, QT = 8.5cmand RU = 3.5cm

c)PS = 8.5cm, QT = 3.5cmand RU = 6.5cm
d)PS = 8.5cm, QT = 6.5cmand RU = 3.5cm

A circle is inscribed in the triangle ABC whose
sides are given as AB =10, BC =8, CA =
12 units as shown in the figure. The value of
ADX BF is:

v gq Brer ABCH fafta ¢ foradr oo
aHfa # Fufr v IFER 4B = 10,

12.

13.

14.

BC = 8, CA = 125%13al &1 AD x BF &1
A &
B
E F
A D C

a) 18 Units b) 21 Units c) 16 Units d) 15 Units

The sides AB, BC and AC, of AABC are
12cm, 8cm and 10cm, respectively. A circle
is inscribed in the triangle touching AB, BC and
AC at D, E and F, respectively. The ratio of the
length of AD to CE is:

AABC # AB, BC 3 AC $[9ITC e
12cm, 8cm 3R 10cm %lﬁﬁi\_ﬂ' # Th gd
AHa:TaiRa &, Y A D, ENRF W AB, BC
v Ac F Tt FIar & AD 3R cE #Y
AFATEAT FT AT AT F

a)5:7 b)3:5 c)10: 7 d)7:3

A circle is inscribed in AABC, touching AB, BC
and AC at the points P, Q and R respectively. If
AB- BC = 4cm, AB- AC = 2 cmand
the perimeter of AABC =32 cm,
PB + ARisequalto:

AABC, & #{a¥ T& g 91T A § ST A
P, Q3T RT3wg3T 9 AB, BC 3R ACH Faet
Idl %l ITE AB-BC = 4cm, AB-AC = 2em AT
AABC®T YRAT 32cm & & PB + AR
ffaf@a # & s R 2

a)12cm b)13 cm

the

d)%cm

c)Ecm
5

In the given diagram, a circle DEF is

circumscribed by the right angled triangle in

which AF = 6cmand EC = 15cm. Find the

difference between CD and BD:
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&t 7 P A, g9 DEF M TF FHASIOT
frsgsr & &7 @1 § 3R AF = 6cm AREC =
15cm @ cp 3R BD # 3R FaTw?

B

D
F
A E C
a) 1cm b) 3cm
c) 4cm d) Can’t be determined

ABC is an isosceles triangle where AB = AC
which is circumscribed about a circle. If P is the
point where the circle touches the side BC, then
which of the following is true?

ABC TF FaCGfaaTg FsTst § for@dd AB = AC
S Rrelt qF @ Rt & 1aR p e Rieg
¢ STET g $IT BCHY T FIT 8, A AT
AR AT & ?

a) BP = PC b)BP > PC

¢) BP < PC d) BP = PC

A circle touches the side PQ of a AAPQ at the
point R and sides AP and AQ produced at the
points B and C, respectively. If the perimeter of
AAPQ = 30 cm, then the length of AB is :

UF gd AAPQ F1 8T PQF! faeg RUT U
T3 AP HR AQF! TG G FHAW: B3I
cfaeg o Twet Fxar ¥ I 44PQ =30 cm
g ar AB &I &arS #:

a) 15cm b)20cm c)10cm d)12cm

A circle touches the side BC of AABC at P and
also touches AB and AC produced at Q and R,
respectively. If the perimeter of AABC =
14.1 cm, then the length (in cm) of AQ will be:

18.

19.

20.

TF d AABC #HT [T BCHY PUT T FIaT
£ 31T 3mr 991§ 7 AB 3 AC F Y FHHT:
Q 3 RIT TUY a1 §| IfE AABC T
IRAT 14.1cm@, a o FOE 14.1 (cm

S gt
a)10.3 b)7.05 c) 6.25 d)7.5
A circle touches the side BC of AABC at D and

AB and AC produced at E and F, respectively, If
AB =10cm, AC=8.6cm and BC =
6.4 cm, then BD =

U e, AABC Y BC ST W DHI T FHIdT
t duTEer$ M= AB 3w AcH FA: EIR
FOX| afe AB = 10 @1, AC = 8.6 T, 3iX

BC = 6.4Tg, @ BD =

a)3.2cm b)3.5cm  ¢)2.2cm d)2.5cm

Ais a point at a distance 26 cm from the centre
O of acircle of radius 10 cm. AP and AQ are the
tangents to the circle at the point of contacts P
and Q. If a tangent BC is drawn at a point R
lying on the minor arc PQ to intersect AP at B
and AQ at C, then the perimeter of triangle
ABC is:

A,Ilﬁ'lo cmﬁ?ﬂj’ﬂ?éﬁO'\q‘Z6 cm &Y
gt W uw fig 7] AP 3 AqQ, wuF fig p
3t QW ga A FreRETe g I ApF B
W J9T AQA (R gfadfed &« & AT
UF TIOET BCH Y A9 PQ W Fua v
fag R9T R Sirer @, A Bt ABC aRaTT
#

a)40cm b)48cm c)46cm d)42cm
In the adjoining figure AT, BT, CD, EF, GHand I
are tangents to the corresponding circles.

Which one of the following is true?

& a§ amgfa & AT, BT, CD, EF, GH 3R 1
T @e § Y AT # ¥ F1 7w @2
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a) PC+ CT = PD + DT
b) RG + GT = RH + HT
c)PC+ QE =CE

d) All of these

AB and AC are the two tangents to a circle
whose radius is 6¢cm. If ~BAC = 60°, Then
what is the value (in cm) of VAB? + AC??

AB TUT AC TU&F gd 9T af T 3@ §
@ Bsar 6 cm | IR 2BAC=60F, @
VAB? + AC? &1 AT (cm ®) 4T &2

a)6v6 b)4/6 c) 9v3 d) 8v3

In the given figure, O is centre of the circle.
Circle has 3 tangents. If QPR = 45° then
what is the value of ZQOR?

& a¢ anFfa A, o9 F1 Hw ¥ I W 3
e @e § I LQPR = 45°%, @ 2QOR
FTAT FATE ?

a) 67.5

b) 72 c)78.5 d) 65

In a circle, PQ and RS are two parallel tangents
at A and B. the tangents at C makes and
intercept DE between PQ and RS. Then 2DOE

is equal to (where O is centre).

frelt g F , P 3t Rrs faegat Aqar B
& AT T 3@ §| g cav ael et
@r P 3R RS F fiT wF 9fdde DE Foch

24.

25.

26.

27.

g. 3% oga 1 Fx § A LDOE F AT

CGIERS
a) 90° b) 120° c) 60° d) 45°
Two tangents TP and TQ are drawn to a circle

with centre O from an external point T. then
£2PTQ is equal to:

% 0F TH ga W TP IR TQ & T
@ B aEd g T @ qg Sl §

£LPTQ=?

a) 20PQ b)220PQ

c)520PQ d); 20PQ

Let two chords AB and AC of the larger circle

touch the smaller circle having same centre at
XandY.Then XY = ?

93 gq @ ar ST AB AR AcBR FT A,
fSaeT Feg AT T, x 3T YW T FIA
g a xy =2

a)BC . b) % BC <) % BC d) i BC

There is a chord AB in a circle of radius 10 cm.
length of chord is 12 cm. Two tangents are
drawn from an external point P to A and B. find
the length of PA and PB.

10cm BT 91 T g A TS 4T AB R
Sttar it a8 12cm 3| fFel aed g e
¥ faegat ATUr BUX & ¥ JWT 15

1Y & PA 3 PB &Y TS TaT )|
a)7.5 b)10 c) 12 d) 9

Chord AB of a circle with radius 5 cm is at a
distance of 4 cm from the centre O. If tangents
drawn at A and B intersect from P, then find the
length of the tangent AP.

5cm ST ot v g9 a1 AB, FF 0 ¥
4cmﬁ{ﬂ'ﬂ%lﬂﬁﬁﬁ3ﬁ AIRBW
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@it 1§ ToREw, g P w gfa=dfa A

FTAl &, A TINET AP HY THEE AT B

a)7.5cm b)3.75cm c)3cm d) 2.4 cm

Chord AB of a circle of radius 10 cm is at a P

distance 8 cm from the centre O. If tangents B

drawn at A and B intersect at P. the length of

/24 24 12 48

the tangent AP (in cm) is:

10 cm BT arer g9 & a1 AB, FE 0 F
8cm#Y q:ff w fRya g3y asksw

= 7§ FreREw p ¥ yfazsfea & arap
# TFEE (cm H) AT T
a)7.5 b) 4 ¢)3.75 d) 15

In a circle with centre 0. AB is a chord of
length 10cm. Tangents at points A and B
intersect outside the circle at P.If OP = 2 04,
then find the length (in cm) of AP

% 0 91 ga #, AB Sfiar § fowedhr aFarg
10cm ¢| &g A 3 B9X @i 1§ FaeRE,
g9 & T fig P W yedfd w3 3
IEoP =204 & A AP Y dF€E (cm #)
AT Y|
a)12.5 b) 10

c)15 d) 12

PA and PB are tangent to the circle and O is the
centre of the circle. The radius is 5 cm and PO
is 13 cm. If the area of the triangle PAB is M,

then the value of ’I—IZ is:

PA 3T P8 et g &1 Taet Y@me 7 3k 0
39 g9 #1 5 §| B4 5 cm PO Y wFATS
13 cm 3| I BT pAB F1 &G M T,

?ﬂ\/%a:rmmaﬁﬁm

31.

32.

In the given figures, PQRS is a square inscribed
in a circle of radius 4cm. PQ is produced till

point Y. From Y a tangent is drawn to the circle
at point R. What is the length (in cm) of SY?

& 71§ amgpfa #, PaRs 4cm BT e TH
ga # fea v I gl P g vaw
qora AT | g9 W g v @ g R v
et @r @it g g sy FFEE (cm H)
T 82

S R

P Q

a) 410 b)2V10 ) 6V/10 d)3V5

A rectangle ABCD is inscribed in a circle with
centre O. Its diagonal CA is produced to a point

E outside the circle. ED is a tangent to the circle

at D. If AC = 2BC, then what is the measure of
2DEC?

TF AT ABCD # &g OF W T&H Jd
# fha frar = g1 s9F @wot ca
fig £ Fgram ST 8, S 96 9} ¥ ED
fig b W TR §, i Ac=2BcE, @

/DEC &1 AT F4T &?

a)30°  b)60° c) 40° d) 45°
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33. There are two concentric circles with centre O

of radii 63 cm and 56 cm. From an external
point P, tangents PA and PB are drawn to
these circle respectively. If AP = 16 cm find
the length of BP.

Fafdg 0 3 Bsar FAU 63cm 3R 56cm
il a1 FHeard g ¢| R el fog e @
, & et 3@IT PA IR PB g gal 9N SRl
et & 3P AP= 16ecm & aY BP &Y aFaTS

qdr 0|
a) 32 b) 33 c) 34 d) 35

Answer Key
1.D 2.D 3.C 4.D 5.B

6. A 7.B 8.A 9.B 10.D
11.B 12.D 13.D 14.A | 15.A
16. A 17.B 18.D 19.B | 20.D

21. A 22. A 23.A |24.B | 25.B
26. A 27.B 28.A [29.B |30.B
31.A 32.A 33.B

Exercise 23

1. What can be the maximum number of common

tangent which can be drawn to two non-
intersecting circles?

ar Rufredy gt @ flrwvaw  fhaa
Fraqeaet Y@ @it s awdr 82
a) 2 b) 4 c)3 d) 6

2. The diameters of two circles are 18 cm and 8 cm.

the distance between their centres is 13 cm.
what is the number of common tangents?

ar gal & I FAA 18cm 31K 8em | 3a7%
¥ & #7eg glt 13cm 3| wish et Y@t
HEAT fraet &2

a)l b) 2 c)3 d) None of these

3. The distance between the centres of two circles

is 61cm and their radii are 35cm and 24cm.

What is the length (in cm) of the direct
common tangent to the circles?

ar gt & Feal 1 gt 61cm § TUT 3T
ST 35em @UT 24cm B gar @ e
3NATASS ITEaer @ B aFaTS (cm H) F4T
&

a) 60 b) 54 c)48 d) 72

4. Two circles of diameters 4.8 cm and 8 cm are

such that the distance between their centres is
6.5 cm. What is the length of a common
tangent to the circles that does not intersect
the line joining the centres?

& g9 Oe® o 4.8 A IR 8 A
g1& Fal & diT T gt 6.5 @A g1 37 Fal
1 wF 3erafavs FoRET i d9E F4T 7

S Fel @ F arelt YWT F FIeA TG 82
a)6.3cm b)6.2cm ¢)6.1cm d)6.0cm

5. Find the ratio of the length of direct common

tangent to the length of transverse common
tangent of two circles having radii 17 cm and
4.9 cm if their centers are 130 cm apart.

ar gel f1 BT 17 em T 49 om §| Weft
saafass 3 i+ 3srafases waef Y@t
Y TS FT AT IABT IfG 3qF g

130 cm #r gt ¥ ya ¢
a)3:2 b)9:8 c)2:3 d)8:9

6. The radii of two circles are 3 cm and 4 cm. The

distance between the centres is 10cm. What
is the ratio of the length of direct common
tangent to the length of the transverse
common tangent?

ﬂﬁﬁﬁﬂTScm% qaar 4 cm%lm’f
q'?ﬂ'a?aﬁ’fﬂ?m'ﬂ'iﬁqﬂlo cm g| dieft
gfass To@Er i1 aFar w1 A
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3NATASS TIRGT T oFa1s F [T F4T
2

a)V/51:1/68 b) V/33:1/17
) V66:/51 d) vV28:vV17

7. There are two identical circles of radius 30 cm

each. It the length of the direct common
tangent is 61cm, then what is the length (in cm)

of the transverse common tangent?

30 cmﬁwmﬁa‘rmﬁa@%luﬁm
3NATASS IHTET W1 HT dF<1S 61 cm T
fods sarafass srereaet Y@ A awaE (
cm H) FIT §?

a) 17 b) 11

c)13 d) 15

8. Two circles of radius 4 units and 3 units are at

some distance such that the length of the
transverse common tangent and the length of
their direct common tangent are in the ratio
1: 2. What is the distance between the centres
of those circles.

fisar 4 3R 35FE A N g9 vH gW @
6 qft W 3W YHR 0 a1 § & fads
Fafass FoREr qur W@t 3aafass
TORET A FFAE FT AT 1:2 g At
gal & g & AT A gl AT WY
a) V50 b) V65 )8

d) cannot be determined

9. AB is common tangent to both the circles in the

given figure. Find the distance (correct to two
decimal places) between the centres of the two
circles.

& a5 angpfa ¥ AB Q=T gar #r serafass
W @ ¥ T g F Hg F fw A
gt AT FX (AT F 916 & FTYE aF
AT )|

10.

11.

12.

a) 18.98 units
¢) 26.59 units

b) 23.58 units
d) 21. 62 units

In_the given figure, PQRS is a square of side
20cm and SR is extended to point T. If the
lenght of QT is 25cm. Then what is the
distance (in cm) between the centres 0; and
0, of the two circles?

ar 1§ Ffa &, PQRS, 20cm ST FTAT TH
aof & @uT SR&Y Rig TR FEmm AT B
gfe QT dF=E 25cm g, a@ &=t qa’r *
% 0, IO, & ALY H g (cm #A) F
e

€N

c) 8V5

a)5vV10 b)4V10 d) 15

If two circles of radii 28 cm and 18 cm touch
each other externally, then the length of a
common tangent is . [Give your
answer correct to 2 decimal places.]

Ife 28 cm 3T 18 cmﬁl?znaﬁa‘rqu
e T & T I §, af 3HafAse Fuet
W@ A dag Fasdr e [3rger I 2
EUATT TUET dF FE &l

a)40.90 cm b)42.00 cm
c)44.90 cm d)44.12 cm
Two circles, each of radius 4 cm, touch

externally. Each of these two circles is touched
externally by a third circle. If these three circles
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have a common tangent, then the radius of the
third circle, in cm, is

4cm BAT @1 g9 "l dk W T
Fa 31 T At g9 el Y g9 qEm
el ak W Tt R I §| 3R &
e gat fr vF FA T 3@ § oar A
Fﬁmcmﬁ,wml

b4 1
a) 3 b) 1 ¢) 7 d) V2
In the given figure, AP = 3cm,BA = 5cm
and CP = 2 cm. Find CD:
R ¥ AT & AP = 3em,BA = 5¢cm
dcP = 2cm & @ ¢cD =2
a)12cm b)10cm ¢)9cm d)6Ccm

PAB and PCD are two secants to a circle. If
PA= 10cm, AB=12cm and
PC = 11 cm, then what is the value (in cm)
of PD?

PAB YT PCD T& Jd W &l dad @M o
gfe PA=10cm, AB =12 cm 99T _PC =
11 cm, 8 a PD&T A (cm H) Fa1 82

a) 18 b)9 c) 20 d)12
In the given figure, AP = 2c¢m,BP = 6cm
and CP = 3cm. Find DC:

R Ay AT A AP = 2cm, BP = 6cm 3R
CP = 3cm & @ DC =?

16.

17.

18.

b) 4 cm c)2cm d)3cm

a) 7 cm

Chord AB and diameter CD of a circle meet at
the point P, outside the circle when produced.
If PB =8cm, AB=12cm and the
distance of P from the centre of the circle is
18 cm, the radius (in cm) of the circle is closest
to:

9 i g@ @ farAs 3 == o F
qERT ST §, @ ¥ 99 F A} g P
ey & afe PB = 8cm, AB =
IRq@F Fx T gt 18cm B, @ 3@

A BT (cm H) AT B (AFean)|
a)12.8 b)12.4 )13 d) 12

12 cm

A secant PAB is drawn from an external point
P to the circle with centre O, intersecting it at A
and B. If OP = 17cm, PA = 8cm and PB =
21cm , then the diameter of the circle is :

frdl aew g P 0¥ A g aF B
7§ BR@1 PAB, 99 # g AR B
yfaesfea w3t & | I 0P = 17cm, PA =
8cm 3R PB =21cm %,HT gd @l g
AT AT |

a)llcm b)10cm c)18cm d)22cm

Diameter AB of a circle with centre O is
produced to a point P such that PO =
16.8 cm. PQR is a secant which intersects the

circle at Q and R such that PQ = 12 cm and
PR = 19.2 cm. The length of AB (in cm) is:

$% 0T TF g F U ABFH! UF g p
d% W aE ¥ o oar § B PO =
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16.8cm @ ST & | PQR TH VY ¥+
T ¢ A g9 # QIR RW 37 @ @
yfazafed & & & PQ =12cm 3R
PR =19.2 cm @ AT 8| AB I oFa1$ AT
R

a) 14.2

b) 15.2 c) 15.8 d)14.4

19. AB and CD are two chords of a circle which
intersect at a point O inside the circle. Itis given
that AB=10cm, CO =1.5cmand DO =
12.5 cm. What is the ratio between the larger
and smaller among A0 and BO?

AB 3R cDFT & @ Sftar ¢ St O F HeT
v fig oW gfaede wva §1 Iw far
g & AB = 1084, co =158+ 3k
DO =12.59# 40 3R Bo & fw «3
iR BR & & FT AT T4 B2

a)7:3 b)3:2 c)3:1 d)4:1

20.In the given figure, SX is tangent. SX =
OX = OR. If QX =4cm and PQ =5 cm,
then what is the value (in cm) of 0S?

& 1§ rFfa A, sx v Tt ¥@T B SX =
0X = OR®| IR QX=4cm TqU PQ =
5cm g, @ OS®HT AW (cm &) 4T §?

c)3 d) 4

21.In the given figure, SX is tangent. SX =
OX = OR. If QX = 3cm and PQ = 9cm,
then what is the value (in cm) of 0S?

22.

23.

24,

&t ¢ anpfar A, sx v Tt d@m 7| sx =
OX = OR 8] I QX = 3cm @41 PQ =

9cm g, a 0S &1 A (cm &) FAT &2
P

s
N
Q
X
a)6 b) 5 c)4 d)3
In the given figure, AD and BC are tangents to

the circle. AE =5cm, EB =4 cm, BC = FC
and AD: BC = 2: 3, then DF=?

&t ar$ g A, AD 3 BC g #i FARET
g1 3R AE=5cm, EB=4cm, BC=FC
dUTAD: BC = 2:3 & Y DF=?

a)lcm b)2cm c)4cm d)gcm
In the figure, PC=9, PB =12, PA =18

and PF = 8, then find the length of DE.
amsfd A PC=9, PB=12, PA=18 3R
PF =8 & @ DE # a&ar$ qdr #1|

a)1.5

b) 2.5 c)3 d) 3.5
In the figure, ABC is a triangle in which AB =

AC. A circle through B touches AC at D and
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intersects AB at P. If D is the mid point of AC.
Find the value of AB:

IHfd # ABcUF fgrer @ o 4B =
ACTHg B TF g [T § ST ABHI PI
yfadg &ar ¢ 3 ACH DX T FAT
¥ IR DACH Ay g ¥ at ABF AW
T |

B C

a) 2AP b)3AP c) 4AP d) None of these

In AABC, AB = AC . A circle drawn through B
touches AC at D and intersects AB at P. If D is
the mid point of AC and AP = 2.5 cm, then
AB is equals to:

AABC & AB = AC%® | B¥ @Y @ a=m
qd, AC ¥ fdg DI T FXar § 3R AB
#r g p X Frear 8| IR p,4Cc F AW

fig ¥ 3R 4P = 2.5cmE, @ AB &I AW
AT AfSA?
a)9cm b)7.5cm c)12.5cm d)10cm

In the given figure ABCD is a cyclic quadrilateral
DO = 8cm and CO = 4cm AC is the angle
bisector of ZBAD. The length of AD is equal to
the length of AB. DB intersects diagonal AC at
O, then what is the length of the diagonal AC?

& 1§ ST A ABCD TF TR T
DO =8cm 3R CO=4cm 3R AC For
£BAD FT WFGANTA®H § AD I TFa1S AB
F QT § | DB Aol AC & O W
gyfacdg #ar § @Y RFoT Ac i =TS
LCIEN

27.

28.

A N\g

D C

a) 20cm b)) 24cm c¢) 16cm d) None of these

Triangles ABC and DBC are right angled
triangles with common hypotenuse BC. BD and
AC intersect at P when produced. If PA =
8cm, PC=4cmand PD =3.2cm, then
the length of BD, in cm. is:

s ABc 3K DBC, 3AfASs FF BC I
FAFIOT gger §| 8D IR AC Y o W 3
P W viawdfed &t & IR’ Pa=
8cm, PC=4cm3R PD=3.2cm & @

BD &I &a$ (cm #H) AT HY|
a) 6.4 b) 6.8 c)5.6 d)7.2
PQ and RS are common tangents to two circle
intersecting at A and B. AB, when produced
both sides, meet the tangents PQ and RS at X

and Y, respectively. If
AB = 3 cm, XY = 5cm, then PQ (in cm)
will be

PQ 3T RS &Y et F rafaes Faef Y@ §
N AR BW THGW F Fea g | &0
dX® ($[S1T) ABIWT FI 9T W d§ HAU:
X 3R v fReg X Twel @w po AR RS W

frect & 1 3R 4B =384,
=53 AL g, a FasT F pq fFaw

cm?ﬂﬁ?

a)3cm b)4cm ¢)5cm d)2cm

Answer Key

1.B 2.C 3.A 4. A 5.B
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Exercise 24

1. If the angles of a triangles are in the ratio 4: 1: 1.
Then, the ratio of the largest side to the
perimeter is

el Bee & AT 4:1:1 F IeqIT 7
frorer 1 wa@ 931 oo IR suF gRe
ST eI FIT EIM?

1 ) V3 d) 2
2+/3 NP 1+V3

a) § b)

2. ABCD is a parallelogram, where AB: AD = 2: 1,
One of the angles of the parallelogram is 60°.
The two diagonals are in the ratio

ABCD TF HHTeX ISl §, 18T AB: AD =
2:1 g| F99®T TF FT60° | At faFoit
ST AT FAT FHM?

a)7:3 b)V7:V3 ¢)7:5 d)None of these

3. The two adjacent sides of a cyclic quadrilateral
are 2cmand 5cm and the angle between
them is 60°. if the third side is 3cm, then the
fourth side is of length

UF TR G A A FAT A 2cm
3R 5cm & 3R 39 P F fw FwT For
60° ¢ AT AT 8o 3cm B, @ TqF e
$ d9E F4T 8?2

a)2cm b)3 cm c)4cm d)5cm

4. Side AB of a triangle ABC is 80 cm long, whose
perimeter is 170 cm. If angle ABC = 60°, the
shortest side of triangle ABC measures

cm.

el Brsrer ABC#r 9T 4B, 80 cm W&l B,
Sesdr oRema 170 om 31 iy For
ABC = 60°% @ B[ ABCH §a@ B
$SIT T AT cm B
a)17  b)15

c) 25 d) 21

5. In a triangle ABC, if the three sidesa = 5, b =
7 and ¢ = 3, what is angle B?

vF e ABC #, 3G AT g&T a =5,
b=173 c=3, FT B 7T §?
a)120° b)150°  ¢)90° d)60°

6.In AABC, AB = 6cm, AC = 8cm, and BC =
9cm. The length of median AD is:
AABC &, AB = 6@#1, ACc = 8@, 3R
BC = 9@ & #f®gsr Ap 1 dFTE
fraet &2
V317 V119 313 V115
a)Tcm b)Tcm c)Tcm d)Tcm

7. In AABC, C is the midpoint of BD. If AB =

10 cm, AD = 12 cm and AC = 9 cm, then BD =
?

AMBC #, ¢, BD &1 #eafag 3, Il
AB = 10 3#Y, AD = 12 @#Y 3T
AC = 9@y g, ar BD = ?

a)2v41 b)2/10 c) V41 d)V/10

8. In triangle XYZ, G is the centroid. If XY =
11cm, YZ = 14cm and XZ= 7cm, then what

is the value (in cm) of GM?

Pt xvz # 6 Fww ¥ ;N

XY = 11cm, YZ = 14cmdUT XZ= Tem §,
a' GM & AT (cm &) F4T 872
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X
--G
Y T ¥4
a)6 b) 4 c)2 d)3
9.In triangle PQR, C is the centroid
PQ = 30cm, QR =36 cm and
PR = 50 cm. If Dis the midpoint of QR, then

10.

11.

what is the length (in cm) of CD?

Pt PR A ¢ Fewd ¥ PQ=

30cm, QR=36cm d491 PR=50cm &
If& D, QR FT #ALAfAg &, ar cp i wFarg
(cm &) Fa1 2

a) 1% d) 20

V86 5vV86
b)=5= ==

In the below figure, AABC is right angled,
£ABC =90° and AC = 100cm. Also,
AD = DE = EF = FC. Find the value of:
BD? + BE? + BF? (incm?)

A arpfa &, AABC v wHESIOT B
g, 2ABC =90° 3)X AC = 100cm %, 3R
AD = DE = EF = FC|

BD? + BE? + BF%&T I Ad & |

A

B C

a) 10,000 cm?
c) 8,750 cm?

b) 5,000 cm?
d)12,500 cm?

In a triangle ABC, AB:AC=5:2, BC =
9 cm, BAisproduced to D, and the bisector of

12.

13.

14.

the Angle CAD meets BC produced at E. What is
the length (in cm) of CE?

fassr ABC #, AB:AC=5:2, BC=9cm
2] BA $ D d% ¢/ AT § 3R For
CAD FT WHGAHTSH dele M$BC HE W

fArerar & ce Y FFEE (cm H) AT W
a)9 b) 10 )3 d) 6

AB is the hypotenuse of the right angled
triangle AABC. BC when produced meet the
angle bisector of exterior £A at D. Find the
length of AD if sin B = 0.6 and BC = 20 cm.

AB WHHIUT R[S AABC FT FoF §| BCTIH
W 9T £A & GHG AHTSS @ DR et
2. AD i TS Fd1BT R sinB = 0.6

I BC=20cm &.
a)15V5  b)3vV41 ¢) 10V15 d) 15V3

In_the figure AD is the external bisector of

£LEAC, intersects BC produced to D. If
snZACB _ 8% and BC = 24 cm then find the
sin £ABC 5

length of CD.

& it amHfd #A AD FIUT EAC FT WA
gfaue® § AN T A BCH D W Fredr

sin £ACB 8
8] 3 sinZABC 5 M BC=24cm¥ A
CD ' FFaT$ T3
E
A
B C D

a)15cm b)40cm c)30cm d)18cm
In The bisector of the exterior 2A of AABC
intersects the side BC produced to D. Here CF is
parallel to AD. Then
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aEdl FIUT AT A gfAsTeE Fers A
BC3[IT H D U FHICaT ¢ &l CF TUT AD
AT & ar

D
AB _ BA AB _ CD

A~ b) o = ®o
AB  BC

c)—=— d) None of these
AC  CD

15. In the given figure, AD is the median of AABC.

Find the value of @ according to the values
given.

& =it s #, AD AABC #Y FrfeawT B

& Tl SER F ITEAR 0 FT AT

a) 45° b) 30° c) 60° d) 15°

16. In an isosceles AABC, AB = AC, #«B =52.5°
and ZADC = 82.5° where D is a point on BC.

Find BD: DC.

UF WHCAEE AABC # AB = AC, 4B =

52.5° 31 £ADC = 82.5° FET D 3T BC W

% fdg 8. BD: DC F1 AT 918U,

a)% b)% ) V2 d) V6

17. In the given figure, PQRS is a sqare of side 8cm.
<PQO = 60°. What is the area (in cm?) of

the triangle POQ?

& 7§ amHfa F , PQRS 8cm [T AT TH
ar 8 <PQO0 = 60" ¥ BT POQF
&% (cm? ®) 4T &2

P Q
0
) R
a) 32v3 b) 24[V3 — 1]
c)48[V3 —1] d) 16[3 — V3]

. In a triangle ABC, AD divides BC in the ratio

2:3. if 2B = 60° and 2C = 45° then, find the
sin «BAD

sin 2CAD’

39T ABC H AD ST BCH 2:3 F IHequTd
# diedr & 3N 2B = 60° AR 2C = 45°%

sin LBAD —n
sin2CAD '
1 V3 1

.Ina AABC, /B = g 2C = % and D divides BC

sin2ZBAD .
sin CAD

internally in the ratio 1: 3 then
equal to
AABC & /B =%, £C =7 3R D 851 BC

1:3% ¥quid & Iea:Ranfaa wwar 3

sin 2BAD
smLCAD adr m I
1

. The length of three medians of a triangle are

9cm, 12 cm and 15 cm. The area (in sg. cm)
of the triangle is

et Prger Fr Afgwat @ dwag Faw
9cm, 12 cmdAT15 cm & ﬁ'ﬂiﬁ' FT TH
FT 2

a) 48 cm? b) 144 cm? ¢) 24 cm? d) 72 cm?
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ABCD is a trapezium of sides in which BC ||
AD and AB=9cm, BC=12cm (D =
15 cm DA = 20 cm. Find the sum of square of
its diagonal.

ABCD & @HeFd ugdsr § o
qSMBCIAD 3R AB=9cm, BC=
12cmCD =15cmDA=20cm §| 30F
&I & gat F1 A gar ||

a)576  b)676 c) 786 d) 729

A circle of centre O inscribed in a quadrilateral
ABCD which touches all the sides of a
quadrilateral. If ZAOB = 115°. Find £COD.

TGS ABCD & Hecl UH T 0 TR ¢
& ag aqsfer A wsit sqemait A Tt Far
t| 3R 2A0B = 115° & ar2coD=?

a)65°  b)115°  ¢)130° d) 95°

Answer key
1.C 2.B 3.A 4. A 5.A

6.B 7.A 8.C 9.A 10.C
11.D 12. A 13.B 14. A 15.B
16. A 17.D 18.B 19.C 20.D
21.C 22. A




